
AGREEMENT BETWEEN COUNTY AND SUPPLIER 

This Agreement Between County and Supplier, (this “Agreement”) made and entered into by and between Marion 
County, a political subdivision of the State of Florida, located at 601 SE 25th Ave, Ocala, FL  34471 (hereinafter 
referred to as “COUNTY”) and Ferguson Enterprises, LLC dba Ferguson Waterworks, located at 3501 SW 
13th St., Ocala, FL 34474, possessing FEIN# 54-1211771 (hereinafter referred to as “SUPPLIER”) under seal for 
the Combined Brass, PVC Parts and Supplies, (hereinafter referred to as the “Project”), and COUNTY and 
SUPPLIER hereby agreeing as follows: 

WITNESSETH: 

   In consideration of the mutual covenants and promises contained herein, COUNTY and SUPPLIER (singularly 
referred to as “Party”, collectively “Parties”) hereto agree as follows: 

Section 1 – The Contract. The contract between COUNTY and SUPPLIER, of which this Agreement is part, consists 
of the Contract Documents. This Agreement approved by the Board of County Commissioners on September 4, 2024 
shall be effective on the last signature date set forth below. 

Section 2 – The Contract Documents. The Contract Documents are defined as this Agreement, all Purchase 
Orders, Change Orders and Field Orders issued hereafter, any other amendments hereto executed by the Parties 
hereafter, together with the following (if any): 

Marion County Solicitation #24Q-254 - Combined Brass, PVC Parts and Supplies, the Offer, Solicitation 
Scope and, any/all Addenda as issued in support of this Solicitation, and  Certificate of Insurance. 

Should any conflict arise between the Contract Documents and the Agreement, the terms of the Agreement shall 
govern. 

Section 3 – Entire Agreement.  The Contract Documents form the agreement between Parties for the Project, and 
the SUPPLIER acknowledges receipt of a copy of each and every Contract Document. The Contract Documents 
represent the entire and integrated agreement between the Parties and supersede prior negotiations, representations 
or agreements, either written or oral. This Agreement may be amended or modified only in writing. The Contract 
Documents shall not be construed to create a contractual relationship of any kind between any person or entities 
other than COUNTY and SUPPLIER. 

Section 4 – Term. This Work (defined herein) shall commence upon Board approval; and shall be valid for a term 
of three (3) years, ending September 30, 2027 (the "Term").  Pending mutual agreement, two (2) annual renewal 
options are available. All Work will proceed in a timely manner without delays. 

Section 5 – Scope of Services.  SUPPLIER shall complete the Work for Project 24Q-254, more fully set forth on 
EXHIBIT A- Scope of Work hereto, as per the Contract Documents and specifications furnished by COUNTY and 
according to the timeframe as noted herein 

Section 6 – Compensation. COUNTY shall make payment to SUPPLIER under COUNTY’s established 
procedure, upon completion of the Work as described in this Agreement. It is the intent that the COUNTY’s p-card 
be used on all orders, without additional fees, under this contract.  SUPPLIER agrees that if payment is made by 
COUNTY procurement card (p-card), charges will not be processed until goods or services are shipped, or are 
received by COUNTY, to in acceptable condition. There shall be no provisions for pricing adjustments during the 
Term. 

Section 7 – Assignment. SUPPLIER may not transfer, assign or subcontract all or any part of this Agreement 
without written approval by COUNTY. 

Section 8 – Laws, Permits, and Regulations. Prior to the performance of any Work hereunder, SUPPLIER shall 
obtain and pay for all licenses and permits, as required to perform the Work. SUPPLIER shall at all times comply 
with all appropriate laws, regulations, and ordinances applicable to the Work provided under this Agreement. 

24Q-254 CNT | Page 1 of 44

DRAFT



Section 9 – Amendments. This Agreement may only be amended by mutual written agreement of both Parties. 

Section 10 –Books and Records. SUPPLIER shall keep records of all transactions. COUNTY shall have a right to 
request records from SUPPLIER, and for those records to be made available within a reasonable timeframe 
depending on method of acquisition. 

Section 11 – Public Records Compliance 
A. IF SUPPLIER HAS QUESTIONS REGARDING THE  APPLICATION OF

CHAPTER 119, FLORIDA STATUTES, TO ITS DUTY TO PROVIDE
PUBLIC RECORDS RELATING TO THIS AGREEMENT, CONTACT
COUNTY’S CUSTODIAN OF PUBLIC RECORDS AT:

Public Relations | 601 SE 25th Ave, Ocala, FL  34471 
Phone: 352-438-2300 | Fax: 352-438-2309 

Email: publicrelations@marionfl.org  
B. SUPPLIER shall comply with public records laws, specifically:

• Keep and maintain public records required by COUNTY to perform the Work;
• Upon request from COUNTY's custodian of public records, provide COUNTY with a copy

of the requested records or allow the records to be inspected or copied within a reasonable
time at a cost that does not exceed the cost provided in Chapter 119, Florida Statutes, or as
otherwise provided by law;

• Ensure that public records that are exempt or confidential and exempt from public records
disclosure requirements are not disclosed except as authorized by law for the duration of the
Term and following completion of this Agreement if SUPPLIER does not transfer the records
to COUNTY; and,

• Upon completion of this Agreement, transfer, at no cost, to COUNTY, all public records in
possession of SUPPLIER or keep and maintain public records required by COUNTY to
perform the Work. If SUPPLIER transfers all public records to COUNTY upon completion
of this Agreement, SUPPLIER shall destroy any duplicate public records that are exempt or
confidential and exempt from public records disclosure requirements. If SUPPLIER keeps and
maintains public records upon the completion of this Agreement, SUPPLIER shall meet all
applicable requirements for retaining public records. All records stored electronically must be
provided to COUNTY, upon request from COUNTY's custodian of public records, in a format
that is compatible with the information technology systems of COUNTY.

C. If SUPPLIER fails to provide the public records to COUNTY within a reasonable time, SUPPLIER
may be subject to penalties under Section 119.10, Florida Statutes, and may be subject to unilateral
cancellation of this Agreement by COUNTY.  This section shall survive the termination of the
Agreement.

Section 12 – Indemnification. SUPPLIER shall indemnify and hold harmless COUNTY, its officers, employees 
and agents from all suits, claims, or actions of every name and description brought against COUNTY based on 
personal injury, bodily injury (including death) or property damages received or claimed to be received or sustained 
by any person or persons to the extent caused by any negligent act or omission of SUPPLIER or its employees, 
officers, or agents in performing the services set forth herein. This section shall survive the termination of the 
Agreement. 

Section 13 – Insurance.  As applicable, during the period of Work, insurance policies shall be with a company or 
companies authorized to do business in the State of Florida. COUNTY shall be notified if any policy limit has 
eroded to one half its annual aggregate. SUPPLIER shall provide, within the timeframe noted in the Award Letter, 
a Certificate of Insurance, issued by a company authorized to do business in the State of Florida and with an A.M. 
Best Company rating of at least A-. Self-Insured companies that cannot be rated, will also be considered. All policies 
must include all requirements listed below, reference the project number and show Marion County as additional 
insured. The Certificate should also provide for 30-day cancellation notice to the Procurement Director’s address, 
set forth herein. 

24Q-254 CNT | Page 2 of 44

DRAFT

mailto:publicrelations@marioncountyfl.org


WORKERS COMPENSATION AND EMPLOYER'S LIABILITY  
Coverage to apply for all employees at STATUTORY Limits in compliance with applicable state and 
federal laws.   
• Employer's Liability limits for not less than $100,000 each accident $500,000 disease policy limit and

$100,000 disease each employee must be included.
• The Supplier/Vendor, and its insurance carrier, waives all subrogation rights against Marion County, a

political subdivision of the State of Florida, its officials, employees and volunteers for all losses or
damages which occur during the contract and for any events occurring during the contract period,
whether the suit is brought during the contract period or not.

• The County requires all policies to be endorsed with WC00 03 13 Waiver of our Right to Recover from
others or equivalent.

COMMERCIAL GENERAL LIABILITY  
Coverage must be afforded under a Commercial General Liability policy with limits not less than 
• $1,000,000 each occurrence for Bodily Injury, Property Damage and Personal and Advertising Injury
• $2,000,000 each occurrence for Products and Completed Operations
BUSINESS AUTOMOBILE LIABILITY
Coverage must be afforded including coverage for all Owned vehicles, Hired and Non-Owned vehicles for
Bodily Injury and Property Damage of not less than $500,000 combined single limit each accident.
• In the event the Supplier/Vendor does not own vehicles, the Supplier/Vendor shall maintain coverage

for Hired & Non-Owned Auto Liability, which may be satisfied by way of endorsement to the
Commercial General Liability policy or separate Business Auto Liability policy.

Section 14 – Independent Contractor. In the performance of this Agreement, SUPPLIER will be acting in the 
capacity of an “Independent Supplier” and not as an agent, employee, partner, joint venture, or associate of 
COUNTY. SUPPLIER shall be solely responsible for the means, methods, techniques, sequences, and procedures 
utilized by SUPPLIER in the full performance of this Agreement. 

Section 15 – Default/Termination.  In the event SUPPLIER fails to comply with any of the provisions of this 
Agreement, COUNTY may terminate this Agreement for cause by first notifying SUPPLIER in writing, specifying 
the nature of the default and providing SUPPLIER with a reasonable period of time in which to rectify such default. 
In the event the default is not cured within the time period given, COUNTY thereafter may terminate this Agreement 
for cause upon written notice to SUPPLIER without prejudice to COUNTY. In the event of termination of this 
Agreement for cause, COUNTY will then be responsible for compensation to SUPPLIER only for those services 
timely and satisfactorily performed pursuant to this Agreement up to the date of termination. COUNTY may 
terminate this Agreement without cause providing at least thirty (30) days written notice to SUPPLIER. In the event 
of termination of this Agreement without cause, COUNTY will compensate SUPPLIER for all services timely and 
satisfactorily performed pursuant to this Agreement up to and including the date of termination. Notwithstanding 
any other provision of this Agreement, this Agreement may be terminated if for any reason there are not sufficient 
appropriated and available monies for the purpose of maintaining COUNTY or other public entity obligations under 
this Agreement. COUNTY shall have no further obligation to SUPPLIER, other than to pay for services rendered 
prior to termination. 

Section 16 – Damage to Property. SUPPLIER shall be responsible for all material, equipment and supplies sold 
and delivered to COUNTY under this Agreement and until final inspection of the Work and acceptance thereof by 
COUNTY. In the event any such material, equipment and supplies are lost, stolen, damaged or destroyed, or 
COUNTY property, buildings, or equipment is damaged during delivery or unloading, or in the course of the WORK 
prior to final inspection and acceptance, SUPPLIER shall replace the same or be returned to original state without 
additional cost to COUNTY, as applicable. 

Section 17 – Termination for Loss of Funding/Cancellation for Unappropriated Funds. The obligation of 
COUNTY for payment to SUPPLIER is limited to the availability of funds appropriated in a current fiscal period, 
and continuation of this Agreement into a subsequent fiscal period is subject to appropriation of funds, unless 
otherwise authorized by law. 

Section 18 – Use of Other Contracts. COUNTY reserves the right to utilize any COUNTY contract, State of 
Florida contract, city or county governmental agencies, school board, community college/state university system, 
or cooperative bid agreement. COUNTY reserves the right to separately bid any single order or to purchase any 
item on this Agreement if it is in the best interest of COUNTY. 

24Q-254 CNT | Page 3 of 44

DRAFT



 
 
Section 19 – Employee Eligibility Verification. COUNTY hereby affirms it is duly registered, uses, and adheres 
to the practices of the E-Verify system, including those outlined in the clauses below. 
 
Section 448.095, F.S., requires SUPPLIER to register and use the E-Verify system to verify the work authorization 
status of all newly hired employees and prohibits SUPPLIER from entering into this Contract unless it is in 
compliance therewith.  Information provided by SUPPLIER is subject to review for the most current version of the 
State or Federal policies at the time of the award of this Agreement.  
 
By previously signing the ITB Acknowledgment and Addenda Certification Form, and this Agreement, SUPPLIER 
has agreed to perform in accordance with the requirements of this subsection and agrees:  
 

a) It is registered and uses the E-Verify system to verify work authorization status of all newly hired 
employees. 

b) COUNTY shall immediately terminate SUPPLIER if COUNTY has a good faith belief that SUPPLIER has 
knowingly violated Section 448.09(1), F.S., that is, that SUPPLIER knowingly employed, hired, recruited, 
or referred either for itself or on behalf of another, private or public employment within the State an alien 
who is not duly authorized to work by the immigration laws or the Attorney General of the United States. 

c) If SUPPLIER enters into a contract with a subcontractor, SUPPLIER shall obtain from the subcontractor 
an affidavit stating that the subcontractor does not employ, contract with, or subcontract with an 
unauthorized alien. 

d) SUPPLIER shall maintain a copy of such affidavit for the duration of this Agreement and provide it to 
COUNTY upon request. 

e) SUPPLIER shall immediately terminate the subcontractor if SUPPLIER has a good faith belief that the 
subcontractor has knowingly violated Section 448.09(1), F.S., as set forth above. 

f) If COUNTY has a good faith belief that SUPPLIER’s subcontractor has knowingly violated Section 
448.095, F.S., but that SUPPLIER has otherwise complied, COUNTY shall promptly order SUPPLIER to 
terminate the subcontractor.  SUPPLIER agrees that upon such an order, SUPPLIER shall immediately 
terminate the subcontractor.  SUPPLIER agrees that if it should fail to comply with such an order, 
COUNTY shall immediately terminate SUPPLIER. 

g) If COUNTY terminates this Agreement with SUPPLIER, SUPPLIER may not be awarded a public contract 
for at least one (1) year after the date of termination. 

h) SUPPLIER is liable for any additional costs incurred by COUNTY as a result of a termination under this 
subsection. 

i) Any such termination under this subsection is not a breach of this Agreement and may not be considered 
as such. 

j) SUPPLIER shall maintain records of its registration, use, and compliance with the provisions of the E-
Verify system, including the registration and use by its subcontractors, and to make such records available 
to COUNTY or other authorized governmental entity.  

k) To comply with the terms of this Employment Eligibility Verification provision is made an express 
condition of this Agreement and COUNTY may treat a failure to comply as a material breach of this 
Agreement.  

              
Section 20 – Force Majeure.  Neither SUPPLIER nor COUNTY shall be considered to be in default in the 
performance of its obligations under this Agreement, except obligations to make payments with respect to amounts 
already accrued, to the extent that performance of any such obligations is prevented or delayed by any cause, 
existing or future, which is beyond the reasonable control and not a result of the fault or negligence of, the affected 
Party (a "Force Majeure Event"). If a Party is prevented or delayed in the performance of any such obligations by a 
Force Majeure Event, such Party shall immediately provide notice to the other Party of the circumstances preventing 
or delaying performance and the expected duration thereof. Such notice shall be confirmed in writing as soon as 
reasonably possible. The Party so affected by a Force Majeure Event shall endeavor, to the extent reasonable, to 
remove the obstacles which prevent performance and shall resume performance of its obligations as soon as 
reasonably practicable. A Force Majeure Event shall include, but not be limited to acts of civil or military authority 
(including courts or regulatory agencies), acts of God, war, riot, or insurrection, inability to obtain required permits 
or licenses, hurricanes, severe floods, epidemics and pandemics. 
 

24Q-254 CNT | Page 4 of 44

DRAFT



 
Section 21 – Counterparts. Original signatures transmitted and received via facsimile or other electronic 
transmission of a scanned document, (e.g., PDF or similar format) are true and valid signatures for all purposes 
hereunder and shall bind the Parties to the same extent as that of an original signature. Any such facsimile or 
electronic mail transmission shall constitute the final agreement of the Parties and conclusive proof of such 
agreement. Any such electronic counterpart shall be of sufficient quality to be legible either electronically or when 
printed as hardcopy. COUNTY shall determine legibility and acceptability for public record purposes. This 
Agreement may be executed in one or more counterparts, each of which shall for all purposes be deemed to be an 
original and all of which shall constitute the same instrument. 
 
Section 22 – SUPPLIER Conduct.  These Guidelines govern SUPPLIER doing work on COUNTY property, as well as 
SUPPLIER’s employees, agents, consultants, and others on COUNTY property in connection with the SUPPLIER’s 
work or at the SUPPLIER’s express or implied invitation. 
• Courtesy and Respect: COUNTY is a diverse government institution and it is critical that SUPPLIER 

and its employees conduct themselves in a manner that is lawful, courteous, businesslike, and respectful of 
all staff, guests, or visitors. 

• Language and Behavior: SUPPLIER and its employees cannot engage in behavior that is rude, 
threatening, or offensive. Use of profane or insulting language is prohibited. Harassment of any type, 
including sexual harassment is strictly prohibited. Abusive, derogatory, obscene or improper language, 
gestures, remarks, whistling, cat calls or other disrespectful behavior cannot be tolerated. Roughhousing, 
fighting, fisticuffs, physical threats, destruction of property, vandalism, littering, or physical abuse of anyone 
on COUNTY property is not permitted under any circumstance. 

• No Weapons, Alcohol, or Drugs: The use, possession, distribution, or sale of any weapon, alcohol, illegal 
drug, or controlled dangerous substance by SUPPLIER or its employee is prohibited. Offenders will be 
removed from COUNTY property and/or reported to law enforcement. 

• Smoking: SUPPLIER and its employees are not permitted to smoke in or near any COUNTY buildings. 
• Fraternization: SUPPLIER and its employees may not fraternize or socialize with COUNTY staff. 
• Appearance: SUPPLIER and its employees are required to wear appropriate work wear, hard hats and 

safety footwear, as the case may be, while on the job. Articles of clothing must be neat and tidy in appearance, 
and cannot display offensive or inappropriate language, symbols or graphics. COUNTY has the right to 
decide if such clothing is inappropriate. 

  
Section 23 – Authority to Obligate. Each person signing this Agreement on behalf of either Party individually 
warrants that he or she has full legal power to execute this Agreement on behalf of the Party for whom he or she is 
signing, and bind and obligate such Party with respect to all provisions contained in this Agreement. 

 
Section 24 – Law, Venue, Waiver of Jury Trial, Attorney's Fees. This Agreement and all the Contract 
Documents shall be construed according to the laws of Florida and shall not be construed more strictly against one 
party than against the other because it may have been drafted by one of the parties. In the event of any legal 
proceeding arising from or related to this Agreement; (1) venue for state or federal legal proceedings shall be in 
Marion County, Florida, (2) for civil proceedings, the parties consent to trial by the court and waive right to jury 
trial, (3) the prevailing party shall be entitled to recover all of its costs, including attorney fees.  This section shall 
survive the termination of the Agreement. 
 
Section 25 - Scrutinized Companies, pursuant to Section 287.135, F.S.   
A.   Certification.   

1. If this Agreement is for One Million Dollars or more, SUPPLIER certifies that at the time it submitted its 
bid or proposal for this Agreement or before entering into this Agreement or renewing same, SUPPLIER 
was not then and is not now:  
a. On the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies with 

Activities in the Iran Petroleum Energy Sector List, created pursuant to Section 215.473, F.S., or 
b. Engaged in business operations in Cuba or Syria. 

2. If this Agreement is for any amount, SUPPLIER certifies that at the time it submitted its bid or proposal 
for this Agreement or before entering into this Agreement or renewing same, SUPPLIER was not then and 
is not now:  
a. On the Scrutinized Companies that Boycott Israel List, created pursuant to Section 215.4725, F.S. or  
b. Engaged in a boycott of Israel. 

B. Termination, Threshold Amount.  COUNTY may, entirely at its option, terminate this Agreement if it is for 
One Million Dollars and SUPPLIER meets any of the following criteria. 
1. Was entered into or renewed on or after July 1, 2011, through June 30, 2012, and 

24Q-254 CNT | Page 5 of 44

DRAFT

http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.473.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.4725.html


 
 SUPPLIER is found to meet any of the following prohibitions: 

a. Submitted a false certification as provided under Section 287.135(5), F.S., or  
b. Been placed on the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies 

with Activities in the Iran Petroleum Energy Sector List, created pursuant to Section 215.473, F.S. 
2. Was entered into or renewed on or after July 1, 2012, through September 30, 2016, and SUPPLIER is found 

to meet any of the following prohibitions: 
a. Submitted a false certification as provided under Section 287.135(5), F.S.; 
b. Been placed on the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies 

with Activities in the Iran Petroleum Energy Sector List, created pursuant to Section 215.473, F.S.; or 
c. Been engaged in business operations in Cuba or Syria. 

3. Was entered into or renewed on or after October 1, 2016, through June 30, 2018, and SUPPLIER is found 
to meet any of the following conditions: 
a. Submitted a false certification as provided under Section 287.135(5), F.S.; 
b. Been placed on the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies 

with Activities in the Iran Petroleum Energy Sector List, created pursuant to Section 215.473, F.S.; 
c. Been engaged in business operations in Cuba or Syria; or 
d. Been placed on the Scrutinized Companies that Boycott Israel List, created pursuant to Section 

215.4725, F.S. or is engaged in a boycott of Israel. 
4. Was entered into or renewed on or after July 1, 2018, and CONTRACTOR is found to meet any of the 

following prohibitions: 
a. Submitted a false certification as provided under Section 287.135(5), F.S.; 
b. Been placed on the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies 

with Activities in the Iran Petroleum Energy Sector List, created pursuant to Section 215.473, F.S.; or 
c. Been engaged in business operations in Cuba or Syria. 

C. Termination, Any Amount.  COUNTY may, entirely at its option, terminate this Agreement if it is for any 
amount and meets any of the following criteria. 
1. Was entered into or renewed on or after July 1, 2018, and  
2. SUPPLIER is found to have been placed on the Scrutinized Companies that Boycott Israel List, created 

pursuant to Section 215.4725, F.S. or is engaged in a boycott of Israel. 
D. Comply; Inoperative. The Parties agree to comply with Section 287.135, F.S., as it may change from time to 

time during the Term.  The contracting prohibitions in this Section become inoperative on the date that Federal 
law ceases to authorize the State of Florida to adopt and enforce such contracting prohibitions. 

 
Section 26 – Sovereign Immunity. Nothing in the Agreement shall be deemed to waive the sovereign immunity 
protections provided COUNTY pursuant to Florida law.  Notwithstanding anything stated to the contrary in the 
Agreement, any obligation of COUNTY to indemnify SUPPLIER, if provided, is limited and shall not exceed the limits 
set forth in Section 768.28, Florida Statutes. This Section shall survive the termination of the Agreement. 

 

Section 27 – On-Going Compliance. The Parties acknowledge that the Agreement may contain provisions prescribed 
by laws, statutes, and regulations that can change during the Term of the Agreement.  The Parties understand and agree 
that the Agreement is intended to reflect and require the Parties’ compliance with all laws at all times.  The Parties 
expressly and specifically agree to perform the Agreement in full compliance with the governing laws, statutes, and 
regulations, as same may change from time to time. 
 
Section 28 – Exhibits/Attachments. The following attachments are hereby incorporated into this Agreement as 
part hereof as though fully set forth herein:  EXHIBIT A – Scope of Work 
 
Section 29 – Notices. The Agreement provides for Notices and all other communications to be in writing and sent 
by certified mail return receipt requested or by hand delivery.  SUPPLIER’s and COUNTY’s representatives and 
addresses for notice purposes are: 

 
SUPPLIER:  Ferguson Enterprises, LLC dba Ferguson Waterworks 
   3501 SW 13th St., Ocala, FL 34474 
   CONTACT PERSON: Rob Pinkston | Phone: 941-628-8485  
 
COUNTY:  Marion County Utilities 
   c/o Marion County, a political subdivision of the State of Florida 
   601 SE 25th Ave, Ocala, FL 34471  

 
24Q-254 CNT | Page 6 of 44

DRAFT

http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.473.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.473.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.473.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.4725.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.473.html
http://www.leg.state.fl.us/statutes/index.cfm?App_mode=Display_Statute&Search_String=&URL=0200-0299/0215/Sections/0215.4725.html


 
A copy of all notices to COUNTY hereunder shall also be sent to: 
 
   Procurement Services Director 
   Marion County Procurement Services Department 
   2631 SE 3rd St., Ocala, FL 34471  
 
Alternatively, the parties may elect to receive said notices by e-mail. COUNTY hereby elects to receive all notices 
solely by email and designates its email address as procurement@marionfl.org. If SUPPLIER agrees to accept all 
notices solely by e-mail and acknowledges and accepts the inherent risks that come with accepting notices solely 
by e-mail, SUPPLIER may designate up to two (2) e-mail addresses: 
craig.pearce@ferguson.com   and    ecpearce@yahoo.com . Designation signifies SUPPLIER’s election to 
accept notices solely by e-mail. 

 
IN WITNESS WHEREOF the Parties have entered into this Agreement, as approved by the Marion County 

Board of County Commissioners, on the date of the last signature below. 
 
        MARION COUNTY, A POLITICAL SUB- 
ATTEST:         DIVISION OF THE STATE OF FLORIDA  
  
             
GREGORY C. HARRELL,             DATE   MICHELLE STONE                                DATE 
MARION COUNTY CLERK OF COURT   CHAIRMAN 
 
FOR USE AND RELIANCE OF MARION  BCC APPROVED: September 4, 2024 
COUNTY ONLY, APPROVED AS TO FORM  24Q-254| Combined Brass, PVC Parts and Supplies 
AND LEGAL SUFFICIENCY 
 
     
MATTHEW G. MINTER,   DATE 
MARION COUNTY ATTORNEY 
 
WITNESS:       FERGUSON ENTERPRISES, LLC DBA 
FERGUSON WATERWORKS 
 
               
SIGNATURE       BY:     DATE 
               
PRINTED NAME       PRINTED: 
              
        ITS: (TITLE) 
WITNESS: 
 
                
SIGNATURE       
                 
PRINTED NAME      
 

24Q-254 CNT | Page 7 of 44

DRAFT

mailto:procurement@marioncountyfl.org


RFQ 24Q-254 
Combined Brass, PVC parts and Supplies 

Exhibit A- SCOPE OF WORK

1. Scope

 It is the intent of the COUNTY to submit large quantity orders throughout the contract term to the 
SUPPLIER. SUPPLIER must accept the COUNTY's purchasing card (p-card) (Visa)

2. Term

The term of this contract shall be three (3) years, with two (2) annual renewal options available upon 
mutual agreement and approval by the Board of County Commissioners. 

3. Ability To Supply Products As Indicated On Table 1:

Indicate by checking below which section (grouping) your firm can provide. (Please Note: You must be 
able to supply all items in the group for which you are indicating). 

___ Section 1 – B1 Brass ___ Section 10 – P1 PVC Fittings SCH40/SCH80 
___ Section 2 – B2 Back Flow ___ Section 11 – P2 PVC Fittings SDR35 
___ Section 3 – B3 Service Saddles ___ Section 12 – P4 PVC Water Pipe 
___ Section 4 – B4 Ductile Iron Fittings ___ Section 13 – P6 PVC Sewer Pipe 
___ Section 5 – B5 Hydrants & Hydrant Parts ___ Section 14 – P7 PVC Poly 
___ Section 6 – B6 Valves ___ Section 15 – P8 Flex Couplings 
___ Section 7 – B7 Repair Clamps ___ Section 16 – P9 HDPE Pipe & Fittings 
___ Section 8 – B8 Joint Restraints  ___ Section 17 – L1 SS Fittings & Valves 
___ Section 9 – Miscellaneous 

Name of Firm Ferguson Enterprises, LLC dba Ferguson Waterworks 

x
x
x
x
x
x
x
x
x

x
x
x
x
x
x
x
x

24Q-254 CNT | Page 8 of 44

EXHIBIT A

24Q-254 CNT | Page 8 of 44

DRAFT



1 B-1 Brass Fittings
2 B-2 Back Flow
3 B-3 Service Saddles
4 B-4 Ductile Iron Fittings
5 B-5 Hydrants & Hydrant Parts
6 B-6 Valves
7 B-7 Repair Clamps
8 B-8 Joint Restraints
9 B-9 Miscellaneous

10 P-1 PVC Fittings SCH40/SCH80
11 P-2 PVC Fittings SDR35
12 P-4 PVC Water Pipe
13 P-6 PVC Sewer Pipe
14 P-7 PVC Poly
15 P-8 Flex Couplings
16 P-9 HDPE Pipe & Fittings

17 L-1 SS Fittings & Valves
Lift Stations

Material Classification List
24Q-254 Combined Brass, PVC Parts & Supplies

Brass

PVC

24Q-254 CNT | Page 9 of 44

EXHIBIT A

24Q-254 CNT | Page 9 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
BR-AB-1PJx34MN-612W BR Branch Assy, Back, 1 in PJ x 3/4 in MN, 6-1/2W UAVB43-42W-65-NL
BR-AC-112MPx112PJ BR Adptr Cplng, 1-1/2 in MP x 1-1/2 in PJ C84-66
BR-AC-1FPx1PJ BR Adptr Cplng, 1 in FP x 1 in PJ C14-44-NL
BR-AC-1MPx112PVC-PJ BR Adptr Cplng, 1 in MP x 1-1/2 in PVC-PJ C87-46-NL / 5130-071
BR-AC-1MPx114 PVC-PJ BR Adptr Cplng, 1in MP x 1-1/4in PVC-PJ C87-45NL
BR-AC-1MPx1PJ BR Adptr Cplng, 1 in MP x 1 in PJ C84-44-NL / 5141-129
BR-AC-1MPx1PVC-PJ BR Adptr Cplng, 1in MP x 1in PVC-PJ C87-44NL
BR-AC-2FPx2PJ BR Adptr Cplng, 2 in FP x 2 in PJ C14-77-NL
BR-AC-2MPx2PJ BR Adptr Cplng, 2 in MP x 2 in PJ C84-77-NL
BR-AC-2MPx2PVC-PJ BR Adptr Cplng, 2in MP x 2in PVC-PJ C87-77NL
BR-AC-34MPx1PJ BR Adptr Cplng,  3/4 in MP x 1 in PJ C84-34-NL
BR-AC-34MPx34PJ BR Adptr Cplng,  3/4 in MP x 3/4 in PJ C84-33
BR-BA-112PJx34MN BR Branch Assy, Bttm, 1-1/2 in PJ x 3/4 in MN UVB43-62W
BR-BA-1FPx34MN BR Branch Assy, Bttm, 1 in FP x 3/4 in MN UVB13-42W / 5127-038
BR-BA-1FPx34MN-612W BR Branch Assy, Bttm, 1 in FP x 3/4 in MN, 6-1/2W UVB13-42W-65-NL
BR-BA-1PJx34MN BR Branch Assy, Bttm, 1 in PJ x 3/4 in MN UVB43-42W-NL / 5127-002
BR-BA-1PJx34MN-612W BR Branch Assy, Bttm, 1 in PJ x 3/4 in MN, 6-1/2W UVB43-42W-65-NL
BR-BA-1PJx34MN-STR BR Branch Assy, Strght, 1 in PJ x 3/4 in MN UVBS43-42W-NL
BR-BU-112FPx2MP BR Bshng, 1-1/2 in FP x 2 in MP C18-67 / 5127-008
BR-BU-114FPx1MP BR Bshng, 1-1/4 in FP x 1 in MP C18-54
BR-BU-14FPx1MP BR Bshng, 1/4 in FP x 1 in MP
BR-BU-1FPx112MP BR Bshng, 1 in FP x 1-1/2 in MP C18-46
BR-BU-1FPx114MP BR Bshng, 1 in FP x 1-1/4 in MP C18-45
BR-BU-1FPx2MP BR Bshng, 1 in FP x 2 in MP C18-47-NL
BR-BU-1FPx34MP BR Bshng, 1 in FP x  3/4 MP C18-43
BR-BU-2FPx112MP BR Bshng, 2 in FP x 1-1/2 in MP C18-76
BR-BU-34FPx112MP BR Bshng,  3/4 in FP x 1-1/2 in MP C18-36
BR-BU-34FPx1MP BR Bshng,  3/4 in FP x 1 in MP C18-34
BR-BU-34FPx2MP BR Bshng,  3/4 in FP x 2 in MP C18-37
BR-CA-34-FP BR Cap, 3/4 in FP NL116-12
BR-CP-112x112-PJ BR Cplng, 1-1/2 in PJ x 1-1/2 in PJ C44-66
BR-CP-112x112-PVC-PJ BR Cplng, 1-1/2 in PVC-PJ x 1-1/2 in PVC-PJ C77-66
BR-CP-1PJx114PVC-PJ BR Cplng, 1 in PJ x 1-1/4 in PVC-PJ C4745NL

Section 1-  B1 Brass

24Q-254 CNT | Page 10 of 44

EXHIBIT A

24Q-254 CNT | Page 10 of 44
DRAFT



BR-CP-1PJx1PVC-PJ BR Cplng, 1 in PJ x 1 in PVC-PJ C47-44
BR-CP-1x112-PJ BR Cplng, 1 in PJ x 1-1/2 in PJ C44-46-NL
BR-CP-1x1-PEP-PJ BR Cplng, 1 PEP-PJ x 1 PEP-PJ C66-44-NL
BR-CP-1x1-PJ BR Cplng, 1 in PJ x 1 in PJ C44-44-NL / 5141-134
BR-CP-1x1-PVC-PJ BR Cplng, 1 in PVC-PJ x 1 in PVC-PJ C77-44-NL /
BR-CP-2x2-PJ BR Cplng, 2 in PJ x 2 in PJ C44-77-NL
BR-CP-2x2-PVC-PJ BR Cplng, 2 in PVC-PJ x 2 in PVC-PJ C77-77-NL / 5132-193
BR-CP-34x1-PJ BR Cplng,  3/4 in PJ x 1 in PJ C44-34
BR-CP-34x34-PJ BR Cplng,  3/4 in PJ x 3/4 in PJ C44-33-NL
BR-CS-112FPx112PJ BR Curb Stop, 1-1/2 in FP x 1-1/2 in PJ B41-666W-NL / 5139-186
BR-CS-1FPx1PJ BR Curb Stop, 1 in FP x 1 in PJ B41-444W-NL / 5142-490
BR-CS-1x1-FP BR Curb Stop, 1 in FP x 1 in FP B11-444W-NL / 5139-113
BR-CS-2FPx2MP BR Curb Stop, 2 in FP x 2 in MP B81-777W-NL
BR-CS-2FPx2PJ BR Curb Stop, 2 in FP x 2 in PJ B41-777W
BR-CS-2x2-FP BR Curb Stop, 2 in FP x 2 in FP B11-777WNL
BR-CS-34FPx34PJ BR Curb Stop,  3/4 in FP x 3/4 in PJ B41-333W
BR-CS-34x34-FP BR Curb Stop,  3/4 in FP x 3/4 in FP B11-333W
BR-CS-34x34-FP-58BH BR Curb Stop,  5/8 in BH BV, 3/4 in FP x 3/4 in FP BH11-233W
BR-CT-112MPx112PJ BR Corp Stop, Ballcorp, 1-1/2 in MP x 1-1/2 in PJ FB1100-6-NL
BR-CT-1CCx1PJ BR Corp Stop, Ballcorp, 1 in CC Male x 1 in PJ FB1000-4-NL
BR-CT-1MPx1FP BR Corp Stop, Ballcorp, 1 in MP x 1 in FP FB1700-4-NL
BR-CT-1MPx1PJ BR Corp Stop, Ballcorp, 1 in MP x 1 in PJ FB1100-4-NL / 5133-164
BR-CT-2MPx2FP BR Corp Stop, Ballcorp, 2 in MP x 2 in FP FB1700-7
BR-CT-2MPx2PJ BR Corp Stop, Ballcorp, 2 in MP x 2 in PJ FB1100-7-NL
BR-CT-34MPx34FP BR Corp Stop, Ballcorp,  3/4 in MP x 3/4 in FP FB1700-3
BR-CT-34MPx34PJ BR Corp Stop, Ballcorp,  3/4 in MP x 3/4 in PJ FB1100-3
BR-EL-90-2x2-FP 2in, 90, Elbow, FP, B2B NL101-32
BR-EL-90A-112MPx112P BR EL, Adptr Cplng, 1-1/2in MPx 1-1/2in PJ L84-66-NL
BR-EL-90A-1MPx1PJ BR EL, 90 Adptr Cplng, 1 in MP x 1 in PJ L84-44-NL
BR-EL-90C-112x112-PJ BR EL, 90 Cplng, 1-1/2 in PJ x 1-1/2 in PJ L44-66/5122-153
BR-EL-90C-1x1-PJ BR EL, 90 Cplng, 1 in PJ x 1 in PJ L44-44-NL/5141-123
BR-EL-90C-2x2-PJ BR EL, 90 Cplng, 2 in PJ x 2 in PJ L44-77-NL
BR-EL-90C-2x2PVC-PJ BR EL, 90 Cplng, 2in PVC-PJ x 2in PVC-PJ L77-77-NL
BR-EL-90C-34x34-PJ BR EL, 90 Cplng,  3/4 in PJ x 3/4 in PJ L44-33
BR-MC-112MNx112MP BR Mtr Cplng, 1-1/2 in MN x 1-1/2 in MP, 2-7/8 in L C38-66-2.875

24Q-254 CNT | Page 11 of 44

EXHIBIT A

24Q-254 CNT | Page 11 of 44
DRAFT



BR-MC-1MNx1MP BR Mtr Cplng, 1 in MN x 1 in MP, 2-5/8 in L C38-44-2.625
BR-MC-2MNx2MP BR Mtr Cplng, 2 in MN x 2 in MP, 3-1/16 in L C38-77-3.0625
BR-MC-34MNx1MP BR Mtr Cplng,  3/4 in MN x 1 in MP, 2-1/2 in L C38-24-2.5
BR-MC-34MNx34MP BR Mtr Cplng,  3/4 in MN x 3/4 in MP, 2-1/2 in L C38-23-2.5/
BR-MD-2FLGx1MTR BR Mtr Adptrs, Pair, 2 in Flng  Mtr to 1 in Mtr Lay Length A47
BR-MD-34MNx1MP BR Mtr Adptrs, Pair, 5/8 x 3/4 in Mtr to 1 Mtr Lay Length A24NL
BR-MV-1PJx1MN BR Ball Mtr Valve, 1 in PJ x 1 in MN B43-344W-NL
BR-MV-1PJx34MN BR Ball Mtr Valve, 1 in PJ x  3/4 in MN B43-342W/5139-198
BR-MV-34FPx34MN BR Ball Mtr Valve,  3/4 in FP x 3/4 in MN B13-332W
BR-MV-34PJx34MN BR Ball Mtr Valve,  3/4 in PJ x 3/4 in MN B43-332W-NL
BR-MV-90-1FPx34MN BR Angle Ball Mtr Valve, 90, 1 in FP x 3/4 in MN BA13-342W/5133-017
BR-MV-90-1PJx1MN BR Angle Ball Mtr Valve, 90, 1 in PJ x 1 in MN BA43-444W-NL
BR-MV-90-1PJx34MN BR Angle Ball Mtr Valve, 90, 1 in PJ x 3/4 in MN BA43-342W-NL/5139-178
BR-MV-90-2PJx2FL BR Angle Ball Flng Mtr Valve, 90, 2 in PJ x 2 in FL BFA43-777W-NL
BR-MV-90-34FPx34MN BR Angle Ball Mtr Valve, 90,  3/4 in FP x 3/4 in MN BA13-332W
BR-MV-90-34PJx34MN BR Angle Ball Mtr Valve, 90,  3/4 in PJ x 3/4 in MN BA43-332W-NL
BR-NA-PJ-1 BR PJ Nut Assy, 1 in NG-F4 (FDMX ONLY)
BR-NA-PJ-112 BR PJ Nut Assy, 1-1/2 in NG-J4
BR-NA-PJ-112BC BR PJ Nut Assy, 1-1/2 in, Ball Corp NG-JJJ4
BR-NA-PJ-1BC BR PJ Nut Assy, 1 in, Ball Corp NG-FF4 / 4141-185
BR-NA-PJ-2 BR PJ Nut Assy, 2 in NG-K4
BR-NA-PJ-2BC BR PJ Nut Assy, 2 in, Ball Corp NG-KKK4
BR-NA-PJ-34 BR PJ Nut Assy,  3/4 in NG-D4
BR-NP-112x3L BR Nipple, 1-1/2 in,  3 in L 2024-300
BR-NP-112x6L BR Nipple, 1-1/2 in,  6 in L 2014-600
BR-NP-112xCL BR Nipple, 1-1/2 in Close 2024-001
BR-NP-1x3L BR Nipple, 1 in, 3 in L 2016-300
BR-NP-1xCL BR Nipple, 1 in Close 2016-001
BR-NP-2x36L BR, Nipple, 2in,36inL GBRNK36
BR-NP-2x3L BR Nipple, 2 in, 3 in L 2032-300
BR-NP-2x6L BR Nipple, 2 in, 6 in L 2032-600
BR-NP-2xCL BR Nipple, 2 in Close 2032-001
BR-NP-34x3L BR Nipple,  3/4 in,  3 in L 2012-300
BR-NP-34xCL BR Nipple,  3/4 in Close BRNFCL
BR-TE-112x112x112-PJ BR T, 1-1/2 x 1-1/2 x 1-1/2 in PJ T444-666

24Q-254 CNT | Page 12 of 44

EXHIBIT A

24Q-254 CNT | Page 12 of 44
DRAFT



BR-TE-112x1x112-PJ BR T, 1-1/2 x 1 x 1-1/2 in PJ T444-664-AWT-NL
BR-TE-112x34x112-PJ BR T, 1-1/2 x 3/4 x 1-1/2 in PJ T444-663-NL
BR-TE-1x1x1-PJ BR T, 1 x 1 x 1 in PJ T444-444
BR-TE-1x1x1-PVCPJ BR T, 1 x 1 x 1 in PVC-PJ T777-444
BR-TE-1x34x1-PJ BR T, 1 x 3/4 x 1 in PJ T444-443
BR-TE-2x2x2-PJ BR T, 2 x 2 x 2 in PJ T444-777
BR-TE-34x1x34-PJ BR T,  3/4 x 1 x  3/4 in PJ T444-334-NL
BR-TE-34x34x34-PJ BR T,  3/4 x 3/4 x 3/4 in PJ T444-333
BR-UN-2FPx2FP BR, Union, 2FPx2FP NL187-32
BR-YK-34 BR Mtr Yoke Expansion Connection, 3/4 in Standard EC-23
BR-YY-112x1x1-PJ BR Y, 1-1/2 x 1 x1 in PJ Y44-264
BR-YY-112x34x34-PJ BR Y, 1-1/2 x 3/4 x 3/4 in PJ Y44-263
BR-YY-1x34x34-PJ BR Y, 1 x 3/4 x 3/4 in PJ Y44-243
BR-YY-2x1x1-PJ BR Y, 2 x 1 x 1 in,  PJ Y44-274NL
SS-SC-PJNA-CSA BR PJ Nut Assy, Clamp Screw, Small, for NG-D4/F4/FF4 F-4-K @ East CS-A Brass/Etc
SS-SC-PJNA-CSB BR PJ Nut Assy, Clamp Screw, Large, for NG-J4/JJJ4/K4 F-4-K @ East CS-B Brass/Etc

24Q-254 CNT | Page 13 of 44

EXHIBIT A

24Q-254 CNT | Page 13 of 44
DRAFT



MCU Inventory Control Number Description Mfr Part No.
BP-DC-34MNX34MP BF Prvntr, Dual Check, 34MN x 34MP LF7R10-U3 / 7311X3J
BR-BU-14FPx34MP BR Bshng, 1/4 in FP x 3/4 MP NL114-1204
BR-CA-1-FP BR Cap, 1 in, FP NL116-16
BR-CM-34MNX34MP-1716 BR Mtr Cplng,  3/4 in MN x 3/4 in MP, 1-7/16 in L C39-23-1.437-NL
BR-CP-112x112-FP BR Cplng, 1-1/2 in FP x 1-1/2 in FP IBRLFCJ
BR-CP-14FPx12FP BR Cplng, Rdcng, 1/4 in FP x 1/2 in FP NL112-0804
BR-CP-1x1-FP BR Cplng, 1 in FP x 1 in FP NL111-16
BR-CP-34x34-FP BR Cplng, 3/4 in FP x 3/4 in FP NL111-12
BR-EL-45C-1x1-FP BR EL, 45, 1 in x 1 in, FP NL102-16
BR-EL-45C-34x34-FP BR EL, 45 Cplng, 3/4 in FP x 3/4 in FP NL102-12
BR-EL-90C-112x112-FP BR EL, 90 Cplng, 1-1/2 in FP x 1-1/2 in FP NL101-24
BR-EL-90C-1x1-FP BR EL, 90 Coupling, 1 in FP x 1 in FP NL101-16
BR-EL-90C-34x34-FP BR EL, 90 Cplng,  3/4 in FP x 3/4 in FP NL101-12
BR-EL-90S-14MPx14FP BR EL, 90 Street, 1/4 in MP x 1/4 in FP NL103-04
BR-NP-112x36L BR Nipple, 1-1/2 in, 36 in L 2024-3600
BR-NP-12x2L BR Nipple, 1/2 in x 2 in Long 2008-200
BR-NP-14x2L BR Nipple,  1/4 in, 2 in L 2004-200
BR-NP-1x24L BR Nipple, 1 in, 24 in L 2016-2400
BR-NP-1x36L BR Nipple, 1 in, 36 in Long 2016-3600
BR-NP-1x6L BR Nipple, 1 in, 6 in L 2016-600
BR-NP-34x12L BR Nipple,  3/4 in, 12 in L 2012-1200
BR-NP-34x24L BR Nipple,  3/4 in, 24 in L 2012-2400
BR-NP-34x36L BR Nipple,  3/4 in, 36 in L 2012-3600
BR-NP-34x6L BR Nipple,  3/4 in,  6 in L 2012-600
BR-TE-1x1x1-FP BR Tee, 1 x 1 x 1 in FP NL106-16
BR-TE-34x34x34-FP BR T,  3/4 in x 3/4 in x 3/4 in FP NL106-12
BR-UN-SW-112x112-FP BR Union, Swvl, 3 Piece, 1-1/2 in FP x 1-1/2 in FP 3015U
BR-UN-SW-1x1-FP BR Union, Swvl, 3 Piece, 1 in FP x 1 in FP 3010U
BR-UN-SW-34x34-FP BR Union, Swvl, 3 Piece,  3/4 in FP x 3/4 in FP 3007U
BR-VL-FRZ Freeze Valve, Protecter, Dole FP-35 FP-35 / 14-ZWFR
BZ-ADPT-34DC-MNPT WATTS, Tail Piece, ADPT, 3/4in, MN 1139991
BZ-BP-ADCV-1MN BF Prvntr, Apollo 4NLA, 1 in MPT x 1 in MN, Dual CV A4NLA3-S6-5B
BZ-BP-ADCV-34MN BF Prvntr, Apollo 4NLA, 3/4 in MPT x 3/4 in MN, Dual CV 4ALF-3S5-4B
BZ-BP-ADCV-TP1M BF Prvntr, Apollo 4NLA, 1 in MPT Tail Piece L-9323-06
BZ-BP-ADCV-TP34F BF Prvntr, Apollo 4NLA, 3/4 in FPT Tail Piece AL829406
BZ-BP-ADCV-TP34M BF Prvntr, Apollo 4NLA, 3/4 in MPT Tail Piece AL945206
BZ-BP-DCV-34-RK BF Prvntr, 3/4 in, Dual CV Rebuild Kit RK34-700 or 4A/4N-300
BZ-BP-F-34MNx34MP-MC BF Prvntr, Ford, 3/4 in MP x 3/4 in MN, Dual CV Meter Cplng C38-23H2-2-5-NL
BZ-BP-K-A7016331 BF Prvntr, Ames 2000BM2, 3/4 in, Kit, CK1 7016331
BZ-BP-K-A7016332 BF Prvntr, Ames 2000BM3, 3/4 in, Kit, CK2 7016332
BZ-BP-K-A7016335 BF Prvntr, Ames 2000BM2, 2 in, Kit, CK1 7016335
BZ-BP-K-A7016337 BF Prvntr, Ames 2000BM2, 3/4 in, Kit, CK2 7016337
BZ-BP-K-A7016338 BF Prvntr, Ames 2000BM3, 3/4 in, Kit, CK2 7016338
BZ-BP-K-A7016341 BF Prvntr, Ames 2000BM1, 2 in, Kit, CK2 7016341
BZ-BP-K-A7016343 BF Prvntr, Ames 2000BM2, 3/4 in, Kit, CVR 7016343
BZ-BP-K-A7016344 BF Prvntr, Ames 2000BM3, 3/4 in, Kit, CVR 7016344
BZ-BP-K-A7016349 BF Prvntr, Ames 2000BM2, 3/4 in, Kit, TR 7016349
BZ-BP-K-A7016350 BF Prvntr, Ames 2000BM3, 3/4 in, Kit, TR 7016350
BZ-BP-K-A7016353 BF Prvntr, Ames 2000BM1, 2 in, Kit, TR 7016353
BZ-BP-K-A7016364 BF Prvntr, Ames 4000BM2, 3/4 in, Kit, RV 7016364
BZ-BP-K-A7016367 BF Prvntr, Ames 4000B, 1-1/4 - 1-1/2 in, Kit, RV 7016367
BZ-BP-K-A7016368 BF Prvntr, Ames 4000B, 2 in, Kit, RV 7016368
BZ-BP-K-A7016374 BF Prvntr, Ames 4000B, 2 in, Kit, RV Rbbr 7016374
BZ-BP-K-A7016376 BF Prvntr, Ames 4000BM2, 3/4 in, Kit, TR 7016376
BZ-BP-K-A7016639 BF Prvntr, Ames 4000B, 1-1/4 - 1-1/2 in, Kit, CK1 7016639

Section 2  B2- Backflow

24Q-254 CNT | Page 14 of 44

EXHIBIT A

24Q-254 CNT | Page 14 of 44

DRAFT



BZ-BP-K-A7016640 BF Prvntr, Ames 4000B, 2 in, Kit, CK1 7016640
BZ-BP-K-A7016645 BF Prvntr, Ames 4000B, 1-1/4 - 1-1/2 in, Kit, CK2 7016645
BZ-BP-K-A7016646 BF Prvntr, Ames 4000B, 2 in, Kit, CK2 7016646
BZ-BP-K-C4000402 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, Pppt 40-004-02
BZ-BP-K-C40004A2 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, CV 40-004-A2
BZ-BP-K-C40004A3 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, RV 40-004-A3
BZ-BP-K-C40004A6 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, TR 40-004-A6
BZ-BP-K-C40004A7 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, Rep Seat 40-004-A7
BZ-BP-K-C40004A8 BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, ST 40-004-A8
BZ-BP-K-C40004RV BF Prvntr, Cnbrco RPZ, 3/4 - 1 in, Kit, RV Rbbr 40-004-RV
BZ-BP-K-F905056 BF Prvntr, Febco, 1-1/2 - 2 in, Kit, RV 905056
BZ-BP-K-W114975XLC BF Prvntr, Wilkins 975XL, 1-1/4 in, Kit, Comp Rebuild RK114-975XLC
BZ-BP-K-W114975XLSK BF Prvntr, Wilkins 975XL, 2 in, Kit, Seat RK114-975XLSK
BZ-BP-K-W2975XLC BF Prvntr, Wilkins 975XL, 2 in, Kit, Comp Rebuild RK114-975XLC
BZ-BP-K-WRK114-950C BF Prvntr, Wilkins 950XL, 2 in, Kit, Comp Rebuild RK114-950C
BZ-BP-K-WRK18-860TC BF Prvntr, Wilkins 975XL,Test Cock, 1/8in MNPT x 1/4in FNPT RK18-860TC
BZ-BP-K-WRK34-375BOF BF Prvntr, Wilkins 375XL, 3/4 in, Kit, Blow Out/Flush Ftg RK34-375BOF
BZ-BP-K-WRK34-375C BF Prvntr, Wilkins 375XL, 3/4 in, Kit, Comp Rebuild RK34-375C
BZ-BP-K-WRK34-375R BF Prvntr, Wilkins 375XL, 3/4 in, Kit, Rbbr RK34-375R
BZ-BP-K-WRK34-375V BF Prvntr, Wilkins 375XL, 3/4 in, Kit, Vessel Assy. RK34-375V
BZ-BP-K-WRK34-375W BF Prvntr, Wilkins 375XL, 3/4 in, Kit, Wedge Assy. RK34-375W
BZ-BP-K-WRK34-975R BF Prvntr, Wilkins 975XL,  3/4 in, Kit, Rbbr RK34-975R
BZ-BP-K-WRK34-975SK BF Prvntr, Wilkins 975XL,  3/4 in, Kit, Seat RK34-975SK
BZ-BP-K-WRK34-975XLC BF Prvntr, Wilkins 975XL,  3/4 in, Kit, Comp Rebuild RK34-975XLC
BZ-BP-TC-A14Mx14F BF Prvntr, Ames 4000B, BZ Test Cock, 1/4 in MP x 1/4 in FP
BZ-BP-TC-A18Mx14F BF Prvntr, Ames 4000B, BZ Test Cock, 1/8 in MP x 1/4 in FP 7017248
BZ-BP-W112975XL BF Prvntr, Wilkins 975XL, 1-1/2 in 112-975XL
BZ-BP-W14-860 BF Prvntr, Wilkins 975XL, Test Cock, 1/4in MNPT x 1/4in FNPT RK14-860
BZ-BP-W1975XL BF Prvntr, Wilkins 975XL, 1 in 1-975XL
BZ-BP-W2975XL BF Prvntr, Wilkins 975XL, 2 in 2-975XL
BZ-BP-W34375XL BF Prvntr, Wilkins 375XL, 3/4 in 34-375XL
BZ-BP-W34975XL BF Prvntr, Wilkins 975XL,  3/4 in 34-975XL
BZ-BP-W952-12S BF Prvntr, Wilkins 975XL,  3/4 in, Seal Ring 952-12S
BZ-BP-W952-300S BF Prvntr, Wilkins 975XL,  3/4 in, Poppet Assy 952-300S
BZ-BP-W954-12S BF Prvntr, Wilkins 975XL, 2 in, CK1-2 Seal Ring 954-12S
BZ-BP-W954-300S BF Prvntr, Wilkins 975XL, 2 in, Poppet Assy 954-300S
BZ-BP-W972-12S BF Prvntr, Wilkins 975XL,  3/4 in, RV Seal Ring 972-12S
BZ-BP-W972-43 BF Prvntr, Wilkins 975XL,  3/4 in, RV Diaphram W972-43
BZ-BP-W972-50S BF Prvntr, Wilkins 975XL,  3/4 in, RV Stem Assy W972-50S
BZ-BP-W974-12S BF Prvntr, Wilkins 975XL, 2 in, RV Seal Ring 974-12S
BZ-BP-W974-43 BF Prvntr, Wilkins 975XL, 2 in, RV Diaphram 974-43
BZ-BP-WATTSDCV-34MN BF Prvntr, Watts, LF7R,  3/4 in MN x 3/4 in MP, Dual CV LF7R10-U3
BZ-BP-WDCV-1MN BF Prvntr, Wilkins 700XL, 1 in FP x 1 in MN, Dual CV 114UFMX1UF-700XL
BZ-BP-WDCV-1MN-R BF Prvntr, REBUILT Wilkins 700XL, 1 in FP x 1 in MN, Dual CV 114UFMX34FP-700XL
BZ-BP-WDCV-34FP BF Prvntr, Wilkins 700XL, 3/4 in FP x 3/4 in FP, Dual CV 34UFX34F-700XL
BZ-BP-WDCV-34FP-R BF Prvntr, REBUILT Wilkins 700XL, 3/4 in FP x 3/4 in FP, Dual CV 34UFX34F-700XL
BZ-BP-WDCV-34MN BF Prvntr, Wilkins 700XL, 3/4 FIP  X 3/4 MN, Dual CV 1UFMX34UF-700XL
BZ-BP-WDCV-34MN-R BF Prvntr, REBUILT Wilkins 700XL, 3/4 FIP x 3/4 MN, Dual CV 1UFMX34FP-700XL
BZ-BV-2x2-FP Bronze BV, 2 in, FP A94A10801/79586
BZ-FK-112-OVL-FLG Bronze Mtr Oval Flng Kit, 1-1/2 in GH2030-C-2
BZ-FK-2-OVL-FLG Bronze Mtr Oval Flng Kit, 2 in GH2035-C-2

24Q-254 CNT | Page 15 of 44

EXHIBIT A

24Q-254 CNT | Page 15 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
BR-TS-2.375D-1F Tapping Saddle, Hinged Brass, 2.375 in x 1 in, for PVC S71-204
BR-TS-3.50D-1F Tapping Saddle, Hinged Brass, 3.50 in x 1 in, for PVC S71-304
BR-TS-4.50D-1F Tapping Saddle, Hinged Brass, 4.50 in x 1 in, for PVC S71-404
BR-TS-4.80D-1F Tapping Saddle, Hinged Brass, 4.80 in x 1 in, for C900 S91-404
BR-TS-6.625D-1F Tapping Saddle, Hinged Brass, 6.625 in x 1 in, for PVC S71-604
BR-TS-6.90D-1F Tapping Saddle, Hinged Brass, 6.90 in x 1 in, for C900 S91-604
BR-TS-8.625D-1F Tapping Saddle, Hinged Brass, 8.625 in x 1 in, for PVC S71-804
BR-TS-9.05D-1F Tapping Saddle, Hinged Brass, 9.05 in x 1 in, for C900 S91-804
DI-TS-01.92D161-1F Tapping Saddle, Dbl Strap,  1.92-1.61 in x 1 in, for 2 in pipe 313-00019208-000
DI-TS-02.56D235-1F Tapping Saddle, Dbl Strap,  2.56-2.35 in x 1 in, for 2 in pipe F202-250-IP4/313-00025608-000
DI-TS-02.63D235-1F Tapping Saddle, Dbl Strap,  2.63-2.35 in x 1 in, for 2 in pipe JCM402-263-08
DI-TS-02.90D275-1F Tapping Saddle, Dbl Strap,  2.90-2.75 in x 1 in, for 2-1/2 in pipe F202-290-IP4
DI-TS-03.50D325-1F Tapping Saddle, Dbl Strap,  3.50-3.25 in x 1 in, for 3 in pipe JCM402-350-08
DI-TS-03.54D297-1F Tapping Saddle, Dbl Strap,  3.54-2.97 in x 1 in, for 3 in pipe 313-00035408-000
DI-TS-03.54D297-2F Tapping Saddle, Dbl Strap,  3.54-2.97 in x 2 in, for 3 in pipe 313-00035414-000
DI-TS-04.73D426-1F Tapping Saddle, Dbl Strap,  4.73-4.26 in x 1 in, for 4 in pipe F202-473-IP4
DI-TS-04.80D440-112F Tapping Saddle, Dbl Strap,  4.80-4.40 in x 1-1/2 in, for 4 in pipe 313-00048012-000
DI-TS-04.80D440-1F Tapping Saddle, Dbl Strap,  4.80-4.40 in x 1 in, for 4 in pipe F202-480-IP4
DI-TS-04.80D440-2F Tapping Saddle, Dbl Strap,  4.80-4.40 in x 2 in, for 4 in pipe 313-00048014-000
DI-TS-04.80DS426-1F Tapping Saddle, SS Strap,  4.80-4.26 in x 1 in, for 4 in pipe FCD202-480-IP4
DI-TS-0480-SS-112F Tapping Saddle, SS Strap, OD-04.80 x 112in, for 4in pipe FC202-480 / 317-00048012-000
DI-TS-0480-SS-1F Tapping Saddle, SS Strap, OD-04.80 x 1in, for 4in pipe FC202-480 / 317-00090508-000
DI-TS-0480-SS-2F Tapping Saddle, SS Strap, OD-04.80 x 2in, for 4in pipe FC202-480 / 317-00048014-000
DI-TS-05.26D474-112F Tapping Saddle, Dbl Strap,  5.26-4.74 in x 1-1/2 in, for 4 in pipe F202-526-IP6
DI-TS-05.26D474-1F Tapping Saddle, Dbl Strap,  5.26-4.74 in x 1 in, for 4 in pipe F202-526-IP4/313-00052508-000
DI-TS-06.63D650-01F Tapping Saddle, Dbl Strap,  6.63-6.50 in x 1 in, for 6 in pipe JCM402-663-08
DI-TS-06.63D650-2F Tapping Saddle, Dbl Strap,  6.63-6.50 in x 2 in, for 6 in pipe JCM402-663-14
DI-TS-06.69D594-112F Tapping Saddle, Dbl Strap,  6.69-5.94 in x 1-1/2 in, for 6 in pipe F202-669-IP6
DI-TS-06.69D594-1F Tapping Saddle, Dbl Strap,  6.69-5.94 in x 1 in, for 6 in pipe F202-669-IP4
DI-TS-06.69D594-2F Tapping Saddle, Dbl Strap,  6.69-5.94 in x 2 in, for 6 in pipe F202-669-IP7
DI-TS-06.90D594-01F Tapping Saddle, Dbl Strap,  6.90-5.94 in x 1 in, for 6 in pipe 313-00069008-000
DI-TS-06.90D594-112F Tapping Saddle, Dbl Strap,  6.90-5.94 in x 1-1/2 in, for 6 in pipe 313-00069012-000
DI-TS-06.90D594-2F Tapping Saddle, Dbl Strap,  6.90-5.94 in x 2 in, for 6 in pipe 311-00069014-000
DI-TS-06.90D663-01F Tapping Saddle, Dbl Strap,  6.90-6.63 in x 1in, for 6 in pipe F202-690-IP4
DI-TS-06.90D663-112F Tapping Saddle, Dbl Strap,  6.90-6.63 in x 1-1/2 in, for 6 in pipe F202-690-IP6
DI-TS-06.90D663-2F Tapping Saddle, Dbl Strap,  6.90-6.63 in x 2 in, for 6 in pipe F202-690-IP7
DI-TS-0690-SS-112F Tapping Saddle, SS Strap, OD-06.90 x 112in, for 6in pipe FC202-690 / 317-00069012-000
DI-TS-0690-SS-1F Tapping Saddle, SS Strap, OD-06.90 x 1in, for 6in pipe FC202-690 / 31-00069008-000
DI-TS-0690-SS-2F Tapping Saddle, SS Strap, OD-06.90 x 2, for 6in pipe FC202-690 / 317-0006901-000
DI-TS-07.60D684-1F Tapping Saddle, Dbl Strap,  7.60-6.84 in x 1 in, for 6 in pipe F202-760-IP4
DI-TS-07.60D684-2F Tapping Saddle, Dbl Strap,  7.60-6.84 in x 2 in, for 6 in pipe F202-760-IP7
DI-TS-08.71D793-01F Tapping Saddle, Dbl Strap,  8.71-7.93 in x 1 in, for 8 in pipe F202-871-IP4
DI-TS-08.71D793-112F Tapping Saddle, Dbl Strap,  8.71-7.93 in x 1-1/2 in, for 8 in pipe F202-871-IP6
DI-TS-08.71D793-2F Tapping Saddle, Dbl Strap,  8.71-7.93 in x 2 in, for 8 in pipe F202-871-IP7
DI-TS-09.05D769-01F Tapping Saddle, Dbl Strap, 9.05-7.69in x 1, for 8 in pipe 313-00090508-000
DI-TS-09.05D863-01F Tapping Saddle, Dbl Strap,  9.05-8.63 in x 1 in, for 8 in pipe F202-905-IP4
DI-TS-09.05D863-112F Tapping Saddle, Dbl Strap,  9.05-8.63 in x 1-1/2 in, for 8 in pipe F202-905-IP6
DI-TS-09.05D863-2F Tapping Saddle, Dbl Strap,  9.05-8.63 in x 2 in, for 8 in pipe F202-905-IP7
DI-TS-09.79D899-1F Tapping Saddle, Dbl Strap,  9.79-8.99 in x 1 in, for 8 in pipe F202-979-IP4
DI-TS-0905-SS-112F Tapping Saddle, SS Strap, OD-09.05 x 112in, for 8in pipe FC202-905 / 317-00090512-000
DI-TS-0905-SS-1F Tapping Saddle, SS Strap, OD-09.05 x 1in, for 8in pipe FC202-905 / 317-00090508-000
DI-TS-0905-SS-2F Tapping Saddle, SS Strap, OD-09.05 x 2in, for 8in pipe FC202-905 / 317-00090514-000
DI-TS-10.10D-1CC Tapping Saddle, Dbl Strap, 10.10 in x 1 in CC, for 10 in pipe SB-10639
DI-TS-10.75D1000-01F Tapping Saddle, Dbl Strap, 10.75-10.00 in x 1 in, for 10 in pipe F202-1075-IP4
DI-TS-10.75D1000-2F Tapping Saddle, Dbl Strap, 10.75-10.00 in x 2 in, for 10 in pipe F202-1075-IP7
DI-TS-10.75D100-114F Tapping Saddle, Dbl Strap, 10.75-10.00 in x 1-1/4 in, for 10 in pipe F202-1075-IP5
DI-TS-11.10D1075-01F Tapping Saddle, Dbl Strap, 11.10-10.75 in x 1 in, for 10 in pipe F202-1110-IP4/402-1110-08
DI-TS-11.10D1075-02F Tapping Saddle, Dbl Strap, 11.10-10.75 in x 2 in, for 10 in pipe 313-00111014-000
DI-TS-11.10D1075-112 Tapping Saddle, Dbl Strap, 11.10-10.75 in x 1-1/2 in, for 10 in pipe 313-00111012-000
DI-TS-12.12D1064-01F Tapping Saddle, Dbl Strap, 12.12-10.64 in x 1 in, for 10 in pipe 313-00121208-000
DI-TS-12.12D1064-112 Tapping Saddle, Dbl Strap, 12.12-10.64 in x 1-1/2 in, for 10 in pipe 313-00121212-000

Section 3- B3 Service Saddles

24Q-254 CNT | Page 16 of 44

EXHIBIT A

24Q-254 CNT | Page 16 of 44

DRAFT



DI-TS-12.12D1064-2F Tapping Saddle, Dbl Strap, 12.12-10.64 in x 2 in, for 10 in pipe 313-00121214-000
DI-TS-12.12D1110-1F Tapping Saddle, Dbl Strap, 12.12-11.10 in x 1 in, for 10 in pipe F202-1212-IP4
DI-TS-12.12D1110-2F Tapping Saddle, Dbl Strap, 12.12-11.10 in x 2 in, for 10 in pipe F202-1212-IP7
DI-TS-12.75D1200-1F Tapping Saddle, Dbl Strap, 12.75-12.00 in x 1 in, for 12 in pipe F202-1275-IP4
DI-TS-12.75D1200-2F Tapping Saddle, Dbl Strap, 12.75-12.00 in x 2 in, for 12 in pipe F202-1275-IP7
DI-TS-13.20D1275-01F Tapping Saddle, Dbl Strap, 13.20-12.75 in x 1 in, for 12 in pipe F202-1320-IP4/313-00132008
DI-TS-13.20D1275-02F Tapping Saddle, Dbl Strap, 13.20-12.75 in x 2 in, for 12 in pipe F202-1320-IP7/313-00132014
DI-TS-13.20D1275-112 Tapping Saddle, Dbl Strap, 13.20-12.75 in x 1-1/2 in, for 12 in pipe F202-1320-IP6/313-00132012
DI-TS-13.50D1275-1F Tapping Saddle, Dbl Strap, 13.50 in x 12.75 x 1 in, for 12 in pipe JCM402-1350-08
DI-TS-13.50D-2F Tapping Saddle, Dbl Strap, 13.50 in x 2 in, for 12 in pipe JCM402-1350-14
DI-TS-14.32D1262-1F Tapping Saddle, Dbl Strap, 14.32-12.62 in x 1 in, for 12 in pipe 313-00143208-000
DI-TS-14.32D1262-2F Tapping Saddle, Dbl Strap, 14.32-12.62 in x 2 in, for 12 in pipe 313-00143214-000
DI-TS-14.38D1320-1F Tapping Saddle, Dbl Strap, 14.38-13.20 in x 1 in, for 12 in pipe F202-1438-IP4
DI-TS-16.25D1530-1F Tapping Saddle, Dbl Strap, 16.25-15.30 in x 1 in, for 14 in pipe F202-1625-IP4
DI-TS-17.80D17.25-1F Tapping Saddle, Dbl Strap, 17.80-17.25 x 1in, 16in pipe 313-178008-000
DI-TS-18.40D17.40-2 Tapping Saddle, Dbl Strap, 18.40-17.40inx2in, 16in pipe
DI-TS-18.40D1740-112 Tapping Saddle, Dbl Strap, 18.40-17.40 in x 1-1/2 in, for 16 in pipe F202-1840-IP6
DI-TS-18.40D1740-1F Tapping Saddle, Dbl Strap, 18.40-17.40 in x 1 in, for 16 in pipe F202-1840-IP4
DI-TS-18.88D1730-1F Tapping Saddle, Dbl Strap, 18.88 - 17.30 in X 1in, for 16in pipe 402-1888
DI-TS-20.50D1950-1F Tapping Saddle, Dbl Strap, 20.50-19.50 in x 1 in, for 18 in pipe F202-2050-IP4
DI-TS-20.50D1950-2F Tapping Saddle, Dbl Strap, 20.50-19.50 in x 2 in, for 18 in pipe F202-2050-IP7
DI-TS-25.80D-2F Tapping Saddle, Dbl Strap, 25.80 in x 2 in, for 24 in pipe 313-00258014-000

24Q-254 CNT | Page 17 of 44

EXHIBIT A

24Q-254 CNT | Page 17 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
DI-AD-04FLx04MJ DI Adptr, Mega-Flange, 4 in, FLG x MJ MJFALAP / 542104
DI-AD-06FLx06MJ DI Adptr, 6 in, FL x MJ MJFALAU
DI-AD-08FLx08MJ DI Adptr, 8 in, FLG x MJ MJFALAU
DI-CA-04-BFL DI Cap,  4 in, Blind Flng BFP
DI-CA-04-BFL-2FP DI Cap,  4 in, Blind FL, w/2 in FP Tap
DI-CA-04-MJ DI Cap,  4 in, MJ MJSCAPLAP
DI-CA-04-MJ-2FP DI Cap,  4 in, MJ, w/2 in FP Tap MJTCAPLAPK / 2104C20T
DI-CA-06-BFL DI Cap,  6 in, Blind Flng BFU
DI-CA-06-MJ DI Cap,  6 in, MJ MJSCAPLAU / 2106CT
DI-CA-06-MJ-2FP DI Cap,  6 in, MJ, w/2 in FP Tap MJTCAPLAUK / 2106C20T
DI-CA-08-BFL DI Cap,  8 in, Blind Flng BFX
DI-CA-08-BFL-2FP DI Cap,  8 in, Blind Flng, w/2 in FP Tap TAPBFXK
DI-CA-08-MJ DI Cap,  8 in, MJ MJSCAPLAX
DI-CA-08-MJ-2FP DI Cap,  8 in, MJ, w/2 in FP Tap MJTCAPLAXK / 2108C20T
DI-CA-10-BFL DI Cap, 10 in, Blind Flng BF10
DI-CA-10-MJ DI Cap, 10 in, MJ MJSCAPLA10 / 2110CT
DI-CA-10-MJ-2FP DI Cap, 10 in, MJ, w/2 in FP Tap MJTCAPLA10K / 2110C20T
DI-CA-12-BFL DI Cap, 12 in, Blind Flng BF12
DI-CA-12-MJ DI Cap, 12 in, MJ MJSCAPLA12 / 2112CT
DI-CA-12-MJ-2FP DI Cap, 12 in, MJ, w/2 in FP Tap MJTCAPLA12K
DI-CD-04x03-FL DI Concentric Rdcr,  4 in x 3 in, FLG
DI-CD-06x04-MJ DI Concentric Rdcr,  6 in x 4 in, MJ MJRLAUP
DI-CD-08x04-FL DI Concentric Rdcr,  8 in x 4 in, FLG FCRXP
DI-CD-08x06-FL DI Concentric Rdcr,  8 in x 6 in, FLG FCRXU
DI-CD-10x08-FLX DI Concentric Rdcr, 10 in x 8 in, FL, Sewer Epoxy FCRXU
DI-CD-12x04-MJ DI Concentric Rdcr, 12 in x 4 in, MJ 21I12R04M
DI-CD-14x12-MJ DI Concentric Rdcr, 14 in x 12 in, MJ 21I14R12M
DI-CD-16x06-FL DI Concentric Rdcr, 16 in x 6 in, MJ FCR16U/MJRLA16U
DI-CR-04-MJ DI Cross,  4 in, MJ MJCRLAP / 2104X040M
DI-CR-06-MJ DI Cross,  6 in, MJ MJCRLAU / 2106X060M
DI-CR-08-MJ DI Cross,  8 in, MJ MJCRLA8 / 2108X080M
DI-CR-10-MJ DI Cross, 10 in, MJ MJCRLA10 / 2110X100M
DI-CR-8X6-MJ DI Cross,  8 X 6, MJ DMC86
DI-EL-11-6x6-MJ DI EL, 11-1/4°, 6 in, MJ 21I061M
DI-EL-22-04x04-MJ DI EL, 22-1/2, 4 in, MJ MJ2LAP
DI-EL-22-06x06-MJ DI EL, 22-1/2, 6 in, MJ MJ2LAU
DI-EL-22-06x06-MJX DI EL, 22-1/2, 6 in, MJ, Sewer, Epoxy MJ2P4LAU
DI-EL-45-04x04-FL DI EL, 45,  4 in, FL F4P
DI-EL-45-04x04-MJ DI EL, 45,  4 in, MJ MJ4LAP
DI-EL-45-04x04-MJX DI EL, 45,  4 in, MJ, Sewer, Epoxy MJ4P4LAP
DI-EL-45-06x06-MJ DI EL, 45,  6 in, MJ MJ4LAU
DI-EL-45-06x06-MJX DI EL, 45,  6 in, MJ, Sewer, Epoxy MJ4P4LAU
DI-EL-45-08x08-MJ DI EL, 45,  8 in, MJ MJ4LAX
DI-EL-45-10x10-MJ DI EL, 45, 10 in, MJ MJ4LA10
DI-EL-45-12x12-MJ DI EL, 45, 12 in, MJ MJ4LA12
DI-EL-90-04x04-FL DI EL, 90,  4 in, FL F9P
DI-EL-90-04x04-FLX DI EL, 90, 4 in, FL, Sewer, Epoxy
DI-EL-90-04x04-MJ DI EL, 90,  4 in, MJ MJ9LAP
DI-EL-90-04x04-MJX DI EL, 90,  4 in, MJ, Sewer, Epoxy MJ9PLAP
DI-EL-90-06x06-FL DI EL, 90,  6 in, FL 24I069F401PR

Section 4- B4 DI Fittings

24Q-254 CNT | Page 18 of 44

EXHIBIT A

24Q-254 CNT | Page 18 of 44

DRAFT



DI-EL-90-06x06-MJ DI EL, 90,  6 in, MJ MJ9LAU
DI-EL-90-08MJx08-FL DI EL, 90,  8 in, MJ x FL MJF9LAX
DI-EL-90-08x08-MJ DI EL, 90,  8 in, MJ MJ9LAX / 21089M
DI-EL-90-12x12-MJ DI EL, 90, 12 in, MJ MJ9LA12
DI-MJ-RDCR-8x6 DI,MJ,Reducer,8inx6in 21IO8R06M
DI-PL-04-MJ DI Plug,  4 in, MJ, C153 MJSPP
DI-PL-06-MJ DI Plug,  6 in, MJ, C153 MJSPU
DI-PL-06-MJ-2FP DI Plug,  6 in, MJ, w/2 in FP Tap, C153 UTTPUK
DI-PL-08-MJ DI Plug,  8 in, MJ, C153 MJSPX
DI-PL-10-MJ DI Plug, 10in, MJ, C153 MJSP10
DI-PL-12-MJ DI Plug, 12 in, MJ, C153 MJSP12
DI-PP-04-CL350 DI Pipe,  4 in, Class 350, per foot DI350SJPP
DI-PP-06-CL350 DI Pipe,  6 in, Class 350, per foot DI350SJPU
DI-PP-08-CL350 DI Pipe,  8 in, Class 350, per foot DI350SJPX
DI-PP-10-CL350 DI Pipe, 10 in, Class 350, per foot DI350SJP10
DI-PP-12-CL350 DI Pipe, 12 in ,Class 350, per foot DI350SJP12
DI-PP-14-CL350 DI Pipe, 14 in, Class 350, per foot DI350SJP14
DI-PP-16-CL350 DI Pipe, 16 in, Class 350, per foot DI350SJP16
DI-SI-10x30-FL DI Spool Piece, 10 in x 2-1/2 ft, FL FFP10L
DI-SI-10x72-FLxSTR DI Spool Piece, 10 in x 6 ft, FL  x STR FPP10U
DI-SL-03-MJ DI Sleeve,  3 in, MJ MJLSLAM
DI-SL-04-MJ DI Sleeve,  4 in, MJ MJLSLAP / 21I04S112T
DI-SL-06-MJ DI Sleeve,  6 in, MJ MJLSLAU / 2106S112T
DI-SL-06-MJX DI Sleeve,  6 in, MJ, Sewer, Epoxy MJLSP4LAU
DI-SL-08-MJ DI Sleeve,  8 in, MJ MJLSLAX / 2108S112T
DI-SL-08-MJX DI Sleeve,  8 in, MJ, Sewer, Epoxy MJLSP4LAX
DI-SL-10-MJ DI Sleeve, 10 in, MJ MJLSLA10
DI-SL-12-MJ DI Sleeve, 12 in, MJ MJLSLA12
DI-TE-03x3x3-FL DI Tee,  3 x 3 x 3 in, FLG FTM
DI-TE-04x4x4-FL DI Tee,  4 x 4 x 4 in, FL FTP
DI-TE-04x4x4-MJ DI Tee,  4 x 4 x 4 in, MJ MJTLAP
DI-TE-06x6x4-FL DI Tee,  6 x 6 x 4 in, FL FTUP
DI-TE-06x6x4-MJ DI Tee,  6 x 6 x 4 in, MJ MJTLAUP
DI-TE-06x6x6-FL DI Tee,  6 x 6 x 6 in, FL FTU / 2106T060S
DI-TE-06x6x6-MJ DI Tee,  6 x 6 x 6 in, MJ MJTLAU
DI-TE-06x6x6-SMJ-HYD DI Tee,  6 x 6 x 6 in, MJ, Swivel Hyd Tee MJSTLAU
DI-TE-08X4X8-MJ DI Tee, 8 x 4 x 8, MJ DMT84
DI-TE-08x6x8-MJ DI Tee, 8 x 6 x 8 in, MJ DMT86
DI-TE-08x8x8-MJ DI Tee,  8 x 8 x 8 in, MJ MJTLAX
DI-TE-12x12x12-MJ DI Tee, 12 x 12 x 12 in, MJ MJTLA12
DI-VB-BTTM-15 DI Valve Box Bottom, Short, 15 in VB2612
DI-VB-BTTM-24 DI Valve Box Bottom, Medium, 24 in VB2622 / IVBSBS24
DI-VB-BTTM-36 DI Valve Box Bottom, Long, 36 in VB2662 /
DI-VB-LID-R DI Valve Box Lid, Reclaim VB2600R / IVBLIDR
DI-VB-LID-S DI Valve Box Lid, Sewer VB2600S / IVBLIDS
DI-VB-LID-W DI Valve Box Lid, Water VB2600W / IVBLIDW
DI-VB-RSR-1 DI Valve Box Riser, 1 in IVBR514G
DI-VB-RSR-112 DI Valve Box Riser, 1-1/2 in IVBR514J
DI-VB-RSR-2 DI Valve Box Riser, 2 in VB2602
DI-VB-RSR-4 DI Valve Box Riser, 4 in VB2604 / IVBR514P
DI-VB-RSR-6 DI Valve Box Riser, 6 in VB2606
DI-VB-TOP-10 DI Valve Box Top, Short, 10 in VB2611 / IVBSTS10

24Q-254 CNT | Page 19 of 44

EXHIBIT A

24Q-254 CNT | Page 19 of 44

DRAFT



DI-VB-TOP-16 DI Valve Box Top, Med, 16 in VB2621 / IVBSTS16
DI-VB-TOP-26 DI Valve Box Top, Long, 26 in VB2661/IVBSTS26
DI-YY-06x6x6-MJX DI Y, 6 in, MJ, Sewer, Epoxy MJYSP4LAU
GS-TP-02 Galvanized Threaded Plug, 2 in, MP ICGPK
DI-EL-90-06x06-FLX DI EL, 90,  6 in, FL, Sewer, Epoxy F9P4P
DI-EL-90-06x06-FP-BI DI EL, 90,  6 in, FP, Black Iron DI-EL-9-FP

24Q-254 CNT | Page 20 of 44

EXHIBIT A

24Q-254 CNT | Page 20 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
DI-UN-6x13-SMJ-HYD DI Hyd Adptr Union, Swvl, 6 in x 13 in, MJ MJSHAU13
HP-AVK-2780-05 Hydrant, AVK 2780, O-Ring, Inner Thrust Nut 2780-5-25-150-46
HP-AVK-2780-07 Hydrant, AVK 2780, O-Ring, Outer Thrust Nut 2780-7-27-001-01
HP-AVK-2780-08 Hydrant, AVK 2780, Washer, A-F 2780-8-27-150-2200
HP-AVK-2780-11051012 Hydrant, AVK 2780, O-Ring Set, 1105-1110-1112 SP-VV1105-10-12
HP-AVK-2780-1141 Hydrant, AVK 2780, Thust Washer 1141 SP-KV1141
HP-AVK-2780-12 Hydrant, AVK 2780, Bolt, Bonnet, 316 SS 2780-12
HP-AVK-2780-13 Hydrant, AVK 2780, Washer, Bonnet, 316SS 2780-13
HP-AVK-2780-15 Hydrant, AVK 2780, O-Rings, Stem Seal 2780-15-27-001-07
HP-AVK-2780-17 Hydrant, AVK 2780, Gskt, Barrel 2780-17-27-150-94
HP-AVK-2780-18 Hydrant, AVK 2780, Nut, Bonnet, 316SS 2780-18-ZP/SS04/SS16
HP-AVK-2780-21 Hydrant, AVK 2780, Gskt, Hose Nozzle Cap 2780-21-27-150-42
HP-AVK-2780-22 Hydrant, AVK 2780, O-Ring, Hose Nozzle 2780-22-27-001-09
HP-AVK-2780-25 Hydrant, AVK 2780, O-Ring, Pumper Nozzle 2780-25-27-001-10
HP-AVK-2780-27 Hydrant, AVK 2780, O-Ring, Storz Option 2780-27-27-150-43
HP-AVK-2780-33 Hydrant, AVK 2780, Flange, Brkble 2780-33-27-150-0790
HP-AVK-2780-36 Hydrant, AVK 2780, Pin, Coupler 2780-36-27-004-09
HP-AVK-2780-37 Hydrant, AVK 2780, Cplng, Brkble Stem Rod 2780-37-27-150-25
HP-AVK-2780-38 Hydrant, AVK 2780, Spring Pin 2780-38
HP-AVK-2780-50 Hydrant, AVK 2780, O-Ring, Lower Barrel 2780-50-27-001-04
HP-AVK-2780-51 Hydrant, AVK 2780, Valve Seat Ring 2780-51-27-150-0900
HP-AVK-2780-53 Hydrant, AVK 2780, O-Ring, Valve Seat 2780-53-27-001-02
HP-AVK-2780-61 Hydrant, AVK 2780, Main Valve Disc-Hydro Flow Valve 2780-61-27-150-344X
HP-AVK-4/5-KBR Hydrant, AVK, 4-1/2 - 5-1/4 in, Kit, Brkwy Repair
HP-AVK-514-KX12 Hydrant, AVK, 5-1/4 in, Kit, Ext, 12 in SP-HHRPAVK12
HP-AVK-KV1105-10-12 Hydrant, AVK, O-Ring Set, 1105-1110-1112
HP-AVK-KV-1111 Hydrant, AVK, Gskt, Cover Plate, F/K11 SP-KV1111
HP-AVK-KV1141 Hydrant, AVK, Thust Washer
HP-B62B-514-01 Hydrant, Amer Darling B62B, 5-1/4 in, Oper Nut
HP-B62B-514-02-1 Hydrant, Amer Darling B62B, 5-1/4 in, O-Ring, Cover
HP-B62B-514-02-2 Hydrant, Amer Darling B62B, 5-1/4 in, O-Ring, Hsg
HP-B62B-514-04-4 Hydrant, Amer Darling B62B, 5-1/4 in, Thrust Washer
HP-B62B-514-05-3 Hydrant, Amer Darling B62B, 5-1/4 in, Pipe Plug, SS B62B-05-3
HP-B62B-514-09 Hydrant, Amer Darling B62B, 5-1/4 in, Hsg Cover B62B-514-09
HP-B62B-514-11-2 Hydrant, Amer Darling B62B, 5-1/4 in, Cover Cap Screw AD-B62B-11-2
HP-B62B-514-13 Hydrant, Amer Darling B62B, 5-1/4 in, Cover Gskt AD-B62B-13
HP-B62B-514-14-85E Hydrant, Amer Darling B62B, 5-1/4 in, Hsg Gskt, 1985 & Earlier AD-B62B-14-O
HP-B62B-514-14-86L Hydrant, Amer Darling B62B, 5-1/4 in, Hsg Gskt, 1986 & Later AD-B62B-14-N
HP-B62B-514-16 Hydrant, Amer Darling B62B, 5-1/4 in, Hsg Bolts-Nuts AD-B62B-16
HP-B62B-514-2-2 Hydrant, Amer Darling B62B, 5-1/4 in, O-Ring, Hsg AD-B62B-02-2
HP-B62B-514-29-15 Hydrant, Amer Darling B62B, 5-1/4 in, Brkble Flng AD-B62B-29-15
HP-B62B-514-29-30 Hydrant, Amer Darling B62B, 5-1/4 in, Rod Cplng AD-B62B-29-30
HP-B62B-514-29-31 Hydrant, Amer Darling B62B, 5-1/4 in, Cplng & Cotter Pin AD-B62B-29-31
HP-B62B-514-30-6 Hydrant, Amer Darling B62B, 5-1/4 in, Travel Stop Nut B62B-514-30-6
HP-B62B-514-35 Hydrant, Amer Darling B62B, 5-1/4 in, Hyd Seat AD-B62B-35-OR
HP-B62B-514-36-2 Hydrant, Amer Darling B62B, 5-1/4 in, O-Ring, Seat, Outside AD-B62B-36-2
HP-B62B-514-36-3 Hydrant, Amer Darling B62B, 5-1/4 in, O-Ring, Seat, Inside AD-B62B-36-3
HP-B62B-514-38 Hydrant, Amer Darling B62B, 5-1/4 in, Gskt, Drain Ring AD-B62B-38
HP-B62B-514-38-1 Hydrant, Amer Darling B62B, 5-1/4 in, Gskt, Barrel AD-B62B-38-1
HP-B62B-514-39-9 Hydrant, Amer Darling B62B, 5-1/4 in, Barrel Bolts-Nuts AD-B62B-39-9
HP-B62B-514-41 Hydrant, Amer Darling B62B, 5-1/4 in, Hyd Valve AD-B62B-41
HP-B62B-514-4-4 Hydrant, Amer Darling B62B, 5-1/4 in, Thrust Washer AD-B62B-04-4
HP-B62B-514-KXT12 Hydrant, Amer Darling B62B, 5-1/4 in, Kit, Ext, Traffic, 12 in AD-B62B-42699
HP-B84B-4/5-MK73-KBR Hydrant, Amer Darling B84B-5, 4-1/2 - 5-1/4 in, Kit, Brkwy Repair
HP-B84B-514-02-1 Hydrant, Amer Darling B84B-5, 5-1/4 in, O-Ring, Cover AD-B84B-5-02-1
HP-B84B-514-02-2 Hydrant, Amer Darling B84B-5, 5-1/4 in, O-Ring, Hsg AD-B84B-5-02-2
HP-B84B-514-04-4 Hydrant, Amer Darling B84B-5, 5-1/4 in, Thrust Washer AD-B84B-5-04-4
HP-B84B-514-11-2 Hydrant, Amer Darling B84B-5, 5-1/4 in, Cap Screw, Hsg Cover AD-B84B-5-11-2
HP-B84B-514-13 Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Hsg Cover AD-B84B-5-13
HP-B84B-514-14-85E Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Hsg, 1985 & Earlier AD-B84B-5-14-O
HP-B84B-514-14-86L Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Hsg, 1986 & Later AD-B84B-5-14-N
HP-B84B-514-16 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hsg Bolts-Nuts AD-B84B-5-16
HP-B84B-514-21 Hydrant, Amer Darling B84B-5, 5-1/4 in, Cap, Hose Nozzle
HP-B84B-514-22 Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Hose Cap AD-B84B-5-22

Section 5- B5 Hydrant & Parts

24Q-254 CNT | Page 21 of 44

EXHIBIT A

24Q-254 CNT | Page 21 of 44

DRAFT



HP-B84B-514-27 Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Pumper Cap AD-B84B-5-27
HP-B84B-514-29-30 Hydrant, Amer Darling B84B-5, 5-1/4 in, Rod Cplng AD-B84B-5-29-30
HP-B84B-514-29-31 Hydrant, Amer Darling B84B-5, 5-1/4 in, Rod Cplng Pin-Clip Pins AD-B84B-5-29-31
HP-B84B-514-29-45 Hydrant, Amer Darling B84B-5, 5-1/4 in, Brkble Flng B84B-5-29-45
HP-B84B-514-30-03 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hydrant Spring B84B-514-30-04
HP-B84B-514-30-04 Hydrant, Amer Darling B84B-5, 5-1/4 in, Spring Plate AD-B84B-5-30-04
HP-B84B-514-30-07 Hydrant, Amer Darling B84B-5, 5-1/4 in, Spring Plate Pin AD-B84B-514-30-07
HP-B84B-514-30-12 Hydrant, Amer Darling B84B-5, 5-1/4 in, Lower Hyd Rod AD-B84B-5-30-12
HP-B84B-514-31 Hydrant, Amer Darling B84B-5, 5-1/4 in, Drain Lever AD-B84B-514-31
HP-B84B-514-35-02 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hyd Seat AD-B84B-5-35-02
HP-B84B-514-36-1 Hydrant, Amer Darling B84B-5, 5-1/4 in, O-Ring, Hyd Seat AD-B84B-5-36-1
HP-B84B-514-38-1 Hydrant, Amer Darling B84B-5, 5-1/4 in, Gskt, Barrel AD-B84B-5-38-1
HP-B84B-514-39-9 Hydrant, Amer Darling B84B-5, 5-1/4 in, Barrel Bolts-Nuts AD-B84B-5-39-9
HP-B84B-514-40 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hyd Valve Top AD-B848-514-40
HP-B84B-514-40-4 Hydrant, Amer Darling B84B-5, 5-1/4 in, Cotter Pin AD-B848B-5-40-4
HP-B84B-514-41 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hyd Valve AD-B84B-5-41
HP-B84B-514-42 Hydrant, Amer Darling B84B-5, 5-1/4 in, Hyd Valve Bottom AD-B84B-5-42
HP-B84B-514-KX12 Hydrant, Amer Darling B84B, 5-1/4 in, Kit, Ext,12 in AD-B84B-42720-1
HP-B84B-514-KX18 Hydrant, Amer Darling B84B, 5-1/4 in, Kit, Ext,18 in AD-B84B-42720-2
HP-B84B-514-VLVKIT Hydrant, Amer Darling B84B, 5-1/4in, Kit Valve Repair AFC8441KIT
HP-CM-412-M-KBFR Hydrant, Clow Medallion, 4-1/2 in, Kit, Break Flng Repair
HP-CM-412-M-KBR Hydrant, Clow Medallion, 4-1/2 in, Kit, Brkwy Repair
HP-CM-514-M-01 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Oper Nut, Buna 2400815 CM-M-1
HP-CM-514-M-02 Hydrant, Clow Medallion, 5-1/4 in, Thrust Bearing, Oper Nut T0200669 CM-M-2
HP-CM-514-M-03 Hydrant, Clow Medallion, 5-1/4 in, Oper Nut, Specify Size/Shape CM-M-3
HP-CM-514-M-03-P Hydrant, Clow Medallion, 5-1/4in, OperNut, ShoeStp, 1-3/4in Pntgrm F0800610 CM-M-3-P
HP-CM-514-M-06 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Upper Stem Sleeve CM-M-6
HP-CM-514-M-07 Hydrant, Clow Medallion, 5-1/4 in, Upper Stem, OL, Incl M-5, -6 M2202350 M2202350
HP-CM-514-M-10 Hydrant, Clow Medallion, 5-1/4 in, Safety Stem Cplng M2202349 CM-M-10 / T2203021
HP-CM-514-M-11 Hydrant, Clow Medallion, 5-1/4 in, Safety Cplng Pin T0400891 CM-M-11
HP-CM-514-M-15 Hydrant, Clow Medallion, 5-1/4 in, Drain Valve Facing Pins T0401030 CM-M-15
HP-CM-514-M-16 Hydrant, Clow Medallion, 5-1/4 in, Drain Valve Facing (Slides), T1600804 CM-M-16
HP-CM-514-M-17 Hydrant, Clow Medallion, 5-1/4 in, Upper Valve Plate F1600803 CM-M-17
HP-CM-514-M-18 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Upper Seat Ring, EPDM T2401246 CM-M-18
HP-CM-514-M-19 Hydrant, Clow Medallion, 5-1/4 in, Valve Seat Ring, Bronze F1600805 CM-M-19
HP-CM-514-M-20 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Lower Seat Ring, EPDM T2401317 CM-M-20
HP-CM-514-M-21 Hydrant, Clow Medallion, 5-1/4 in, Main Valve Rubber Seat T1600802 CM-M-21
HP-CM-514-M-25 Hydrant, Clow Medallion, 5-1/4 in, Weather Cap Hold Down Screw T0400748 CM-M-25
HP-CM-514-M-26-P Hydrant, Clow Medallion, 5-1/4 in, Weather Cap, 1-1/2 Pntgrm M0800601 CM-M-26-P
HP-CM-514-M-28 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Thrust Nut, Buna T2410288 CM-M-28
HP-CM-514-M-29 Hydrant, Clow Medallion, 5-1/4 in, Bonnet Bolt-Nut Set T0400929-T0400347 CM-M-29
HP-CM-514-M-31 Hydrant, Clow Medallion, 5-1/4 in, O-Rings, Stem T2401026 CM-M-31
HP-CM-514-M-32 Hydrant, Clow Medallion, 5-1/4 in, O-Ring, Bonnet, Buna T2401040 CM-M-32
HP-CM-514-M-37 Hydrant, Clow Medallion, 5-1/4 in, Gskt, Pumper Nozzle Cap T0600549
HP-CM-514-M-41 Hydrant, Clow Medallion, 5-1/4 in, Hose Nozzle CM-M-41
HP-CM-514-M-42 Hydrant, Clow Medallion, 5-1/4 in, Gskt, Hose Nozzle Cap
HP-CM-514-M-43 Hydrant, Clow Medallion, 5-1/4  in, Cap, Hose Nozzle
HP-CM-514-M-47 Hydrant, Clow Medallion, 5-1/4 in, Safety Flng O-Rings CM-M-47
HP-CM-514-M-49 Hydrant, Clow Medallion, 5-1/4 in, Safety Flng I1600808, Pairs CM-M-49
HP-CM-514-M-51 Hydrant, Clow Medallion, 5-1/4 in, Shoe Bolts & Nut Set T0400979-T0401052 CM-M-51
HP-CM-514-M-KBFR Hydrant, Clow Medallion, 5-1/4 in, Kit, Break Flng Repair R1620653 / R1620859 SS
HP-CM-514-M-KMVR Hydrant, Clow Medallion, 5-1/4 in, Kit, Main Valve Repair
HP-CM-514-M-KX06 Hydrant, Clow Medallion, 5-1/4 in, Kit,  6 in Extension CR1620664
HP-CM-514-M-KX12 Hydrant, Clow Medallion, 5-1/4 in, Kit, 12 in Extension KX12
HP-CM-514-M-KX18 Hydrant, Clow Medallion, 5-1/4 in, Kit, 18 in Extension CR1620666
HP-CM-514-M-KX24 Hydrant, Clow Medallion, 5-1/4 in, Kit, 24 in Extension R1621010
HP-CM-514-VPA-RBK Hydrant, Clow Medallion, Valve Plate Assy, Rebuild Kit M15-M24 R1621155
HP-K11-514-01 Hydrant, Kennedy K11, 5-1/4 in, Cap Bolt-Nut Set 444364P-442484P, 2 ea K11-01
HP-K11-514-03 Hydrant, Kennedy K11, 5-1/4 in, Alemite Fttng 441670P K11-03
HP-K11-514-04 Hydrant, Kennedy K11, 5-1/4 in, O-Ring, Weather Seal 442650P K11-04
HP-K11-514-05 Hydrant, Kennedy K11, 5-1/4 in, Cap 3185952 K11-05
HP-K11-514-05-10-12 Hydrant, Kennedy K11, 5-1/4 in, O-Ring Set, Dry Top; 2-442650P, 1-442644P K11-05/10/12
HP-K11-514-07 Hydrant, Kennedy K11, 5-1/4 in, Lock Nut Thrust Washer 445843P K11-07
HP-K11-514-09 Hydrant, Kennedy K11, 5-1/4 in, Cover Plt Blt-Nut Set 444358P-442484P, 4ea K11-09
HP-K11-514-11 Hydrant, Kennedy K11, 5-1/4 in, Gskt, Cover Plate 441803P K11-11
HP-K11-514-12 Hydrant, Kennedy K11, 5-1/4 in, O-Ring Set, Cover Plate, Dry Top 442644P K11-12

24Q-254 CNT | Page 22 of 44

EXHIBIT A

24Q-254 CNT | Page 22 of 44

DRAFT



HP-K11-514-20 Hydrant, Kennedy K11, 5-1/4 in, Stem Brkng Cplng 3185522 K11-20
HP-K11-514-22 Hydrant, Kennedy K11, 5-1/4 in, Cplng Pins 442886P K11-22
HP-K11-514-23 Hydrant, Kennedy K11, 5-1/4 in, Gskt, Standpipe Brkng Ring 441812P K11-23
HP-K11-514-32 Hydrant, Kennedy K11, 5-1/4 in, Seat Ring 3185982 K11-32
HP-K11-514-33 Hydrant, Kennedy K11, 5-1/4 in, Gskt, Seat Ring 441820P K11-33
HP-K11-514-36 Hydrant, Kennedy K11, 5-1/4 in, Main Valve 445778P K11-36
HP-K11-514-KX12 Hydrant, Kennedy K11, 5-1/4 in, Kit, Ext,12 in K11-1580012RX211W
HP-K81A-4/5-01 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Alemite Fitting 441670P K81A-4/5-01
HP-K81A-4/5-04 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Stem Nut, OL 3185944 3185944
HP-K81A-4/5-05-OL Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, O-Ring, Stem Nut, O/L 442705P 442704P
HP-K81A-4/5-06 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Thrust Washer 445843P K81A-4/5-6
HP-K81A-4/5-11 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, O-Ring, Cap 442644P, 2 ea 442644P
HP-K81A-4/5-14-OL Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Upper Stem, O/L 2310192 2310192
HP-K81A-4/5-14-OR Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Upper Stem, O/R 2310193 K81A-4/5-14O/R
HP-K81A-4/5-16 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Stem Brkng Cplng 318563P 444331P
HP-K81A-4/5-22R Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Cplng Pin 443022P 443022P
HP-K81A-4/5-23 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Lower Stem K81A-4/5-23
HP-K81A-4/5-45 Hydrant, Kennedy K81A, 4-1/2-5-1/4 in, O-Ring, Hose Nozzle, 442788P 442788P
HP-K81A-4/5-46 Hydrant, Kennedy K81A, 4-1/2 - 5-1/4 in, Stm LckNut SetScrw 444438P K81A-4/5-46
HP-K81A-412-07 Hydrant, Kennedy K81A, 4-1/2 in, Hydrant Cap 3313922 K81A-412-7
HP-K81A-412-08 Hydrant, Kennedy K81A, 4-1/2 in, Cap Bolt-Nut Set 444352P-477495P, 8 ea K81A-412-8
HP-K81A-412-09-08E Hydrant, Kennedy K81A, 4-1/2 in, Gskt, Cap, 442772P, 2008 & Earlier 441799P
HP-K81A-412-09-09L Hydrant, Kennedy K81A, 4-1/2 in, Gskt, Cap, 442772P, 2009 & Later 442772P
HP-K81A-412-19 Hydrant, Kennedy, K81A, 4-1/2, Safety Flange K81A-412-19
HP-K81A-412-26A Hydrant, Kennedy K81A, 4-1/2 in, O-Ring, Seat Ring, Upper 442660P K81A-4½-26A
HP-K81A-412-28 Hydrant, Kennedy K81A, 4-1/2 in, Seat Ring 3313962 K81A-4½-28
HP-K81A-412-30 Hydrant, Kennedy K81A, 4-1/2 in, O-Ring, Seat Ring, Lower 442785P K81A-4½-30
HP-K81A-412-31 Hydrant, Kennedy K81A, 4-1/2 in, Main Valve 445776P K81A-4½-31
HP-K81A-412-8O Hydrant, Kennedy K81A, 4-1/2 in, Gskt, Cap, Pre-09 441799P K81A-412-9N
HP-K81A-412-KMVR Hydrant, Kennedy K81A, 4-1/2 in, Kit, Main Valve Repair 1583MVRKRNC
HP-K81A-412-KX12 Hydrant, Kennedy K81A, 4-1/2 in, Kit, Ext,12 in 1583012R2X81DDI
HP-K81A-514-05 Hydrant, Kennedy K81A, 5-1/4 in, O-Ring, Stem Nut 442705P K81A-514-5
HP-K81A-514-06 Hydrant, Kennedy K81A, 5-1/4 in, Thrust Washer, 445843P 445843P
HP-K81A-514-07 Hydrant, Kennedy K81A, 5-1/4 in, Hydrant Cap 3185962 K81A-514-7
HP-K81A-514-08 Hydrant, Kennedy K81A, 5-1/4 in, Cap Bolt-Nut Set 444358P-477497P, 6 ea K81A-514-8
HP-K81A-514-09-08E Hydrant, Kennedy K81A, 5-1/4 in, Gskt, Cap, 441803P, 2008 & Earlier K81A-514-9
HP-K81A-514-09-09L Hydrant, Kennedy K81A, 5-1/4 in, Gskt, Cap, Post-08 442794P, 2009 & Later K81A-514-9-O
HP-K81A-514-18 Hydrant, Kennedy K81A, 5-1/4 in, Brk Flng Blt-Nut St 444331P-442482P K81A-514-18
HP-K81A-514-19 Hydrant, Kennedy K81A, 5-1/4 in, Standpipe Brkng Ring 440415P 440415P
HP-K81A-514-20 Hydrant, Kennedy K81A, 5-1/4 in, O-Ring, Standpipe 441644P K81A-514-20
HP-K81A-514-21 Hydrant, Kennedy K81A, 5-1/4 in, Pin Clips K81A-514-21
HP-K81A-514-26A Hydrant, Kennedy K81A, 5-1/4 in, O-Ring, Seat Ring, Upper 442658P K81A-514-26A
HP-K81A-514-28 Hydrant, Kennedy K81A, 5-1/4 in, Seat Ring 3196772 K81A-514-28
HP-K81A-514-30 Hydrant, Kennedy K81A, 5-1/4 in, O-Ring, Seat Ring, Lower 442740P K81A-514-30
HP-K81A-514-31 Hydrant, Kennedy K81A, 5-1/4 in, Main Valve 445778P K81A-514-31
HP-K81A-514-43-212H Hydrant, Kennedy K81A, 5-1/4 in, Gskt, Nozzle Cap, 2-1/2 in Hose 441790P K81A-514-43-2½H
HP-K81A-514-43-412S Hydrant, Kennedy K81A, 5-1/4 in, Gskt, Nozzle Cap, 4-1/2 in Steamer 441796P K81A-514-43-4½S
HP-K81A-514-43-4S Hydrant, Kennedy K81A, 5-1/4 in, Gskt, Pumper Cap, 4 in Steamer 441794P K81A-514-43-4S
HP-K81A-514-44-212H Hydrant, Kennedy K81A, 5-1/4 in, Hose Nozzle Cap, 2-1/2 in 3200212
HP-K81A-514-KCR Hydrant, Kennedy, K81A,5-1/4, Kit Collision Repair K8149-514
HP-K81A-514-KMVR Hydrant, Kennedy K81A, 5-1/4 in, Kit, Main Valve 1585MVRKRNC
HP-K81A-514-KX06 Hydrant, Kennedy K81A, 5-1/4 in, Kit, Ext,  6 in
HP-K81A-514-KX12 Hydrant, Kennedy K81A, 5-1/4 in, Kit, Ext,12 in 585012R2X81DDI
HP-K81A-514-KX18 Hydrant, Kennedy K81A, 5-1/4 in, Kit, Ext,18 in 1585018R2X81DDI
HP-MH-129-514-01-96L Hydrant, M&H 129, 5-1/4 in, Weather Shield M491161, 1996 & Later MH-129-01
HP-MH-129-514-04-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Hold Nut M210015, 1996 & Later MH-129-04
HP-MH-129-514-05L-95 Hydrant, M&H 129, 5-1/4 in, Main Valve Rod, Lower, 1995 & Earlier
HP-MH-129-514-05U-95 Hydrant, M&H 129, 5-/14 in, Main Valve Rod, Upper, L or S, 1995 & Earlier
HP-MH-129-514-06-95E Hydrant, M&H 129, 5-1/4 in, Operating Nut, 1995 & Earlier MH-129-514-06-95E
HP-MH-129-514-07-96L Hydrant, M&H 129, 5-1/4 in, Thrust Washer M210222, 1996 & Later MH-129-07
HP-MH-129-514-09-95E Hydrant, M&H 129, 5-1/4 in, Bonnet Bolt-Nut Set, 1995 & Earlier
HP-MH-129-514-10-95E Hydrant, M&H 129, 5-1/4 in, Seal Plate Bolt & Nut Set, 1995 & Earlier
HP-MH-129-514-11-95E Hydrant, M&H 129, 5-1/4 in, Gskt, Cloth, Seal Plt, M211370, 1995 & Earlier MH-129-00-211370
HP-MH-129-514-11-96L Hydrant, M&H 129, 5-1/4 in, Upper Rod Assy, O/L M554331, 1996 & Later MH-129-11-96L
HP-MH-129-514-12-96L Hydrant, M&H 129, 5-1/4 in, Bonnet Bolts M200126, 1996 & Later MH-129-12
HP-MH-129-514-13-96L Hydrant, M&H 129, 5-1/4 in, Bonnet Nuts M200904, 1996 & Later MH-129-13

24Q-254 CNT | Page 23 of 44

EXHIBIT A

24Q-254 CNT | Page 23 of 44

DRAFT



HP-MH-129-514-14-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Bonnet-Rod M210506, 1996 & Later MH-129-14
HP-MH-129-514-15-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Bnnt-Brkln-Stdp M210645, 1996 & Later M210645
HP-MH-129-514-16-95E Hydrant, M&H 129, 5-1/4 in, Hose Nozzle, 95 & Earlier
HP-MH-129-514-16-96L Hydrant, M&H 129, 5-1/4 in, Cap, Hose Nozzle, M574012, 96 & Later
HP-MH-129-514-18-96L Hydrant, M&H 129, 5-1/4 in, Gskt, Hose Nozzle Cap, M210041, 96 & Later M210041
HP-MH-129-514-19-96L Hydrant, M&H 129, 5-1/4 in, Gskt, Pumper Nozzle Cap, M210162, 96 & Later M210162
HP-MH-129-514-21-95E Hydrant, M&H 129, 5-1/4 in, Gskt, Standpipe, 1995 & Earlier
HP-MH-129-514-22-95E Hydrant, M&H 129, 5-1/4 in, Standpipe B&N Set, 8 per, 1995 & Earlier
HP-MH-129-514-22-96L Hydrant, M&H 129, 5-1/4 in, Hose Nozzle, M454095, 1996 & Later
HP-MH-129-514-24-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Hose Nozzle M210557, 1996 & Later MH-129-24
HP-MH-129-514-25-95E Hydrant, M&H 129, 5-1/4 in, Main Valve Rubber Seat, 1995 & Earlier
HP-MH-129-514-29-96L Hydrant, M&H 129, 5-1/4 in, Sfty Stm-Brk Cplng M454591, 1996 & Later M454591
HP-MH-129-514-30-96L Hydrant, M&H 129, 5-1/4 in, Clevis Pin, M201199, 1996 & Later MH-129-30
HP-MH-129-514-31-96L Hydrant, M&H 129, 5-1/4 in, Retaining Clip M201198, 1996 & Later MH-129-31
HP-MH-129-514-32-96L Hydrant, M&H 129, 5-1/4 in, Safety Flng Bolts M200788, 1996 & Later MH-129-32
HP-MH-129-514-33-96L Hydrant, M&H 129, 5-1/4 in, Safety Flng Nuts M200906, 1996 & Later MH-129-33
HP-MH-129-514-34-96L Hydrant, M&H 129, 5-1/4 in, Safety Flange, Half M226231, 1996 & Later MH-129-34
HP-MH-129-514-36-95E Hydrant, M&H 129, 5-1/4 in, Oper Nut Seal, Felt or O-Ring, 1995 & Earlier
HP-MH-129-514-37-96L Hydrant, M&H 129, 5-1/4 in, Lower Rod/Lower Stem, 4 ft bury, 96 & Later M454321
HP-MH-129-514-38-95E Hydrant, M&H 129, 5-1/4 in, Breakaway Cplng B&N Set, 1995 & Earlier
HP-MH-129-514-39-95E Hydrant, M&H 129, 5-1/4 in, Breakable Bolt-Nut Set, 8/Hyd, 1995 & Earlier
HP-MH-129-514-40-95E Hydrant, M&H 129, 5-1/4 in, Breakaway Coupling, 1995 & Earlier
HP-MH-129-514-42-95E Hydrant, M&H 129, 5-1/4 in, Seal Plate O-Ring, 1995 & Earlier
HP-MH-129-514-44-95E Hydrant, M&H 129, 5-1/4 in, Break Coupling Nut, 1995 & Earlier
HP-MH-129-514-48-96L Hydrant, M&H 129, 5-1/4 in, Main Valve Rubber-Seat M224009, 1996 & Later MH-129-48
HP-MH-129-514-51-96L Hydrant, M&H 129, 5-1/4 in, MV Seat Ring w/O-Rings M554064, 1996 & Later MH-129-51
HP-MH-129-514-52-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Uppr MV Seat Ring M210586, 1996 & Later MH-129-52
HP-MH-129-514-53-96L Hydrant, M&H 129, 5-1/4 in, O-Ring, Lwr MV Seat Ring M210518, 1996 & Later MH-129-53
HP-MH-129-514-KTR Hydrant, M&H 129, 5-1/4 in, Kit, Traffic Repair M442129 MH-129-TRK-442129
HP-MH-129-514-KX06 Hydrant, M&H 129, 5-1/4 in, Kit, Ext, 6 in
HP-MH-129-514-KX12 Hydrant, M&H 129, 5-1/4 in, Kit, Ext,12 in MH-129-EXK12
HP-MH-929-4/5-KBR Hydrant, M&H 929, 4-1/2 - 5-1/4 in, Kit, Brkwy Repair
HP-MH-929-514-07 Hydrant, M & H 929, 5-1/4 in, Thrust Washer
HP-MH-929-514-11 Hydrant, M & H 929, 5-1/4 in, Upper Rod/Stem Assy
HP-MH-929-514-15 Hydrant, M & H 929, 5-1/4 in, O-Ring, Nozzle-Standpipe
HP-MH-929-514-22 Hydrant, M & H 929, 5-1/4 in, Hose Nozzle
HP-MH-929-514-24 Hydrant, M & H 929, 5-1/4 in, O-Ring, Hose Nozzle
HP-MH-929-514-25 Hydrant, M & H 929, 5-1/4 in, O-Ring, Pumper Nozzle
HP-MH-929-514-32 Hydrant, M & H 929, 5-1/4 in, Safety Lug Bolts, Sold w/-33 Nuts
HP-MH-929-514-33 Hydrant, M & H 929, 5-1/4 in, Safety Lug Nuts, Sold w/-32 Bolts
HP-MH-929-514-34 Hydrant, M & H 929, 5-1/4 in, Safety Lugs
HP-ML-4/5-A-18 Hydrant, Mueller Super Cent, 4-1/2 - 5-1/4 in, Hose Nzzl Ins, 2-1/2 in ML-A-18
HP-ML-4/5-KBNR Hydrant, Mueller Super Cent, 4-1/2 - 5-1/4 in, Kit, Bonnet Repair ML-A-423-280355
HP-ML-4/5-KBR Hydrant, Mueller Super Cent, 4-1/2 - 5-1/4 in, Kit, Brkwy Repair ML-R1300/1101
HP-ML-412-A-10-96E Hydrant, Mueller Super Cent, 4-1/2 in, Bnnt Flng Gskt, Flat, 1996 & Earlier
HP-ML-412-A-10-97L Hydrant, Mueller Super Cent, 4-1/2 in, Bnnt Flng O-Ring, 1997 & Later
HP-ML-412-A43 Hydrant, Mueller Super Cent, 4-1/2in, BZ Seat Ring, A43 A-43, 142830
HP-ML-412-A-45-96E Hydrant, Mueller Super Cent, 4-1/2 in, Main Valve, 1996 & Earlier ML-A-45
HP-ML-412-A-45-97L Hydrant, Mueller Super Cent, 4-1/2 in, Main Valve, 1997 & Later
HP-ML-412-KBC Hydrant, Mueller Super Cent, 4-1/2 in, Kit, Bonnet Conversion
HP-ML-412-KMVR Hydrant, Mueller Super Cent, 4-1/2 in, Kit, Main Valve Repair ML-A-423-280358
HP-ML-412-KSFR Hydrant, Mueller Super Cent, 4-1/2 in, Kit, Safety Flng Repair ML-A-423-A-300
HP-ML-412-KSR-96E Hydrant, Mueller Super Cent, 4-1/2 in, Kit, Shoe Repair, 1996 & Earlier ML-A-423-280356
HP-ML-412-KX12 Hydrant, Mueller Super Cent, 4-1/2 in, Kit, Ext,12 in ML-A-421-319-12
HP-ML-514-A-01 Hydrant, Mueller Super Cent, 5-1/4 in, Oper Nut ML-A-01
HP-ML-514-A-03 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Hold Down Nut ML-A-03
HP-ML-514-A-03-75L Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Hold Down Nut, 75 & Later
HP-ML-514-A-03-97L Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Hold Down Nut, 97 & Later SM-A-03
HP-ML-514-A-05 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Bonnet ML-A-05
HP-ML-514-A-06 Hydrant, Mueller Super Cent, 5-1/4 in, A-F Washer ML-A-06
HP-ML-514-A-09 Hydrant, Mueller Super Cent, 5-1/4 in, Bonnet Bolt-Nut ML-A-09
HP-ML-514-A-10-96E Hydrant, Mueller Super Cent, 5-1/4 in, Bnnt Flng Gskt, Flat, 1996 & Earlier
HP-ML-514-A-10-97L Hydrant, Mueller Super Cent, 5-1/4 in, Bnnt Flng O-Ring, 1997 & Later ML-A-10
HP-ML-514-A-11 Hydrant, Mueller Super Cent, 5-1/4 in, Upper Stem ML-A-11
HP-ML-514-A-11-87L-L Hydrant, Mueller Super Cent, 5-1/4 in, Upper Stem, LH, 87 & Later, 184092
HP-ML-514-A-12 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Stem ML-A-12

24Q-254 CNT | Page 24 of 44

EXHIBIT A

24Q-254 CNT | Page 24 of 44

DRAFT



HP-ML-514-A-12-75L Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Stem, 75 & Later, 194514
HP-ML-514-A-25 Hydrant, Mueller Super Cent, 5-1/4 in, Safety Stem Cplng ML-A-25
HP-ML-514-A-26 Hydrant, Mueller Super Cent, 5-1/4 in, Safety Flng Bolt-Nut ML-A-26
HP-ML-514-A-27 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Safety Flange ML-A-27
HP-ML-514-A-28 Hydrant, Mueller Super Cent, 5-1/4 in, Safety Flange ML-A-28
HP-ML-514-A-29 Hydrant, Mueller Super Cent, 5-1/4 in, Cotter Pin ML-A-29
HP-ML-514-A-30 Hydrant, Mueller Super Cent, 5-1/4 in, Clevis Pin ML-A-30
HP-ML-514-A-36 Hydrant, Mueller Super Cent, 5-1/4 in, Upper Plate Valve ML-A-36
HP-ML-514-A-39 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Seat Ring, Top ML-A-39
HP-ML-514-A-43 Hydrant, Mueller Super Cent, 5-1/4 in, Seat Ring ML-A-43
HP-ML-514-A-44 Hydrant, Mueller Super Cent, 5-1/4 in, O-Ring, Seat Ring, Bottom ML-A-44
HP-ML-514-A-45-97L Hydrant, Mueller Super Cent, 5-1/4 in, Main Valve ML-A-45 190353
HP-ML-514-A-85 Hydrant, Mueller Super Cent, 5-1/4 in, Weather Seal ML-A-85
HP-ML-514-KMVR Hydrant, Mueller Super Cent, 5-1/4 in, Kit, Main Valve Repair ML-A-423 / M280359
HP-ML-514-KSFR Hydrant, Mueller Super Cent, 5-1/4 in, Kit, Safety Flng Repair ML-A-423-A-301
HP-ML-514-KSR-96E Hydrant, Mueller Super Cent, 5-1/4 in, Kit, Shoe Repair, 1996 & Earlier ML-A-423-280357
HP-ML-514-KX12 Hydrant, Mueller Super Cent, 5-1/4 in, Kit, Ext,12 in ML-A-423-320-12
HP-ML-514-KX18 Hydrant, Mueller Super Cent, 5-1/4 in, Kit, Ext,18 in, A-423 A-423-514
HP-ML-STD-412-18-69E Hydrant, Mueller Standard, 4-1/2 in, Main Valve, 1969 & Earlier
HP-ML-STD-412-24 Hydrant, Mueller Standard, 4-1/2 in, Seat Ring
HP-ML-STD-412-24-69E Hydrant, Mueller Standard, 4-1/2 in, Seat Ring, 1969 & Earlier
HP-ML-STD-412-KBC69E Hydrant, Mueller Standard, 4-1/2 in, Kit, Bonnet Conversion, 1969 & Earlier ML-A-423-BCK
HP-ML-STD-514-06 Hydrant, Mueller Standard, 5-1/4 in, O-Ring, Oper Nut ML-STD-514-4
HP-ML-STD-514-07 Hydrant, Mueller Standard, 5-1/4 in, Gskt, Bonnet ML-STD-514-7
HP-ML-STD-514-24 Hydrant, Mueller Standard, 5-1/4 in, Seat Ring ML-STD-514-24
HP-ML-STD-514-42 Hydrant, Mueller Standard, 5-1/4 in, O-Ring, Upper Stem-Bonnet ML-STD-514-42
HP-WB67-250-514-003 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Lower Valve Seat WP-WB67-003
HP-WB67-250-514-006A Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Hex Head Bolt WP-WB67-006A
HP-WB67-250-514-006B Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Bolt WP-WB67-006B
HP-WB67-250-514-006C Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Hex Nut WP-WB67-006C
HP-WB67-250-514-010 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Cap, Hose-Pumper Nozzle
HP-WB67-250-514-011 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Hose-Pumper Cap Gskt WP-WB67-011
HP-WB67-250-514-016 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Flathead Screw WP-WB67-016
HP-WB67-250-514-031 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Valve Seat WP-WB67-031
HP-WB67-250-514-035 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Main Valve Rubber WP-WB67-035
HP-WB67-250-514-057 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Oper Nut WP-WB67-057
HP-WB67-250-514-059 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Support Wheel WP-WB67-059
HP-WB67-250-514-062B Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Upper Standpipe Flng WP-WB67-062B
HP-WB67-250-514-064 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Flng Lock Ring WP-WB67-064
HP-WB67-250-514-067 Hydrant, Waterous Pacer WB67-250-WB77, 5-1/4 in, Cplng Halves WP-WB67-067
HP-WB67-250-514-071 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Upper Rod, Traffic WP-WB67-071
HP-WB67-250-514-077 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Upper Valve Seat WP-WB67-077
HP-WB67-250-514-082 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Upper Tube Seal WP-WB67-082
HP-WB67-250-514-083 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, O-Ring, Lower Tube Seal WP-WB67-083
HP-WB67-250-514-084 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Supp. Wheel-Lower Stndpipe Gskt WP-WB67-084
HP-WB67-250-514-087 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Cplng Nut WP-WB67-087
HP-WB67-250-514-089 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Nozzle Section Bshng WP-WB67-089
HP-WB67-250-514-090 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Thrust Ring WP-WB67-090
HP-WB67-250-514-092 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Gskt, Upper Standpipe WP-WB67-092
HP-WB67-250-514-09A Hydrant, Waterous Pacer, WB67-250, 5-1/4in, Nozzle Chain, Single WB67-250 09A
HP-WB67-250-514-113 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Brkble Flange WP-WB67-113
HP-WB67-250-514-173 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Valve Seat Insert WP-WB67-173
HP-WB67-250-514-174 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Valve Seat Insert Gskt WP-WB67-174
HP-WB67-250-514-63 Hydrant, Waterous Pacer, WB67-250, 5-1/4in, Stand Pipe Flange WB67-250 #63
HP-WB67-250-514-K12N Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Kit, Ext,12 in, Non-Traffic WB6712
HP-WB67-250-514-K12T Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Kit, Ext,12 in, Traffic WP-K562-12-525T
HP-WB67-250-514-KB+8 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Kit, Brkwy Repair, Post 6-80 WP-K528-12-525Post80
HP-WB67-250-514-KB-8 Hydrant, Waterous Pacer WB67-250, 5-1/4 in, Kit, Brkwy Repair, Pre 6-80 WP-K525-12-525Pre80
HP-WB77-K713-OL Hydrant, Waterous Trend WB77, 5-1/4 in, Kit, Upper Valve Rod B713-L
HP-WT-WB77-1-434-87 Hydrant, Waterous Trend WB77-1, 4-3/4 in, Hex Nut, Sold w/-88 WT-WB77-01-87
HP-WT-WB77-1-434-88 Hydrant, Waterous Trend WB77-1, 4-3/4 in, Hex Stud, Sold w/-87 WT-WB77-01-88
HP-WT-WB77-514-02 Hydrant, Waterous Trend WB77, 5-1/4 in, Weather Shield Nut WT-WB77-02
HP-WT-WB77-514-03 Hydrant, Waterous Trend WB77, 5-1/4 in, Spirol Pin WT-WB77-03
HP-WT-WB77-514-04 Hydrant, Waterous Trend WB77, 5-1/4 in, O-Ring, Oper Nut WT-WB77-04
HP-WT-WB77-514-05 Hydrant, Waterous Trend WB77, 5-1/4 in, Thrust Bshng WT-WB77-05
HP-WT-WB77-514-17A Hydrant, Waterous Trend WB77, 5-1/4 in, Hex Bolt WT-WB77-17A

24Q-254 CNT | Page 25 of 44

EXHIBIT A

24Q-254 CNT | Page 25 of 44

DRAFT



HP-WT-WB77-514-17B Hydrant, Waterous Trend WB77, 5-1/4 in, Hex Nut WT-WB77-17B
HP-WT-WB77-514-29 Hydrant, Waterous Trend WB77, 5-1/4 in, Seat Assy Valve WT-WB77-29
HP-WT-WB77-514-31 Hydrant, Waterous Trend WB77, 5-1/4 in, O-Ring, Valve Seat WT-WB77-31
HP-WT-WB77-514-32 Hydrant, Waterous Trend WB77, 5-1/4 in, Main Valve Rubber WT-WB77-32
HP-WT-WB77-514-49 Hydrant, Waterous Trend WB77, 5-1/4 in, Gskt, Standpipe, Lipped WT-WB77-49
HP-WT-WB77-514-55 Hydrant, Waterous Trend WB77, 5-1/4 in, O-Ring, Pumper Nozzle WB77-55
HP-WT-WB77-514-63 Hydrant, Waterous Trend WB77, 5-1/4 in, Standpipe Flange 514-63
HP-WT-WB77-514-89 Hydrant, Waterous Trend WB77, 5-1/4 in, Nozzle Section Bshng WT-WB77-89
HP-WT-WT77-434-02 Hydrant, Waterous Trend WT77, 4-3/4 in, Weather Shield Nut WT-WT77-02
HP-WT-WT77-434-03 Hydrant, Waterous Trend WT77, 4-3/4 in, Spirol Pin WT-WT77-03
HP-WT-WT77-434-04 Hydrant, Waterous Trend WT77, 4-3/4 in, O-Ring, Oper Nut WT-WT77-04
HP-WT-WT77-434-05 Hydrant, Waterous Trend WT77, 4-3/4 in, Thrust Bshng WT-WT77-05
HP-WT-WT77-434-07 Hydrant, Waterous Trend WT77, 4-3/4 in, Cap, Hose Nozzle
HP-WT-WT77-434-08 Hydrant, Waterous Trend WT77, 4-3/4 in, Gskt, Hose Nozzle Cap
HP-WT-WT77-434-14 Hydrant, Waterous Trend WT77, 4-3/4 in, Cplng Sleeves, Two Halves WT-WT77-14
HP-WT-WT77-434-15 Hydrant, Waterous Trend WT77, 4-3/4 in, Cplng Nut WT-WT77-15
HP-WT-WT77-434-17AB Hydrant, Waterous Trend WT77, 4-3/4 in, Bolt & Nut, Top & Bottom, SS WT-WT77-17A/B
HP-WT-WT77-434-21 Hydrant, Waterous Trend WT77, 4-3/4 in, Lock Ring Clamp WT-WT77-21
HP-WT-WT77-434-29 Hydrant, Waterous Trend WT77, 4-3/4 in, Main Valve Seat WT-WT77-29
HP-WT-WT77-434-31 Hydrant, Waterous Trend WT77, 4-3/4 in, O-Rings, MV Seat, Upper & Lower WT-WT77-31
HP-WT-WT77-434-32 Hydrant, Waterous Trend WT77, 4-3/4 in, Main Valve Rubber WT-WT77-32
HP-WT-WT77-434-38 Hydrant, Waterous Trend WT77, 4-3/4 in, O-Ring, Upper Rod WT-WT77-38
HP-WT-WT77-434-48 Hydrant, Waterous Trend WT77, 4-3/4 in, Main Valve Seat Insert WT-WT77-48
HP-WT-WT77-434-49 Hydrant, Waterous Trend WT77, 4-3/4 in, Gskt, Standpipe, Lipped WT-WT77-49
HP-WT-WT77-434-84 Hydrant, Waterous Trend WT77, 4-3/4 in, Spprt Whl-Lwr Stndpipe Gskt WT-WT77-084
HP-WT-WT77-434-K12N Hydrant, Waterous Trend WT77, 4-3/4 in, Kit, Ext,12 in, Non-Traffic Model WT-WT77-K562-12-NT
HP-WT-WT77-514-31 Hydrant, Waterous Trend WT77, 5-1/4in, O-Ring-31 WT77-31
HP-WT-WT77D-434-03 Hydrant, Waterous Trend WT77D, 4-3/4 in, Spirol Pin WT-WT77D-03
HP-WT-WT77D-434-04 Hydrant, Waterous Trend WT77D, 4-3/4 in, O-Ring, Oper Nut Hsg-Nozzle Sect WT-WT77D-04
HP-WT-WT77D-434-05 Hydrant, Waterous Trend WT77D, 4-3/4 in, Thrust Bshng WT-WT77D-05
HP-WT-WT77D-434-08 Hydrant, Waterous Trend WT77D, 4-3/4 in, Gskt, Hose or Pumper Cap WT-WT77D-08
HP-WT-WT77D-434-14 Hydrant, Waterous Trend WT77D, 4-3/4 in, Cplng Sleeves, Two Halves WT-WT77D-14
HP-WT-WT77D-434-15 Hydrant, Waterous Trend WT77D, 4-3/4 in, Cplng Nut, w/Bolt WT-WT77D-15
HP-WT-WT77D-434-16 Hydrant, Waterous Trend WT77D, 4-3/4 in, Standpipe Gskt WT-WT77D-16
HP-WT-WT77D-434-17A Hydrant, Waterous Trend WT77D, 4-3/4 in, Hex Head Bolt WT-WT77D-17A
HP-WT-WT77D-434-17B Hydrant, Waterous Trend WT77D, 4-3/4 in, Hex Nut WT-WT77D-17B
HP-WT-WT77D-434-20 Hydrant, Waterous Trend WT77D, 4-3/4 in, Nozzle Section Flange WT-WT77D-20
HP-WT-WT77D-434-21 Hydrant, Waterous Trend WT77D, 4-3/4 in, Lock Ring Clamp WT-WT77D-21
HP-WT-WT77D-434-38 Hydrant, Waterous Trend WT77D, 4-3/4 in, O-Ring, Upper Rod WT-WT77D-38
HP-WT-WT77D-434-49 Hydrant, Waterous Trend WT77D, 4-3/4 in, Standpipe Gskt, Lipped WT-WT77D-49
HP-WT-WT77D-434-KX12 Hydrant, Waterous Trend WT77D, 4-3/4 in, Kit, Ext,12 in WT-WT77D-K562-12
HY-B84B-5-514 Hydrant, Amer Darling B84B-5, 5-1/4 in, Open Left AD-B84B-5-5¼
HY-CM-412-03 Hydrant, Clow Medallion, 4-1/2in, 3ft bury
HY-CM-514-M Hydrant, Clow Medallion, 5-1/4 in, Open Left CM-M 5¼
HY-K11-514-DT Hydrant, Kennedy K11, 5-1/4 in, Dry Top K11 5¼ Dry Top
HY-K11-514-WT Hydrant, Kennedy K11, 5-1/4 in,  Wet Top K11 5¼ Wet Top
HY-K81A-514 Hydrant, Kennedy K81A, 5-1/4 in, 4 ft bury K81A
HY-ML-SC-412-03 Hydrant, Mueller Super Cent, 4-1/2in, 3ft bury A42136
HY-ML-SC-514-04 Hydrant, Mueller Super Cent, 5-1/4 in, 4 ft Bury ML-SC-514-A423
MS-PT-AS-HYDB-SFRD Paint, Safety RD Enamel, Hyd Body, 15oz V2163838
MS-PT-AS-HYDF-BTRD Paint, Bright RD Enamel, Hyd Flow < 0.5Kgpm, 15oz V2164838
MS-PT-AS-HYDF-PRBR Paint, Enamel Primer, Flat Red, Hydrant, 15oz V2169838
MS-PT-AS-HYDF-SFBL Paint, Safety BL Enamel, Hyd Flow > 1.5Kgpm, 15oz V2124838 / K02416777
MS-PT-AS-HYDF-SFGR Paint, Safety GR Enamel, Hyd Flow of 1K-1.5Kgpm, 15oz V2133838
MS-PT-AS-HYDF-SFOR Paint, Safety OR Enamel, Hyd Flow of 0.5K-1Kgpm, 15oz V2155838

24Q-254 CNT | Page 26 of 44

EXHIBIT A

24Q-254 CNT | Page 26 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
DI-GV-02-RS-FP Valve, Gate, Resilient Seat, Thrd 2 in FP, w/2 in Sq Nut AFC-2502SSOL/ 2F6103
DI-GV-03-RS-FL Valve, Gate, Resilient Seat, FLG ,  3 in 25-100-41
DI-GV-03-RS-FP Valve, Gate, Resilient Seat, Thrd FP 3 in, w/2 in Sq Nut AFC-2503SSOL
DI-GV-03-RS-MJ Valve, Gate, Resilient Seat, MJ 3 in, w/2 in Sq Nut AFC-2503MMLAOL
DI-GV-04-RS-FL Valve, Gate, Resilient Seat, FLG ,  4 in AFC-2504FFLAOL
DI-GV-04-RS-FP Valve, Gate, Resilient Seat, Thrd FP 4 in, w/2 in Sq Nut AFC-2504SSOL
DI-GV-04-RS-MJ Valve, Gate, Resilient Seat, MJ,  4 in AFC-2504MMLAOL
DI-GV-06-RS-FL Valve, Gate, Resilient Seat, FLG ,  6 in AFC-2506FFOL
DI-GV-06-RS-FP Valve, Gate, Resilient Seat, Thrd FP 6 in, w/2 in Sq Nut AFC-2506SSOL
DI-GV-06-RS-MJ Valve, Gate, Resilient Seat, MJ,  6 in AFC-2506MMLAOL
DI-GV-08-RS-FL Valve, Gate, Resilient Seat, FLG ,  8 in AFC-2508FFOL
DI-GV-08-RS-MJ Valve, Gate, Resilient Seat, MJ,  8 in AFC-2508MMLAOL
DI-GV-10-RS-MJ Valve, Gate, Resilient Seat, MJ, 10 in AFC-2510MMLAOL
DI-GV-12-RS-FL Valve, Gate, Resilient Seat, FLG , 12 in AFC-2512FFOL
DI-GV-12-RS-MJ Valve, Gate, Resilient Seat, MJ, 12 in AFC-2512MMLAOL
DI-PV-02-FP DI, Plug Valve, 2in, FP 5702TPVNMILL
SS-VL-2-ARSS-2-SWR Air Release Valve, Sewer Usage, Stainless Steel Case, 2 in inlet & outlet 48A
SS-PV-02-FP SS, Plug Valve, 316SS, 02, FP, Full Port 603AS

SS, Plug Valve, 316SS, 4", FP, Full Port
SS, Plug Valve, 316SS,6", FP, Full Port
SS, Plug Valve, 316SS, 8", FP, Full Port
SS, Plug Valve, 316SS, 12", FP, Full Port
2" DI, Plug Valve, Epoxy Coated for Sewer, Full Port, FP
4" DI, Plug Valve, Epoxy Coated for Sewer, Full Port, FP
6" DI, Plug Valve, Epoxy Coated for Sewer, Full Port, FP
8" DI, Plug Valve, Epoxy Coated for Sewer, Full Port, FP
12" DI, Plug Valve, Epoxy Coated for Sewer, Full Port, FP

Section 6- B6 Valves

24Q-254 CNT | Page 27 of 44

EXHIBIT A

24Q-254 CNT | Page 27 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
DI-CP-2B-03 DI Coupling, Two-Bolt,  Wide Range, 3in TX3
DI-CP-2B-06 DI Coupling, Two-Bolt, Wide Range, 6 in 86056016316
DI-CP-2B-08 DI Coupling, Two-Bolt, Wide Range, 8 in 421-08540985-031
DI-CP-2B-10 DI Coupling, Two-Bolt, Wide Range, 10 in 421-12621367-031
DI-CP-2B-12 DI Coupling, Two-Bolt, Wide Range, 12 in 86054031516
DI-CP-2B-14 DI Coupling, Two-Bolt, Wide Range, 14 in
DI-CP-4B-16 DI Coupling, Four-Bolt, Wide Range, 16 in 860-56-0434-165P
DI-CP-4B-24 DI Coupling, Four-Bolt, Wide Range, 24 in 860-56-0606-16P
SS-RC-0.88x3 SS Repair Clamp,  0.88 in D x 3 in L, for 3/4 in pipe FSC-088-3R
SS-RC-0.88x6 SS Repair Clamp,  0.88 in D x 6 in L, for 3/4 in pipe FSC-088-6R
SS-RC-01.05x3 SS Repair Clamp,  1.05 in D x 3 in L, for 3/4 in pipe FSC-105-3R
SS-RC-01.05x6 SS Repair Clamp,  1.05 in D x 6 in L, for 3/4 in pipe FSC-105-6R
SS-RC-01.13x3 SS Repair Clamp,  1.13 in D x 3 in L, for 1 in pipe FSC-113-3R
SS-RC-01.13x6 SS Repair Clamp,  1.13 in D x 6 in L, for 1 in pipe FSC-113-6R
SS-RC-01.32x3 SS Repair Clamp,  1.32 in D x 3 in L, for 1 in pipe FSC-132-3R
SS-RC-01.32x6 SS Repair Clamp,  1.32 in D x 6 in L, for 1 in pipe FSC-132-6R
SS-RC-01.63x3 SS Repair Clamp,  1.63 in D x 3 in L, for 1-1/2 in pipe FSC-163-3R
SS-RC-01.63x6 SS Repair Clamp,  1.63 in D x 6 in L, for 1-1/2 in pipe FSC-163-6R
SS-RC-01.90x3 SS Repair Clamp,  1.90 in D x 3 in L, for 1-1/2 in pipe FSC-190-3R
SS-RC-01.90x6 SS Repair Clamp,  1.90 in D x 6 in L, for 1-1/2 in pipe FSC-190-6R
SS-RC-02.13x3 SS Repair Clamp,  2.13 in D x 3 in L, for 2 in pipe FSC-213-3R
SS-RC-02.13x6 SS Repair Clamp,  2.13 in D x 6 in L, for 2 in pipe FSC-213-6R
SS-RC-02.25x6 SS Repair Clamp,  2.25 in D x 6 in L, for 2 in pipe FS1-225-6
SS-RC-02.38x3 SS Repair Clamp,  2.38 in D x 3 in L, for 2 in pipe FSC-238-3R
SS-RC-02.38x5-S4CJ SS Repair Clamp,  2.38 in D x 5 in L, for 2 in S40 Coupling Joint FCC-238
SS-RC-02.38x6 SS Repair Clamp,  2.38 in D x 6 in L, for 2 in pipe FSC238-6R
SS-RC-02.38x7.5-IBJ SS Repair Clamp,  2.38 x 7-1/2 in L, for 2 in Bell Joint FIBC-238/229-023807-000
SS-RC-02.63x07.5 SS Repair Clamp,  2.63-2.35 in D x  7-1/2 in L, for 2 in pipe F1-263-07.5
SS-RC-02.63x12.5 SS Repair Clamp,  2.63 in D x 12-1/2 in L, for 2 in pipe F1-263-12.5
SS-RC-02.63x15 SS Repair Clamp,  2.63 in D x 15 in L, for 2 in pipe F1-263-15
SS-RC-02.70Dx15 SS Repair Clamp, 2.70-3Dx15inL, for 2-1/2in S40 226-027515-000
SS-RC-02.70Dx7.5 SS Repair Clamp, 2.70-3inDx7-1/2L, for 2-1/2in S40 226-027507-000
SS-RC-03.70x07.5 SS Repair Clamp,  3.70 in D x  7-1/2 in L, for 3 in pipe F1-3.70-7.5
SS-RC-03.70x12.5 SS Repair Clamp,  3.70 in D x 12-1/2 in L, for 3 in pipe F1-370-12.5
SS-RC-04.50x5-S4CJ SS Repair Clamp,  4.50 in D x 5 in L, for S40 Coupling Joint FCC-450
SS-RC-04.50x7.5-IBJ SS Repair Clamp,  4.50 in D x 7-1/2 in L, for 160/200 IBJ FIBC-450-EDPM
SS-RC-04.73x07.5 SS Repair Clamp,  4.73 in D x  7-1/2 in L, for 4 in pipe F1-4.73-7.5
SS-RC-04.73x15 SS Repair Clamp,  4.73 in D x 15 in L, for 4 in pipe F1-473-15
SS-RC-04.85x15-S4BJ SS Repair Clamp,  4.85 in D x 15 in L, S40 PVC Bell Joint F1-485-15
SS-RC-05.14x07.5 SS Repair Clamp,  5.14 in D x  7-1/2 in L, for 4 in pipe F1-514-7.5
SS-RC-05.14x12.5 SS Repair Clamp,  5.14 in D x 12-1/2 in L, for 4 in pipe F1-514-12.5
SS-RC-05.14x15 SS Repair Clamp,  5.14 in D x 15 in L, for 4 in pipe F1-514-15
SS-RC-05.35x07.5 SS Repair Clamp,  5.35 in D x  7-1/2 in L, for 4 in pipe F1-535-75
SS-RC-05.35x15 SS Repair Clamp,  5.35 in D x 15 in L, for 4 in pipe F1-535-15
SS-RC-06.63x7.5-IBJ SS Repair Clamp,  6.63 in D x 7-1/2 in L, for 160/200 IBJ FIBC-663-EDPM
SS-RC-06.63x7.5-S4BJ SS Repair Clamp,  6.63 in D x 7-1/2 in L, for S40 BJ FCC-663
SS-RC-06.96x15 SS Repair Clamp,  6.96-6.56 in D x 15 in L, for 6 in pipe F1-696-15
SS-RC-07.24x15 SS Repair Clamp,  7.24-6.84 in D x 15 in L, for 6 in pipe F1-724-15
SS-RC-07.45x15 SS Repair Clamp,  7.45 in D x 15 in L, for 6 in pipe F1-745-15
SS-RC-08.63x7.5-IBJ SS Repair Clamp,  8.63 in D x 7-1/2 in L, for 160/200 IBJ FIBC-8.63-EDPM
SS-RC-08.94x15 SS Repair Clamp,  8.94 in D x 15 in L, for 8 in pipe F1-894-15
SS-RC-09.39x07.5 SS Repair Clamp,  9.39 in D x  7-1/2 in L, for 8 in pipe F1-939-07.5
SS-RC-09.39x15 SS Repair Clamp,  9.39 in D x 15 in L, for 8 in pipe F1-939-15
SS-RC-09.67x7.5 SS Repair Clamp,  9.67 in D x  7-1/2 in L, for 8 in pipe F1-967-07.5
SS-RC-11.04x15 SS Repair Clamp, 11.04 in D x 15 in L, for 10 in pipe F1-1104-15
SS-RC-11.44x10 SS Repair Clamp, 11.44 in D x 10 in L, for 10 in pipe F1-1144-10

Section 7- B7 Repair Clamps

24Q-254 CNT | Page 28 of 44

EXHIBIT A

24Q-254 CNT | Page 28 of 44

DRAFT



SS-RC-11.44x12.5 SS Repair Clamp, 11.44 in D x 12-1/2 in L, for 10 in pipe F1-1144-12.5
SS-RC-11.44x15 SS Repair Clamp, 11.44 in D x 15 in L, for 10 in pipe F1-1144-15
SS-RC-11.75x12.5 SS Repair Clamp, 11.75 in D x 12-1/2 in L, for 10 in pipe F1-1175-125
SS-RC-12.15x18 SS Repair Clamp, 12.15 in D x 18 in L, for 12 in pipe F1-1215-18
SS-RC-12.40x12 SS Repair Clamp, 12.40 in D x 12 in L, for 12 in pipe F1-1240-12
SS-RC-13.02x10 SS Repair Clamp, 13.02 in D x 10 in L, for 12 in pipe F1-1302-10
SS-RC-13.02x12 SS Repair Clamp, 13.02 in D x 12.5 in L, for 12 in pipe F1-1302-12.5
SS-RC-13.02x15 SS Repair Clamp, 13.02 in D x 15 in L, for 12 in pipe F1-1302-15
SS-RC-13.50x12.5 SS Repair Clamp, 13.50 in D x 12-1/2 in L, for 12 in pipe F1-1350-12.5
SS-RC-13.50x15 SS Repair Clamp, 13.50 in D x 15 in L, for 12 in pipe F1-1350-15
SS-RC-13.50x20 SS Repair Clamp, 13.50-13.10 in D x 20 in L, for 12 in pipe F1-1350-20
SS-RC-14.75x20 SS Repair Clamp, 16.24-14.75 x 20L, for 14in Pipe QCRS-20-1624-001EX
SS-RC-17.93x15 SS Repair Clamp, 16.30-17.93inD x15inL, for 16 in Pipe 224-56-0415-10
SS-RC-18.37x11 SS Repair Clamp, 17.11-18.37 in D x 11 in L, for 16 in pipe 283-56-0435-16
SS-RC-26.24x11 SS Repair Clamp, 24.98-26.24 in D x 11 in L, for 24 in pipe 283-56-0634-11
SS-RC-BE-2.70Dx7.5 SS Repair Clamp, Bell End, 2.70-3inDx7-1/2L, for 2-1/2in S40 229-028807-000
SS-RC-ERK-4x15 SS Repair Clamp, 5.24-4.44 in D x 15 in L, in E.R. KIT FS2-524-15-FSERK
SS-RC-ERK-6x15 SS Repair Clamp, 7.42-6.62 in D x 15 L, in E.R. KIT FS2-724-15-FSERK
SS-RC-ERK-A SS Repair Clamp, Band A, 15 in L, in E.R. KIT FS1-A-15-EDPM
SS-RC-ERK-B SS Repair Clamp, Band B, 15 in L, in E.R. KIT FS1-B-15-EDPM
SS-RC-ERK-C SS Repair Clamp, Band C, 15 in L, in E.R. KIT FS1-C-15-EDPM
SS-RC-ERK-D SS Repair Clamp, Band D, 15 in L, in E.R. KIT FSI-D-15-EDPM
SS-RC-ERK-E SS Repair Clamp, Band E, 15 in L, in E.R. KIT FS1-E-15-EDPM
SS-RC-T-0561-1F SS, RC, Tapped, 04.74-05.61, 1in IP T3SS-0561-1021-EX
SS-RC-T-0561-2F SS, RC, Tapped, 04.74-05.61, 2in IP T3SS-0561-2021-EX
SS-RC-T-0742-2F SS, RC, Tapped, 06.55-07.42, 2in IP T3SS-0742-2021EX-316
SS-RC-T-0745-2F SS, RC, Tapped, 7.05-7.45, 2F, for 6in AC Pipe F1-745-125-IP7
SS-RC-T-0939-2F SS, RC, Tapped, 8.99-9.39, 2F, for 8in AC Pipe F1-939-125-IP7
SS-RC-T-0944-2F SS, RC, Tapped, 08.54-09.44, 2in IP T3SS-0944-2021EX-316
SS-RC-T-1356-2F SS, RC, Tapped, 12.62-13.56, 2in IP TSS-1356-2021EX-316
SS-RC-T-2.70-1F SS, Repair Clamp, Tapped, 2.70, 1 inch IP, 2-1/2 PVC

16"x12" Tapping Sleeve, 316SS/304SS
16"x8" Tapping Sleeve, 316SS/304SS
16"x6" Tapping Sleeve, 316SS/304SS
16x4"  Tapping Sleeve, 316SS/304SS
12"x8" Tapping Sleeve, 316SS/304SS
12"x6" Tapping Sleeve, 316SS/304SS
12"x4" Tapping Sleeve, 316SS/304SS
8"x4" Tapping Sleeve, 316SS/304SS
6"x4" Tapping Sleeve, 316SS/304SS

24Q-254 CNT | Page 29 of 44

EXHIBIT A

24Q-254 CNT | Page 29 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
CM-FL-BK-02-CST Flange Bolt & Gskt Pck,  2 in, CS Nuts, Bolts, RD Rbbr Gskts
CM-FL-BK-03-316SS Flange Bolt & Gskt Pck, 3 in, 316SS Nuts,bolts, RD Rbbr Gskts
CM-FL-BK-03-CST Flange Bolt & Gskt Pck,  3 in, CS Nuts, Bolts, RD Rbbr Gskts PSNBGS41RF8M
CM-FL-BK-04-316SS Flange Bolt & Gskt Pck,  4 in, 316SS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-04-CST Flange Bolt & Gskt Pck,  4 in, CS Nuts, Bolts & RD Rbbr Gskts PSNBGS41RF8P
CM-FL-BK-04-ZST Flange Bolt & Gskt Pck,  4 in, ZS Nuts, Bolts & RD Rbbr Gskts BP4Z
CM-FL-BK-06-CST Flange Bolt & Gskt Pck,  6 in, CS Nuts, Bolts & RD Rbbr Gskts PSNBGS41RF8U
CM-FL-BK-06-316SS Flange Bolt & Gskt Pck,  6 in,316SS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-06-CST Flange Bolt & Gskt Pck,  6 in, CS Nuts, Bolts & RD Rbbr Gskts PSNBGS41RF8U
CM-FL-BK-08-CST Flange Bolt & Gskt Pck,  8 in, CS Nuts, Bolts & RD Rbbr Gskts PSNBGS41RF8X
CM-FL-BK-08-316SS Flange Bolt & Gskt Pck,  8 in, 316SS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-12-CST Flange Bolt & Gskt Pck, 12 in, CS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-12-316SS Flange Bolt & Gskt Pck, 12 in, 316SS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-16-316SS Flange Bolt & Gskt Pck, 16 in, 316SS Nuts, Bolts & RD Rbbr Gskts
CM-FL-BK-12-316SS Flange Bolt & Gskt Pck, 24 in, 316SS Nuts, Bolts & RD Rbbr Gskts
CM-MJ-AK-03S-WG MJ Accessory Kit,  3 in, Standard, w/Gland IMJAPM
CM-MJ-AK-04S-WG MJ Accessory Kit,  4 in, Standard, w/Gland IMJAPP/ DGP-4
CM-MJ-AK-06S-WG MJ Accessory Kit,  6 in, Standard, w/Gland IMJAPU
CM-MJ-AK-08S-WG MJ Accessory Kit,  8 in, Standard, w/Gland IMJAPX / DGP-8
CM-MJ-AK-08T-WG MJ Accessory Kit,  8 in, Transition, w/Gland IMJTAPX / 21AMMJR08
CM-MJ-AK-10S-WG MJ Accessory Kit, 10 in, Standard, w/Gland IMJAP10
CM-MJ-AK-10T-WG MJ Accessory Kit, 10 in, Transition, w/Gland IMJTAP10
CM-MJ-AK-12S-WG MJ Accessory Kit, 12 in, Standard, w/Gland IMJAP12
CM-MJ-AK-12T-WG MJ Accessory Kit, 12 in, Transition, w/Gland IMJTAP12
CM-MJ-BK-03S-LG MJ Bolt & Gskt Pack,  3 in, Standard, w/o Gland IMJBGPM
CM-MJ-BK-04S-LG MJ Bolt & Gskt Pack,  4 in, Standard, w/o Gland IMJBGPP / 21AMMJR04LG
CM-MJ-BK-06S-LG MJ Bolt & Gskt Pack,  6 in, Standard, w/o Gland IMJBGPU / MK-6
CM-MJ-BK-06T-LG MJ Bolt & Gskt Pack,  6 in, Transition, w/o Gland IMJTAPU / MK-6-TR / SDXPU
CM-MJ-BK-08S-LG MJ Bolt & Gskt Pack,  8 in, Standard, w/o Gland IMJBGPX
CM-MJ-BK-08T-LG MJ Bolt & Gskt Pack,  8 in, Transition, w/o Gland IMJTBGPX
CM-MJ-BK-10S-LG MJ Bolt & Gskt Pack, 10 in, Standard, w/o Gland IMJBGP10
CM-MJ-BK-10T-LG MJ Bolt & Gskt Pack, 10 in, Transition, w/o Gland IMJTBGP10
CM-MJ-BK-12S-LG MJ Bolt & Gskt Pack, 12 in, Standard, w/o Gland IMJBGP12
CM-MJ-BK-14S-LG MJ Bolt & Gskt Pack, 14 in, Standard, w/o Gland 21IAMMJR14LG
DI-CL-0412-S26PVC Bell Joint LK Clmp Kit,  4-1/2 in, for  4 in SDR26 PVC pipe FBC-450
DI-CL-05.0-DI Bell Joint LK Clmp Kit,  4.8-5.0 in, for  4 in iron pipe FBC-500
DI-CL-05-C9PVC Bell Joint LK Clmp Kit,  5 in, for  4 in C900 PVC pipe FBC-500-C900
DI-CL-0658-S26PVC Bell Joint LK Clmp Kit,  6-5/8 in, for  6 in SDR26 PVC pipe FBC-663
DI-CL-07.10-C9PVC Bell Joint LK Clmp Kit,  6.90-7.10 in, for  6 in C900 PVC pipe FBC-710-C900
DI-CL-07.10-DI Bell Joint LK Clmp Kit,  6.90-7.10 in, for  6 in iron piping FBC-710
DI-CL-08.63-S26PVC Bell Joint LK Clmp Kit,  8.63 in, for  8 in SDR26 PVC pipe FBC-863
DI-CL-09.30-C9PVC Bell Joint LK Clmp Kit,  9.05-9.30 in, for  8 in C900 PVC pipe FBC-930-C900
DI-CL-09.30-DI Bell Joint LK Clmp Kit,  9.05-9.30 in, for  8 in iron piping FBC-930
DI-CL-10.75-S26PVC Bell Joint LK Clmp Kit, 10.75 in, for 10 in SDR26 PVC pipe FBC-1075
DI-CL-11.40-C9PVC Bell Joint LK Clmp Kit, 11.10-11.40 in, for 10 in C900 PVC pipe FBC-1140-C900
DI-CL-11.40-DI Bell Joint LK Clmp Kit, 11.10-11.40 in, for 10 in iron piping FBC-1140
DI-CL-12.75-S26PVC Bell Joint LK Clmp Kit, 12.75 in, for 12 in SDR26 PVC pipe FBC-1275
DI-CL-13.50-C9PVC Bell Joint LK Clmp Kit, 13.50 in, for 12 in C900 PVC pipe FBC-1350-C900
DI-CL-13.50-DI Bell Joint LK Clmp Kit, 13.20-13.50 in, for 12 in iron piping FBC-1350
DI-MJ-GD-03 MJ Gland Only,  3 in MJGM
DI-MJ-GD-04 MJ Gland Only,  4 in MJGP
DI-MJ-GD-06 MJ Gland Only,  6 in MJGU
DI-MJ-GD-08 MJ Gland Only,  8 in MJGX
DI-MJ-GD-10 MJ Gland Only, 10 in MJG10
DI-MJ-GD-12 MJ Gland Only, 12 in MJG12
DI-ML-03-DIP Mega Lug, for DI Pipe,  3 in SGDP03
DI-ML-03-PVC Mega Lug, for PVC Pipe,  3 in SPVC4003
DI-ML-04-DIP Mega Lug, for DI Pipe,  4 in SGDP04
DI-ML-04-PVCP Mega Lug, for PVC Pipe,  4 in SPVC4004 / SLC4
DI-ML-06-DIP Mega Lug, for DI Pipe,  6 in SGDP06
DI-ML-06-DIP-KIT Mega Lug, for DI Pipe,  6 in, Kit SSLC6AP

Section 8-  B8 Joint Restraint & Accessories

24Q-254 CNT | Page 30 of 44

EXHIBIT A

24Q-254 CNT | Page 30 of 44

DRAFT



DI-ML-06-PVCP Mega Lug, for PVC Pipe,  6 in SPVC4006 / SLC6
DI-ML-06-PVCP-3B Mega Lug, for PVC Pipe,  6 in, LP-6-PVC, 3 bolt TLP-2006
DI-ML-08-DIP Mega Lug, for DI Pipe,  8 in SGDP08
DI-ML-08-PVCP Mega Lug, for PVC Pipe,  8 in SPVC4008
DI-ML-10-DIP Mega Lug, for DI Pipe, 10 in SGDP10
DI-ML-10-PVCP Mega Lug, for PVC Pipe, 10 in SPVC4010 / SLC10
DI-ML-12-DIP Mega Lug, for DI Pipe, 12 in SGDP12
DI-ML-12-PVCP Mega Lug, for PVC Pipe, 12 in SPVC4012
DI-ML-12-PVCP-KIT Mega Lug, for PVC Pipe, 12 in, Kit SSLC12AP
DI-ML-14-DIP Mega Lug, for DI Pipe, 14 in SGDP14
DI-ML-14-PVCP Mega Lug, for PVC Pipe, 14 in SPVC4014
DI-ML-16-DIP Mega Lug, for DI Pipe, 16 in SGDP16
DI-ML-16-PVCP Mega Lug, for PVC Pipe, 16 in SPVC4016
DI-ML-18-DIP Mega Lug, for DI Pipe, 18 in SGDP18
DI-ML-18-PVCP Mega Lug, for PVC Pipe, 18 in SPVC4018
DI-ML-20-DIP Mega Lug, for DI Pipe, 20 in SGDP20
DI-ML-20-PVCP Mega Lug, for PVC Pipe, 20 in SPVC4020
DI-ML-24-DIP Mega Lug, for DI Pipe, 24 in SGDP24
DI-ML-24-PVCP Mega Lug, for PVC Pipe, 24 in SPVC4024
DI-ML-30-DIP Mega Lug, for DI Pipe, 30 in SGDP30
DI-ML-30-PVCP Mega Lug, for PVC Pipe, 30 in SPVC4030
DI-RC-2B-04 DI Restraint Coupling, Two-Bolt, Wide Range, 4 in RALPHAA490
DI-RC-2B-06 DI Restraint Coupling, Two-Bolt, Wide Range, 6 in RALPHAA700/K890560616516
DI-RC-2B-08 DI Restraint Coupling, Two-Bolt, Wide Range, 8 in RALPHAA9.10 or 890-56-08216-16
DI-RC-2B-10 DI Restraint Coupling, Two-Bolt, Wide Range, 10 in ALPHA-A-11.20 or Hymax Grip
DI-RC-2B-12 DI Restraint Coupling, Two-Bolt, Wide Range, 12 in APLHA-A-13.30
DI-RC-2B-16 DI Restraint Coupling, Two-Bolt, Wide Range, 16 in 890-56-16438-17 /2661785178515
DI-RC-2B-FG-06 DI Restraint Coupling, Two-Bolt, FL x Grip, 6 in ALPHAFC700
DI-RC-8-OMNI DI, Restraint Coupling, 8 in Omni, 8.54 - 9.85 7.44611E+12
DI-UF-03-FLG Uni-Flange Adptr Flange,  3 in, for DI Pipe UFA200-C-3/ZF2-C3
DI-UF-03-FLG-SPLT Uni-Flange Adptr Flange, Split, 3 in, for PVC pipe w/DI Pipe OD UFA900-C-3
DI-UF-04-FLG Uni-Flange Adptr Flange,  4 in, for DI Pipe UFA200-C-4/ZF2-C4
DI-UF-04-FLG-SPLT Uni-Flange Adptr Flange, Split, 4 in, for PVC pipe w/DI Pipe OD UFA900-C-4
DI-UF-06-FLG Uni-Flange Adptr Flange,  6 in, for DI Pipe UFA200-C-6/ZF2-C6
DI-UF-06-FLG-SPLT Uni-Flange Adptr Flange, Split, 6 in, for PVC pipe w/DI Pipe OD UFA900-C-6
DI-UF-08-FLG Uni-Flange Adptr Flange,  8 in, for DI Pipe UFA200-C-8/ZF2-C8
DI-UF-10-FLG Uni-Flange Adptr Flange, 10 in, for DI Pipe UFA200-C-10/ZF2-C10
RB-MJ-GK-03S MJ Rubber Gskt,  3 in, Standard IMJGAM
RB-MJ-GK-03T MJ Rubber Gskt,  3 in, Transition IMJTGM
RB-MJ-GK-04S MJ Rubber Gskt,  4 in, Standard MJGAP
RB-MJ-GK-04T MJ Rubber Gskt,  4 in, Transition IMJTGP / 4TG
RB-MJ-GK-06S MJ Rubber Gskt,  6 in, Standard IMJGAU
RB-MJ-GK-06T MJ Rubber Gskt,  6 in, Transition MJTGU
RB-MJ-GK-08S MJ Rubber Gskt,  8 in, Standard IMJGAX
RB-MJ-GK-08T MJ Rubber Gskt,  8 in, Transition MJTGX
RB-MJ-GK-10S MJ Rubber Gskt, 10 in, Standard IMJGA10
RB-MJ-GK-10T MJ Rubber Gskt, 10 in, Transition IMJTG10
RB-MJ-GK-12S MJ Rubber Gskt, 12 in, Standard IMJGA12
RB-MJ-GK-12T MJ Rubber Gskt, 12 in, Transition MJTG12
RR-FL-GK-03 Flange Gskt,  3 in, RD Rubber FNWR1RGAM
RR-FL-GK-04 Flange Gskt,  4 in, RD Rubber FNWR150FFGAP
RR-FL-GK-06 Flange Gskt,  6 in, RD Rubber FNWR150FFGAU
RR-FL-GK-08 Flange Gskt,  8 in, RD Rubber FNWR150FFGAX
RR-FL-GK-10 Flange Gskt, 10 in, RD Rubber FNWR150FFGA10
RR-FL-GK-12 Flange Gskt, 12 in, RD Rubber FNWR150FFGA12/24AFGFR12A
ST-BR-04-PVC Bell Rstrnt, Steel,  4 in, for PVC D-PWP-C4
ST-BR-06-PVC Bell Rstrnt, Steel,  6 in, for PVC PVPC6/1506TD
ST-BR-08-PVC Bell Rstrnt, Steel,  8 in, for PVC PVPC8
ST-BR-12-DI Bell Rstrnt, Steel, 12 in, for DI PWP-C4
ST-BR-12-PVC Bell Rstrnt, Steel, 12 in, for PVC PVP-C12
ST-BR-14-PVC Bell Restraint, Steel, 14 in, for PVC 21015557288

3" Megaflange Restrained Flange Adapter
4" Megaflange Restrained Flange Adapter

24Q-254 CNT | Page 31 of 44

EXHIBIT A

24Q-254 CNT | Page 31 of 44

DRAFT



6" Megaflange Restrained Flange Adapter
8" Megaflange Restrained Flange Adapter
10" Megaflange Restrained Flange Adapter
12" Megaflange Restrained Flange Adapter

24Q-254 CNT | Page 32 of 44

EXHIBIT A

24Q-254 CNT | Page 32 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
CC-CM-QKRT-60 Concrete, Quikrete Mix, 60 lb. Bag, 56 per pallet Q1101-60
CC-CM-QKRT-80 Concrete, Quikrete Mix, 80lb bag QUIKRETETEC
CC-HLF-BLCK Concrete, Block, Solid Half, Trailer Pad, by Pallet J865 W838
CC-MH-RNG-2512-2x112 Concrete, Manhole Ring, 2 in w x 1-1/2 in d, for 25-1/2 in MH
CC-MH-RNG-2512-3x112 Concrete, Manhole Ring, 3 in w x 1-1/2 in d, for 25-1/2 in MH
CC-MH-RNG-2512-4x112 Concrete, Manhole Ring, 4 in w x 1-1/2 in d, for 25-1/2 in MH CC-MH-RNG-2512-4x112
CC-RD-BRCK Brick, RD Paving, by Pallet CC-RD-BRCK
CC-THRST-BLCK Concrete, Thrust Block CONTB
CC-VR-24x10 Concrete, Precast, Valve Box Ring, 24 in, 10 in dia hole VPRND2410
CI-MB-LID-13x24-WCIR Mtr Box Lid, Cast Iron, 13 x 24, w/CIR 13244285
CI-MB-LID-17x30-WCIR Mtr Box Lid, Cast Iron, 17 x 30, w/CIR E32131701
CM-PL-PM-BL Pavement Marker, BL Reflector, 4 x 4 in CM-PL-PM-BL
CM-SN-WTR Sampling Station, Water 301W-NL
MS-AH-MRKR-PAD Adhesive, Pvmnt Marker, Pad
MS-AH-MRKR-TUBE Adhesive, Pvmnt Marker, Tube, DAS RS-222-5
MS-AR-50 Asphalt Repair, 50 lb bag, Quikrete
MS-AR-60-PP Asphalt Repair, 60 lb bag, Perma-Patch, 50 per pallet Perma-Patch
MS-FG-BL Flags, Marking, BL, 21 in, Water, 1K/box, price ea. 4521B-200
MS-FG-GR Flags, Marking, GR, 21 in, Sewer, 1K/box, price ea. PWF21G
MS-FG-PL Flags, Marking, PL, 21 in "Effulent", 1K/box PWF21E
MS-LM-SWR Marker, Sewer Line, Green Plastic, w/MCU Decal RPH1-66G w/F1G-5557
MS-LM-WTR Marker, Water Line, Blue Plastic, w/MCU Decal RPH1-66B w/F1G-5558
MS-MH-RSR-34-ROPE Manhole Riser, Butyl Sealant, 3/4 in x 14.5 ft, 8/Rolls Case SP-381512
MS-MH-RSR-38-ROPE Manhole Riser, Butyl Sealant, 3/8 in x 15 ft, 12 Rolls/Case PS-381512
MS-MH-SEAL-12x2312 Manhole Seal, Ramnec, Mastic Strip, 12 in x 23-1/2 in
MS-PT-AS-INV-CNBL Paint, Inv Marking Spray, 17oz, BLUE 203031
MS-PT-AS-INV-FLGR Paint, Inv Marking Spray, 17oz, GREEN 203032
MS-PT-AS-INV-FLOR Paint, Inv Marking Spray, 17oz, ORANGE 203036
MS-PT-AS-INV-FLPL Paint, Inv Marking Spray, 17oz, PURPLE 1869838
MS-PT-AS-INV-FLRD Paint, Inv Marking Spray, 17oz, RED 1862838
MS-PT-AS-INV-WHTE Paint, Inv Marking Spray, 17oz, WHITE 203039
MS-PT-AS-RC-PURP Paint, Safety Purple Enamel, Reclaim Marking V2167838
MS-RX-4LB Root Killer, 4LB Jars, Root X RootX4
MS-RX-LB Root Killer, 2 lbs, Square Jars, Root X, 12 per case RootX2#
MS-TR-CTN-3x1K Tape, Caution, Yellow, 3 in x 1000 ft roll (per roll) 1N956
MS-TR-DCT4 Tape, Duct, 48mm x 50m Roll (per roll) 394
MS-TR-DGR3x1K Tape, Danger, RD, 3 in x 1000 ft roll (per roll) 1N962
MS-TR-EL-BK112 Tape, Electrical, Black, 1-1/2 in
MS-TR-WMLOC-BL Tape, water main locate, 2x1000,blue 67T02W
MS-VF-1x150-OR Tape, Vinyl Flagging, Orange, 1 in x 150ft rolls, per roll Various
MS-VF-1x300-BL Tape, Vinyl Flagging, Blue, 1 in x 300 ft rolls, per roll Various
MS-WIR-LCT-BL Locate Wire, 14ga, UF BL, 500 ft, per ft 9614TWBLUF500
MS-WIR-LCT-BL-10 Locate Wire, 10ga, UF Blue, 500ft, per roll 1030-SF-500
MS-WIR-LCT-GR Locate Wire, 14ga, UF GR, 500 ft, per ft 9614TWGRUF500
MS-WS-48x1x1 Stakes, Wooden Engineering, 1 x 1 x 48 in, 25 per bundle GWS1148
NY-NA-AFR-1 BR PJ Nut Assy, A-F Ring, for NG-F4 FR-D
NY-NA-AFR-112 BR PJ Nut Assy, A-F Ring, for NG-J4 FR-H
NY-NA-AFR-112BC BR PJ Nut Assy, A-F Ring, for NG-JJJ4 FR-T
NY-NA-AFR-1BC BR PJ Nut Assy, A-F Ring, for NG-FF4 FR-E
NY-NA-AFR-2 BR PJ Nut Assy, A-F Ring, for NG-K4 FR-K
NY-NA-AFR-34 BR PJ Nut Assy, A-F Ring, for NG-D4 FR-A-5
PL-ID-2314 Intrusion Domes, 23-1/4 in, Manhole Cover, Inflow Protector Unknown
PL-IN-1 Insert, Plastic, 1 in M090972WH
PL-IN-34 Insert, Plastic, 3/4 in M090970WH
PL-MB-13x24x12-T-LL Mtr Box, Plastic, HD Traffic, 13x24x12, w/o Lid MSBCP132412
PL-MB-17x30x12-T-LL Mtr Box, Plastic, HD Traffic, 17x30x12, w/o Lid MSBCP173012
PL-MB-EXT-6JMB Mtr Box Ext, Plastic, Jumbo, 6 in Riser DFW1500.EXT.BODY
PL-MB-EXT-6SGL Mtr Box Ext, Plastic, Single, 6 in Riser DFW1200.EXT
PL-MB-JMB-DP-SPR Mtr Box, Plastic, Jumbo, Dual Pipe, Solid Plastic Lid w/Rebar (32/Pallet) DFW1600X.12.1E
PL-MB-JMB-SP-WCIR Mtr Box, Plastic, Jumbo, Single Pipe, Plastic Lid w/CI Reader DFW1500SPCIR
PL-MB-LID-HAYES Mtr Box Lid, Plastic, Single Custom, 'Hayes', Local Mfr JBPlastic-CustomLid

Section 9- B9 Miscellaneous

24Q-254 CNT | Page 33 of 44

EXHIBIT A

24Q-254 CNT | Page 33 of 44

DRAFT



PL-MB-LID-JMB-2TC Mtr Box Lid, Plastic, Jumbo, "2 Tang", w/CIR, Carson 45LPR012OUC/00124008
PL-MB-LID-JMB-SPR Mtr Box Lid, Solid Plastic, Jumbo, w/Rebar DFW1500.1E.LID
PL-MB-LID-JMB-T2AMR Mtr Box Lid, Plastic, HD Traffic, Jumbo, w/2 AMR Slots DFW39C-SBSM
PL-MB-LID-SGL-SPR Mtr Box Lid, Solid Plastic, Single, w/Rebar DFW1200.1E.LID
PL-MB-LID-SGL-T1AMR Mtr Box Lid, Plastic, HD Traffic, Single, w/1 AMR Slot DFW36C-SBSM
PL-MB-OC-JMB-CIR Mtr Box, Jumbo, Old Castle, Cast Iron Reader 12201133
PL-MB-OC-SGL-CIR Mtr Box, Single, Old Castle, Cast Iron Reader 10151033
PL-MB-SGL-SPR Mtr Box, Plastic, Single, Solid Plastic Lid w/Rebar (54/Pallet) DFW1300.12.1E
PL-MH-RSR-24x1-1/2 Manhole Riser Ring, 24 in x 1-1/2 in, Plastic 24R150
PL-MH-RSR-24x1-1/4 Manhole Riser Ring, 24 in x 1-1/4 in, Plastic 24R125
PL-MH-RSR-24x2 Manhole Riser Ring, 24 in x 2 in, Plastic 24R200
PL-MH-RSR-24x4 Manhole Riser Ring, 24 in x 4 in, Plastic 24R400
PL-MH-RSR-24xSLP Manhole Riser Ring, Sloping, 24 in x 1-1/2 x 3/4, Plastic L24S150
RB-MG-112-OVL Mtr Gskt, Rubber, Oval, 1-1/2 in 4415RDI
RB-MG-112x116 Mtr Gskt, Rubber, 1-1/2 in dia x 1/16 in thick GH4154
RB-MG-112x18 Mtr Gskt, Rubber, 1-1/2 in dia x 1/8 in thick GH4184
RB-MG-1x116 Mtr Gskt, Rubber, 1 in dia x 1/16 in thick GH4152
RB-MG-1x18 Mtr Gskt, Rubber, 1 in dia x 1/8 in thick GH4182
RB-MG-2-OVL Mtr Gskt, Rubber, Oval, 2 in, Drop In 4197G
RB-MG-2x116 Mtr Gskt, Rubber, 2 in dia x 1/16 in thick GH4185
RB-MG-2x18 Mtr Gskt, Rubber, 2 in dia x 1/8 in thick GH4155
RB-MG-34x116 Mtr Gskt, Rubber, 3/4 in dia x 1/16 in thick GH4151
RB-MG-34x132 Mtr Gskt, Rubber, 3/4 in dia x 1/32 in thick GH4121
RB-MG-34x18 Mtr Gskt, Rubber, 3/4 in dia x 1/8 in thick GH4181
RB-NA-GSKT-1 BR PJ Nut Assy, Bvld Gskt, for NG-F4 GT-5
RB-NA-GSKT-112 BR PJ Nut Assy, Bvld Gskt, for NG-J4 GT-14
RB-NA-GSKT-112BC BR PJ Nut Assy, Bvld Gskt, for NG-JJJ4 GT-28
RB-NA-GSKT-1BC BR PJ Nut Assy, Bvld Gskt, for NG-FF4 GT-7
RB-NA-GSKT-2 BR PJ Nut Assy, Bvld Gskt, for NG-K4 GT-17
RB-NA-GSKT-34 BR PJ Nut Assy, Bvld Gskt, for NG-D4 GT-1-5
ST-MH-CVR-2334x114 Manhole Ring & Cover, 23-3/4 in x 1-1/4 in, w/2 Pick Holes 170E
ST-MH-CVR-2512 Manhole Cover, 25-1/2 in ST-MH-CVR-2512
ST-MH-CVR-2512x112 Manhole Ring & Cover, 25-1/2 in w x 1-1/2 in d, w/2 Pick Holes BLCOVER
ST-MH-RNG-24x612 Manhole Ring, 24 in w x 6-1/2 d, for 24 in cover ST-MH-RNG-24x612
MS-HL-50LBS Hydrated Lime, 50 lb bag 1310-5027659

24" Composite Manhole Ring and Cover
36" Composite Manhole Ring and Cover

24Q-254 CNT | Page 34 of 44

EXHIBIT A

24Q-254 CNT | Page 34 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PV-BU-06SOx04SI-S4 PVC Fitting, Bshng, Slp Rdcr, 6inSOx4inSI, S40 437-532
PV-BU-112MPx1FP-S4 PVC Fitting, Bshng, THD Rdcr, 1-1/2 in MP x 1 in FP, S40 439-211
PV-BU-112MPx34FP-S4 PVC Fitting, Bshng, THD Rdcr, 1-1/2 in MP x 3/4 in FP, S40 439-210
PV-BU-112SIx114SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1-1/2 in SI x 1-1/4 in SO, S40 437-212
PV-BU-112SIx12FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1-1/2 in SI x 1/2 in FP, S40 438-209
PV-BU-112SIx1FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1-1/2 in SI x 1 in FP, S40 438-211
PV-BU-112SIx1SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1-1/2 in SI x 1 in SO, S40 437-211
PV-BU-112SIx34FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1-1/2 in SI x 3/4 in FP, S40 438-210
PV-BU-112SIx34SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1-1/2 in SI x 3/4 in SO, S40 437-210
PV-BU-114SIx1FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1-1/4 in SI x 1 in FP, S40 438-168
PV-BU-114SIx1SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1-1/4 in SI x 1 in SO, S40 437-168
PV-BU-114SIx34FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1-1/4 in SI in x 3/4 in FP, S40 438-167
PV-BU-114SIx34SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1-1/4 in SI x 3/4 in SO, S40 437-167
PV-BU-1MPx34FP-S4 PVC Fitting, Bshng, THD Rdcr, 1 in MP x 3/4 in FP,S40 439-131
PV-BU-1SIx112SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1 in SI x 1-1/2 in SO, S40 437-211
PV-BU-1SIx34FP-S4 PVC Fitting, Bshng, FIP Rdcr, 1 in SI x 3/4 in FP, S40 438-131
PV-BU-1SIx34SO-S4 PVC Fitting, Bshng, SLP Rdcr, 1 in SI x 3/4 in SO, S40 437-131
PV-BU-1SIx34SO-S8 PVC Fitting, Bshng, SLP Rdcr, 1 in SI x 3/4 in SO, S80 837-131
PV-BU-212SIx2SO-S4 PVC Fitting, Bshng, Slp Rdcr, 2-1/2inSIx2inSO, S40 437-292
PV-BU-2SIx112FP-S4 PVC Fitting, Bshng, FIP Rdcr, 2 in SI x 1-1/2 in FP, S40 438-251
PV-BU-2SIx112SO-S4 PVC Fitting, Bshng, SLP Rdcr, 2 in SI x 1-1/2 in SO, S40 437-251
PV-BU-2SIx114SO-S4 PVC Fitting, Bshng, SLP Rdcr, 2 in SI x 1-1/4 in SO, S40 437-250
PV-BU-2SIx12FP-S4 PVC Fitting, Bshng, FIP Rdcr, 2 in SI x 1/2 in FP, S40 438-247
PV-BU-2SIx1FP-S4 PVC Fitting, Bshng, FIP Rdcr, 2 in SI x 1 in FP, S40 438-249
PV-BU-2SIx1FP-S8 PVC Fitting, Bshng, FIP Rdcr, 2 in SI x 1 in FP, S80 838-249
PV-BU-2SIx1SO-S4 PVC Fitting, Bshng, SLP Rdcr, 2 in SI x 1 in SO, S40 437-249
PV-BU-2SIx34FP-S4 PVC Fitting, Bshng, FIP Rdcr, 2 in SI x 3/4 in FP, S40 438-248
PV-BU-2SIx34SO-S4 PVC Fitting, Bshng, SLP Rdcr, 2 in SI x 3/4 in SO, S40 437-248
PV-BU-2Slx114Sl-S80 PVC Fitting, Bshng, Slp Rdcr, 2in Sl x 1-1/4in Sl, S80 837-250
PV-BU-2Slx34FP-S8 PVC Fitting, Bshng, FP Rdcr, 2in Sl x 3/4in FP, S80 838-248
PV-BU-34SIx12FP-S4 PVC Fitting, Bshng, FIP Rdcr, 3/4 in SI x 1/2 in FP, S40 438-101
PV-BU-34SIx12SO-S4 PVC Fitting, Bshng, SLP Rdcr, 3/4 in SI x 1/2 in SO, S40 437-101
PV-BU-3SIx112SO-S4 PVC Fitting, Bshng, SLP Rdcr, 3 in SI x 1-1/2 in SO, S40 437-337
PV-BU-3SIx1SO-S4 PVC Fitting, Bshng, SLP Rdcr, 3 in SI x 1 in SO, S40 437-335
PV-BU-3SIx2SO-S4 PVC Fitting, Bshng, SLP Rdcr, 3 in SI x 2 in SO, S40 437-338
PV-BU-4SIx2SO-S4 PVC Fitting, Bshng, SLP Rdcr, 4 in SI x 2 in SO, S40 437-420
PV-BU-4SIx3SO-S4 PVC Fitting, Bshng, SLP Rdcr, 4 in SI x 3 in SO, S40 437-422
PV-BU-4SIx4SO-S4 PVC Fitting, Bshng, SLP Rdcr, 4 in SI x 6 in SO, S40 437-532
PV-CA-112-S4 PVC Fitting, Cap, 1-1/2 in, S40 447-015
PV-CA-114-S4 PVC Fitting, Cap, 1-1/4 in, S40 447-012
PV-CA-12-S4 PVC Fitting, Cap, 1/2 in, S40 447-005
PV-CA-1-S4 PVC Fitting, Cap, 1 in, S40 447-010
PV-CA-212-S4 PVC Fitting, Cap, 2-1/2in, S40 447-025
PV-CA-2-S4 PVC Fitting, Cap, 2 in, S40 447-020
PV-CA-34-S4 PVC Fitting, Cap, 3/4 in, S40 447-007
PV-CA-4-S4 PVC Fitting, Cap, 4 in, S40 447-040
PV-CA-6-S4 PVC Fitting, Cap, 6 in, S40 447-060
PV-CP-112-S4 PVC Fitting, Cplng, 1-1/2 in, S40 429-015
PV-CP-114-S4 PVC Fitting, Cplng, 1-1/4 in, S40 429-012

Section 10-P1 PVC Fittings

24Q-254 CNT | Page 35 of 44

EXHIBIT A

24Q-254 CNT | Page 35 of 44

DRAFT



PV-CP-12-S4 PVC Fitting, Cplng, 1/2 in, S40 429-005
PV-CP-1-S4 PVC Fitting, Cplng, 1 in, S40 429-010
PV-CP-212-S4 PVC Fitting, Coupling, 2-1/2in, S40 425-025
PV-CP-2-S4 PVC Fitting, Cplng, 2 in, S40 429-020
PV-CP-2-S8 PVC Fitting, Cplng, 2 in, S80 829-020
PV-CP-34-L-S4 PVC Fitting, Cplng, 3/4 in, S40, Long 479-007
PV-CP-3-S4 PVC Fitting, Cplng, 3 in, S40 429-030
PV-CP-RDC-34x12-S4 PVC Fitting, Cplng, Reduction, 3/4 in SO x 1/2 in SO, S40 429-101
PV-CR-3-S4 PVC Fitting, Cross, 3 in, S40, Slip 420-030
PV-CR-4-S4 PVC Fitting, Cross, 4 in, S40, Slip 420-040
PV-EL-22-112-S4 PVC Fitting, EL, 22-1/2, 1-1/2 in, S40 416-015
PV-EL-22-114-S4 PVC Fitting, EL, 22-1/2, 1-1/4 in, S40 416-012
PV-EL-22-12-S4 PVC Fitting, EL, 22-1/2,  1/2 in, S40 416-005
PV-EL-22-1-S4 PVC Fitting, EL, 22-1/2, 1 in, S40 416-010
PV-EL-22-2-S4 PVC Fitting, EL, 22-1/2, 2 in, S40 416-020
PV-EL-22-34-S4 PVC Fitting, EL, 22-1/2,  3/4 in, S40 416-007
PV-EL-22-3-S4 PVC Fitting, EL, 22-1/2, 3 in, S40 416-030
PV-EL-45-112-S4 PVC Fitting, EL, 45, 1-1/2 in, S40 417-015
PV-EL-45-114-S4 PVC Fitting, EL, 45, 1-1/4 in, S40 417-012
PV-EL-45-12-S4 PVC Fitting, EL, 45, 1/2 in, S40 417-005
PV-EL-45-1-S4 PVC Fitting, EL, 45, 1 in, S40 417-010
PV-EL-45-2-S4 PVC Fitting, EL, 45, 2 in, S40 417-020
PV-EL-45-34-S4 PVC Fitting, EL, 45, 3/4 in, S40 417-007
PV-EL-45-3-S4 PVC Fitting, EL, 45, 3 in, S40 417-030
PV-EL-45-4-S4 PVC Fitting, EL, 45, 4 in, S40 417-040
PV-EL-90-112-S4 PVC Fitting, EL, 90, 1-1/2 in, S40 406-015
PV-EL-90-114-S4 PVC Fitting, EL, 90, 1-1/4 in, S40 40-012
PV-EL-90-12-S4 PVC Fitting, EL, 90, 1/2 in, S40 406-005
PV-EL-90-1-S4 PVC Fitting, EL, 90, 1 in, S40 406-010
PV-EL-90-212-S8 PVC Fitting, EL, 90, 2-1/2in, S80 806-025
PV-EL-90-2-S4 PVC Fitting, EL, 90, 2 in, S40 406-020
PV-EL-90-2-S8 PVC Fitting, EL, 90, 2in, S80 806-020
PV-EL-90-34-S4 PVC Fitting, EL, 90, 3/4 in, S40 406-007
PV-EL-90-3-S4 PVC Fitting, EL, 90, 3 in, S40 406-030
PV-FA-112-S8 PVC Fitting, Adptr, F,  1-1/2 in, S80 835-015
PV-FA-112-S8-SR PVC Fitting, Adptr, F,  1-1/2 in, S80, Banded 835-015SR
PV-FA-114-S8 PVC Fitting, Adptr, F,  1-1/4 in, S80 835-012
PV-FA-114-S8-SR PVC Fitting, Adptr, F,  1-1/4 in, S80, Banded 835-012SR
PV-FA-12-S4 PVC Fitting, Adptr, F,  1/2 in, S40 435-005
PV-FA-1-S8 PVC Fitting, Adptr, F,  1 in, S80 835-010
PV-FA-1-S8-SR PVC Fitting, Adptr, F,  1 in, S80, Banded 835-010SR
PV-FA-2-S8-SR PVC Fitting, Adptr, F,  2 in, S80, Banded 835-020SR
PV-FA-34-S4 PVC Fitting, Adptr, F,  3/4 in, S40 435-007
PV-FA-34-S8 PVC Fitting, Adptr, F,  3/4 in, S80 835-007
PV-FA-34-S8-SR PVC Fitting, Adptr, F,  3/4 in, S80, Banded 835-007SR
PV-FA-3-S4 PVC Fitting, Adptr, F,  3 in, S40 435-030
PV-FA-4-S4 PVC Fitting, Adptr, F,  4 in, S40 435-040
PV-MA-112-S4 PVC Fitting, Adptr, M, 1-1/2 in, S40 436-015
PV-MA-112-S8 PVC Fitting, Adptr, M, 1-1/2 in, S80 836-015
PV-MA-114-S8 PVC Fitting, Adptr, M, 1-1/4 in, S80 836-012
PV-MA-12-S4 PVC Fitting, Adptr, M, 1/2 in, S40 436-005

24Q-254 CNT | Page 36 of 44

EXHIBIT A

24Q-254 CNT | Page 36 of 44

DRAFT



PV-MA-1-S4 PVC Fitting, Adptr, M, 1 in, S40 436-010
PV-MA-1-S8 PVC Fitting, Adptr, M, 1 in, S80 836-010
PV-MA-2-S4 PVC Fitting, Adptr, M, 2 in, S40 436-020
PV-MA-2-S8 PVC Fitting, Adptr, M, 2 in, S80 836-020
PV-MA-34-S4 PVC Fitting, Adptr, M, 3/4 in, S40 436-007
PV-MA-34-S8 PVC Fitting, Adptr, M, 3/4 in, S80 836-007
PV-MA-3-S4 PVC Fitting, Adptr, M, 3 in, S40 436-030
PV-MA-4-S4 PVC Fitting, Adptr, M, 4 in, S40 436-040
PV-PL-112-S4 PVC Fitting, Plg, SI, 1-1/2 in, S40 449-015
PV-PL-114-S4 PVC Fitting, Plg, SI, 1-1/4 in, S40 449-012
PV-PL-12-S4 PVC Fitting, Plg, SI,  1/2 in, S40 449-005
PV-PL-1-S4 PVC Fitting, Plg, SI, 1 in, S40 449-010
PV-PL-2-S4 PVC Fitting, Plg, SI, 2 in, S40 449-020
PV-PL-34-S4 PVC Fitting, Plg, SI,  3/4 in, S40 449-007
PV-RA-114MPx1SO-S4 PVC Fitting, Adptr, M Red, 1-1/4 in MP x 1 in SO, S40 436-168
PV-RA-1MPx112SO-S4 PVC Fitting, Adptr, M Red, 1 in MP x 1-1/2 in SO, S40 436-133
PV-RA-1MPx114SO-S4 PVC Fitting, Adptr, M Red, 1 in MP x 1-1/4 in SO, S40 436-132
PV-RA-1MPx34SO-S4 PVC Fitting, Adptr, M Red, 1 in MP x 3/4 in SO, S40 436-131
PV-RA-34FPx1SO-S8-SR PVC Fitting, Adptr, F Red,  3/4 in FP x 1 in SO, S80, Banded 835-131SR
PV-RA-34MPx12SO-S4 PVC Fitting, Adptr, M Red,  3/4 in MP x 1/2 in SO, S40 436-101
PV-RA-34MPx1SO-S4 PVC Fitting, Adptr, M Red,  3/4 in MP x 1 in SO, S40 436-102
PV-RA-34MPx1SO-S8 PVC Fitting, Adptr, M Red,  3/4 in MP x 1 in SO, S80 836-102
PV-TE-112-S4 PVC Fitting, T, 1-1/2 in, S40 401-015
PV-TE-114-S4 PVC Fitting, T, 1-1/4 in, S40 401-012
PV-TE-12-S4 PVC Fitting, T, 1/2 in, S40 401-005
PV-TE-1-S4 PVC Fitting, T, 1 in, S40 401-010
PV-TE-212-S4 PVC Fitting, T, 2-1/2in, S40 401-025
PV-TE-2-S4 PVC Fitting, T, 2 in, S40 401-020
PV-TE-2-S8 PVC Fitting, T, 2 in, S80 801-020
PV-TE-2x2FPx2-S8 PVC Fitting, T, 2 in x 2 in FP x 2 in, S80 802-020
PV-TE-34-S4 PVC Fitting, T, 3/4 in, S40 401-007
PV-TE-3-S4 PVC Fitting, T, 3 in, S40 401-030
CV-TB-1CPVCx1PVC CPVC Fitting, Transition Bshng, 1 in CPVC x 1 in PVC CPIPSCGG
CV-TB-34CPVCx34PVC CPVC Fitting, Transition Bshng, 3/4 in CPVC x 3/4 in PVC CPIPSBFF
CV-TC-1CPVCx1PVC CPVC Fitting, Transition Cplng, 1 in CPVC x 1 in PVC CPACGG
CV-TC-34CPVCx34PVC CPVC Fitting, Transition Cplng,  3/4 in CPVC x 3/4 in PVC CPACFF

24Q-254 CNT | Page 37 of 44

EXHIBIT A

24Q-254 CNT | Page 37 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PV-CA-4-S35 PVC Fitting, Sewer, Cap, 4 in, SDR35 414264BC
PV-CO-3-HB-S35 PVC Fitting, Sewer, Clnout, Thrd Hub, 3 in, SDR35 MUL040948
PV-CO-3-TP-F-S35 PVC Fitting, Sewer, Clnout, Thrd Plug, Flush, 3 in, SDR35 PSRTPM
PV-CO-3-TP-R-S35 PVC Fitting, Sewer, Clnout, Thrd Plug, Raised, 3 in, SDR35 MUL040423
PV-CO-4-2WT-HB-S35 PVC Fitting, Sewer, Clnout, 2-Way T, 4 in, SDR35, Hub MUL040350
PV-CO-4-HB-DWV PVC Fitting, DWV, Clnout, Thrd Hub, 4 in, DWV, Hub P105H-040
PV-CO-4-HB-S35 PVC Fitting, Sewer, Clnout, Thrd Hub, 4 in, SDR35 MUL040949
PV-CO-4-TP-F-S35 PVC Fitting, Sewer, Clnout, Thrd Plug, Flush, 4 in, SDR35 PSRTPP
PV-CO-4-TP-R-S35 PVC Fitting, Sewer, Clnout, Thrd Plug, Raised, 4 in, SDR35 MUL040424
PV-CO-6-HB-S35 PVC Fitting, Sewer, Clnout, Thrd Hub, 6 in, SDR35 MUL040952
PV-CO-6-TP-F-S35 PVC Fitting, Sewer, Clnout, Thrd Plug, Flush, 6 in, SDR35 MUL040958
PV-CO-8-HB-S35 PVC Fitting, Sewer, Clnout, Thrd Hub, 8in, SDR35 MUL040945
PV-CO-8-TP-F-S35 PVC Fitting, Sewer, Clnout, Thrd Plg, Flush, 8in, SDR35 MUL040044
PV-CP-1-S8 PVC Fitting, Cplng, 1 in, S80 829-010
PV-CP-3-HB-S35 PVC Fitting, Sewer, Cplng, 3 in, SDR35, Hub 040602
PV-CP-4-HB-S35 PVC Fitting, Sewer, Cplng, 4 in, SDR35, Hub MUL040604
PV-CP-4-S4 PVC Fitting, Cplng, 4 in, S40 429-040
PV-CP-6-HB-S35 PVC Fitting, Sewer, Cplng, 6 in, SDR35 040606
PV-CP-8-S35-GSKT PVC Fitting, Sewer, Cplng, 8 in, SDR35, Gasketed 04083514
PV-CR-4-HB-S35 PVC Fitting, Sewer, Cross, 4 in, SDR35, Hub 040976
PV-EL-22-3-HB-S35 PVC Fitting, Sewer, EL, 22-1/2, 3 in, SDR35, Hub PSS2M
PV-EL-22-4-HB-S35 PVC Fitting, Sewer, EL, 22-1/2, 4 in, SDR35, Hub 040964
PV-EL-22-6-HB-S35 PVC Fitting, Sewer, EL, 22-1/2, 6 in, SDR35, Hub
PV-EL-45-3-HB-S35 PVC Fitting, Sewer, EL, 45, 3 in, SDR35, Hub 040502
PV-EL-45-4-HB-S35 PVC Fitting, Sewer, EL, 45, 4 in, SDR35, Hub 040504
PV-EL-45-6-HB-S35 PVC Fitting, Sewer, EL, 45, 6 in, SDR35, Hub 040506
PV-EL-90-3-HB-S35 PVC Fitting, Sewer, EL, 90, 3 in, SDR35, Hub 040377
PV-EL-90-3-HB-S35-L PVC Fitting, Sewer, EL, 90, 3 in, SDR35, Hub, Long 040255
PV-EL-90-4-HB-S35 PVC Fitting, Sewer, EL, 90, 4 in, SDR35, Hub 040256
PV-EL-90-4-HB-S35-L PVC Fitting, Sewer, EL, 90, 4 in, SDR35, Hub, Long 040214
PV-EL-90-4-S4 PVC Fitting, EL, 90, 4 in, S40 406-040
PV-EL-90-6-HB-S35-L PVC Fitting, Sewer, EL, 90, 6 in, SDR35, Hub, Long 040280
PV-FA-1-S4 PVC Fitting, Adptr, F,  1 in, S40 435-010
PV-FA-2-S8 PVC Fitting, Adptr, F,  2 in, S80 835-020
PV-ST-3-HB-S35 PVC Fitting, Sewer, Sanitary T, 3 in, SDR35, Hub 040155
PV-ST-4-HB-S35 PVC Fitting, Sewer, Sanitary T, 4 in, SDR35, Hub PSSTYP / 4SSWTWH
PV-SY-3-HB-S35 PVC Fitting, Sewer, Y, 3 in, SDR35, Hub 040302
PV-SY-4-HB-S35 PVC Fitting, Sewer, Y, 4 in, SDR35, Hub 040304
PV-TE-4-HB-S35 PVC Fitting, Sewer, T, 4 in, SDR35, Hub 040104
PV-TE-6-HB-S35 PVC Fitting, Sewer, T, 6 in, SDR35, Hub 040106
PV-TE-6x6x4-HB-S35 PVC Fitting, Sewer, Reducing T, 6 x 6 x 4 in, SDR35, Hub 040158
PV-YD-4-HB-DWV PVC Fitting, DWV, Y, Dbl, 4 in, DWV, Hub P611-040
PV-YD-6x4-HB-S35 PVC Fitting, Sewer, Y, Dbl, 6 in x 4 in, SDR35, Hub 040172
PV-YY-6x4-HB-S35 PVC Fitting, Sewer, Y, 6 in x 4 in, SDR35, Hub MUL040307

Section 11- P2 SDR 35 & Sewer

24Q-254 CNT | Page 38 of 44

EXHIBIT A

24Q-254 CNT | Page 38 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PV-WP-0112-S4 PVC Pipe, Water,  1-1/2 in, S40, 20 ft Sticks P40BEPJ20
PV-WP-0112-S8 PVC Pipe, Water,  1-1/2 in, S80, 20 ft Sticks P80BJ
PV-WP-0114-S4 PVC Pipe, Water,  1-1/4 in, S40, 20 ft Sticks P40BEPH20
PV-WP-01-S4 PVC Pipe, Water,  1 in, S40, 20 ft Sticks P40BEPG20
PV-WP-01-S8 PVC Pipe, Water,  1 in, S80, 20 ft sticks P80BG
PV-WP-0212-S4 PVC Pipe, Water,  2-1/2 in, S40, 20 ft Sticks,  price per ft P40BEPL20
PV-WP-0212-S8 PVC Pipe, Water,  2-1/2 in, S80, 20 ft Sticks P80BL20
PV-WP-02-S4 PVC Pipe, Water,  2 in, S40, 20 ft Sticks, price per ft P40BEPK20
PV-WP-02-S8 PVC Pipe, Water,  2 in, S80, 20 ft Sticks P80BK
PV-WP-034-S4 PVC Pipe, Water,  3/4 in, S40, 20 ft Sticks P40BEPF20
PV-WP-034-S8 PVC Pipe, Water,  3/4 in, S80, 20 ft Sticks P80BF
PV-WP-03-S4 PVC Pipe, Water,  3 in, S40, 20 ft Sticks P40BEPM20
PV-WP-03-S8 PVC Pipe, Water,  3 in, S80, 20 ft Sticks P80BM
PV-WP-12-S8 PVC Pipe, Water,  1/2 in, S80, 20 ft sticks, price per ft P80BD20
PV-WP-04-DR18-C9BE PVC Pipe, Water,  4 in, DR18, C900, Bell End, 20 ft Sticks DR18BPP
PV-WP-04-DR25-C9 PVC Pipe, Water,  4 in, DR25, C900, 20 ft Sticks DR25BPP
PV-WP-04-S4 PVC Pipe, Water,  4 in, S40, 20 ft Sticks P40BEPP20
PV-WP-06-DR18-C9BE PVC Pipe, Water,  6 in, DR18, C900, Bell End, 20 ft Sticks DR18BPU
PV-WP-06-DR25-C9 PVC Pipe, Water,  6 in, DR25, C900, 20 ft Sticks DR25BPU
PV-WP-06-S4 PVC Pipe, Water,  6 in, S40, 20 ft Sticks P40BEPU20
PV-WP-08-DR18-C9BE PVC Pipe, Water,  8 in, DR18, C900, Bell End, 20 ft Sticks DR18BPX / 020818G
PV-WP-08-DR25-C9 PVC Pipe, Water,  8 in, DR25, C900, 20 ft Sticks DR25BPX
PV-WP-08-S4 PVC Pipe, Water,  8 in, S40, 20 ft Sticks P40BEPX20
PV-WP-10-DR18-C9BE PVC Pipe, Water, 10 in, DR18, C900, Bell End, 20 ft Sticks DR18BP10
PV-WP-10-DR25-C9 PVC Pipe, Water, 10 in, DR25, C900, 20 ft Sticks DR25BP10
PV-WP-12-DR18-C9BE PVC Pipe, Water, 12 in, DR18, C900, Bell End, 20 ft Sticks DR18BP12
PV-WP-12-DR25-C9 PVC Pipe, Water, 12 in, DR25, C900, 20 ft Sticks DR25BP12
PV-WP-12-S4 PVC Pipe, Water,  1/2 in, S40, 20 ft Sticks P40BEPD20
PV-WP-12-SDR21-C2BE PVC Pipe, Water, 12 in, DR21, C200, Bell End, 20 ft sticks SDR21BP12
PV-WP-16-DR18-C9BE PVC Pipe, Water, 16 in, DR18, C900, Bell End, 20 ft Sticks DR18BP12

Section 12- P4  Water Pipe

24Q-254 CNT | Page 39 of 44

EXHIBIT A

24Q-254 CNT | Page 39 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PV-SP-04-DR18-FM PVC Pipe, Sewer,  4 in, DR18, Force main, 20 ft Sticks DR18GPP
PV-SP-04-DR25-FM PVC Pipe, Sewer,  4 in, DR25, Force Main, 20 ft Sticks DR25GPP
PV-SP-04-S26-14 PVC Pipe, Sewer,  4 in, SDR26, Gravity, 14 ft Sticks SDR26HWSPP14
PV-SP-04-S35-14 PVC Pipe, Sewer,  4 in, SDR35, 14 ft Sticks SDR35PP14
PV-SP-06-DR18-FM-20 PVC Pipe, Sewer,  6 in, DR18, C900, Force Main, 20 ft Sticks DR18GPU
PV-SP-06-DR25-FM-20 PVC Pipe, Sewer,  6 in, DR25, C900, Force Main, 20 ft Sticks DR25GPU
PV-SP-06-S26-GR-14 PVC Pipe, Sewer,  6 in, SDR26, Gravity, 14 ft Sticks SDR26HWSPU14
PV-SP-06-S35-14 PVC Pipe, Sewer,  6 in, SDR35, 14 ft Sticks SDR35PU14
PV-SP-08-DR18-FM-20 PVC Pipe, Sewer,  8 in, DR18, C900, Force main, 20 ft Sticks DR18GPX
PV-SP-08-DR25-FM-20 PVC Pipe, Sewer,  8 in, DR25, Force Main, 20 ft Sticks DR25GPX
PV-SP-08-S35-14 PVC Pipe, Sewer,  8 in, SDR35, 14 ft Sticks SDR35PX14
PV-SP-10-DR18-FM-20 PVC Pipe, Sewer, 10 in, DR18, Force Main, 20 ft Sticks DR18GP10
PV-SP-10-DR25-FM-20 PVC Pipe, Sewer, 10 in, DR25, Force Main, 20 ft Sticks DR25GP10
PV-SP-10-S26-GR-14 PVC Pipe, Sewer, 10 in, SDR26, Gravity, 14 ft Sticks SDR26HWSP1014
PV-SP-10-S35-14 PVC Pipe, Sewer, 10 in, SDR35, 14 ft Sticks SDR35P1014
PV-SP-12-DR18-FM-20 PVC Pipe, Sewer, 12 in, DR18, C900, Force Main, 20 ft Sticks DR18GP12
PV-SP-12-DR25-FM-20 PVC Pipe, Sewer, 12 in, DR25, Force Main, 20 ft Sticks SDR25GP12
PV-SP-12-S26-GR-14 PVC Pipe, Sewer, 12 in, SDR26, Gravity, 14 ft Sticks SDR26HWSP1214
PV-SP-12-S35-14 PVC Pipe, Sewer, 12 in, SDR35, 14 ft Sticks SDR35P1214
PV-SP-24-DR18-FM-20 PVC Pipe, Sewer, 24 in, DR18, Force Main, 20 ft Sticks 022418G

Section 13- P6 Sewer Pipe

24Q-254 CNT | Page 40 of 44

EXHIBIT A

24Q-254 CNT | Page 40 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PY-TU-112-BL Poly Tubing, SDR9, HDPE, BL, 1-1/2 in, price per ft PEC9BJ100
PY-TU-114-BL Poly Tubing, SDR9, HDPE, BL, 1-1/4 in, price per ft PEC9BH100
PY-TU-1-BL Poly Tubing, SDR9, HDPE, BL, 1 in, price per ft PEC9BG100 / 0910E200C1B
PY-TU-2-BL Poly Tubing, SDR9, HDPE, BL, 2 in, price per ft PEC9BK100
PY-TU-2-GR Poly Tubing, SDR9, HDPE, GR, 2 in, price per ft
PY-TU-34-BL Poly Tubing, SDR9, HDPE, BL,  3/4 in, price per ft PEC9BF100

Section 14- P7 Poly Tubing

24Q-254 CNT | Page 41 of 44

EXHIBIT A

24Q-254 CNT | Page 41 of 44

DRAFT



MCU Inventory Control Number Description Mfr Part No.
PV-FC-03-P2P Flex Cplng, PVC to PVC,  3 in F1056-33
PV-FC-03x04-P2P Flex Cplng, PVC to PVC,  4 x 3 in F105643
PV-FC-04-C2C Flex Cplng, Clay to Clay,  4 in F1001-44
PV-FC-04-C2P Flex Cplng, Clay to PVC,  4 in F1002-44
PV-FC-04-P2P Flex Cplng, PVC to PVC,  4 in F1056-44
PV-FC-06-C2P Flex Cplng, Clay to PVC,  6 in F1002-66
PV-FC-06-P2P Flex Cplng, PVC to PVC,  6 in F1056-66
PV-FC-06x04-C2C Flex Cplng, Clay to Clay,  6 x 4 in F100164
PV-FC-06x04-C2P Flex Cplng, Clay to PVC,  6 x 4 in F1002-64
PV-FC-06x04-P2P Flex Cplng, PVC to PVC,  6 x 4 in F1056-64
PV-FC-08-C2P Flex Cplng, Clay to PVC,  8 in F1002-88
PV-FC-08-P2P Flex Cplng, PVC to PVC,  8 in F1056-88
PV-FC-10-P2P Flex Cplng, PVC to PVC, 10 in F1056-1010
PV-FC-T-4 Flex Cplng, Tee Saddle, 4 in FTST-4
PV-FC-Y-04S Flex Cplng, Sewer Wye Saddle, 4 in FTSW4

Section 15- P8 Flex Couplings

24Q-254 CNT | Page 42 of 44

EXHIBIT A

24Q-254 CNT | Page 42 of 44

DRAFT



Size Description
4" HDPE Pipe Water, 40' sticks
6" HDPE Pipe Water, 40' sticks
8" HDPE Pipe Water, 40' sticks
10" HDPE Pipe Water, 40' sticks
12" HDPE Pipe Water, 40' sticks
14" HDPE Pipe Water, 40' sticks
16" HDPE Pipe Water, 40' sticks
24" HDPE Pipe Water, 40' sticks
4" HDPE Adapter Coupling w/hardware
6" HDPE Adapter Coupling w/hardware
8" HDPE Adapter Coupling w/hardware
10" HDPE Adapter Coupling w/hardware
12" HDPE Adapter Coupling w/hardware
14" HDPE Adapter Coupling w/hardware
16" HDPE Adapter Coupling w/hardware
24" HDPE Adapter Coupling w/hardware

Section 16- P9 HDPE Pipe & Fittings

24Q-254 CNT | Page 43 of 44

EXHIBIT A

24Q-254 CNT | Page 43 of 44

DRAFT



MCU Inventory Control Number Description Manufactuer Part No.
SS-BU-14FPx1MP-316 SS Bshng, 1/4in FP X 1in MP , 316SS 311B02S
SS-BU-2MPx1FP-316 SS Bshng, 2 in MP x 1 in FP, 316SS 3120B10S
SS-BV-14x14-FP-N-316 SS Ball Valve, 1/4 in x 1/4 in FP, 316SS, Non-Locking TBD
SS-BV-1x1-FP-L-316 SS Ball Valve, 1 in x 1 in FP, 316SS, Locking 1510B7610501
SS-BV-1x1-FP-N-316 SS Ball Valve, 1 in x 1 in FP, 316SS, Non-Locking 3410BVS316SS
SS-BV-2x2-FP-L-316 SS Ball Valve, 2 in x 2 in FP, 316SS, Locking 3420BVS316
SS-BV-2x2-FP-N-316 SS Ball Valve, 2 in x 2 in FP, 316SS, Non-Locking 3420BVSS316SS
SS-CP-2-F-316SS SS Coupling, 2in, Female, 316SS
SS-EL-90-2-316 SS Elbow, EL, 90°, 2 in, 316SS 31209S
SS-NP-14x1L-316 SS Nipple, 1/4 in, 1 in L, 316SS 3104N020S
SS-NP-14x3L-316 SS Nipple, 1/4 in, 3 in L, 316SS 3104N040S
SS-NP-1x3L-316 SS Nipple, 1 in, 3 in L, 316SS 3110N030S
SS-NP-1x4L-316 SS Nipple, 1in, 4in L, 316SS
SS-NP-1x5L-316 SS Nipple, 1 in, 5 in L, 316SS 3110N050S
SS-NP-1xCL-316 SS Nipple, 1 in, Close, 316SS
SS-NP-2x12L-316SS SS Nipple, 2in, 12in L, 316SS
SS-NP-2x24L-316SS SS Nipple, 2in, 24in L, 316SS
SS-NP-2x36L-316 SS Nipple, 2 in, 36 in L, 316SS 3120N360S
SS-NP-2x4L-316 SS Nipple, 2 in, 4 in L, 316SS 3120N040S
SS-NP-2x5L-316 SS Nipple, 2 in, 5 in L, 316SS 3120N050S
SS-NP-2x6L-316 SS Nipple, 2 in, 6 in L, 316SS
SS-NP-2xCL-316 SS Nipple, 2 in, Close, 316SS 3120NCLS
SS-PG-LF0100-212-14B Press Gauge, Liquid Filled, 0-100psi, 2-1/2 in, 1/4 NPT Bottom, 316SS 94GLBB1004
SS-PG-LF0100-212-14R Press Gauge, Liquid Filled, 0-100psi, 2-1/2in, 1/4 NPT Rear, 316SS GLBR100
SS-PG-LF015-212-14R SS Press Gauge, Liquid Filled, 0-15psi, 2-1/2 in, 1/4 NPT Rear, 316SS Case 94G2515L
SS-PG-LF060-212-14R SS Press Gauge, Liquid Filled, 0-60psi, 2-1/2 in, 1/4 NPT Rear, 316SS 1009SWL 0-60
SS-PG-LF160-212-14R SS Pressure Gauge, Liquid Filled, 0-160 PSI, 2-1/2IN, 1/4 NPT Rear, 316SS 1009SWL 0-160
SS-TE-14-FP-316 SS Tee,  1/4 in x 1/4 in x 1/4 in FP, 316SS 3140T10S
SS-TE-1x1x1-FP-316 SS Tee, 1 in x 1 in x 1 in FP, 316SS 3110T10S
SS-TE-2x2x2-FP-316 SS Tee, 2 in x 2 in x 2 in FP, 316SS 3120T20S

Section 17- L1 Lift Stations

24Q-254 CNT | Page 44 of 44

EXHIBIT A

24Q-254 CNT | Page 44 of 44

DRAFT


	AGREEMENT BETWEEN COUNTY AND SUPPLIER



